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Q-1 Select the option that is embedded in the given figure (X) (Rotation is NOT allowed).

(X)

Ans

<L

X 2.

X 4.

> D BRI B

Question ID : 65497839553

Status : Answered

Chosen Option : 3




Q.2 In a certain code language, FORK is written as JKVG and COARSE is written as
GKENWA. How will TERMITES be written in that language?

Ans X 1. XAVIMXAO
& 2. XAVIMPIO
25 3. PIVIMPIW

X 4. YANIMPIO

Question ID : 65497839639
Status : Answered
Chosen Option : 2

Q.3 Select the number from among the given options that can replace the question mark
(?) in the following series.

31, 35, 51, 87, 151, ?, 395
Ans & 1.251

< 2,262

< 3.187
X 4.215

Question ID : 65497839548
Status : Answered
Chosen Option : 1

Q.4 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

PUZKR : TPFDZ :: KRTOD : ?
Ans X 1. PNZHL

/5 2. OMYIL
X 3. OMZHM

& 4. OMZHL

Question ID : 65497839531
Status : Answered
Chosen Option : 4

Q.5 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

b_c_d_kb__a_ekbb_ad_k
Ans X l.baebcdec
X 2.beabcdce
" 3. baebcdce
/M 4.baedcdck

Question ID : 65497839543

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.6 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

. Letter

. Lexicon

. Latitude
. Leverage
. Lovable
Levy

. Latent

Ans X 1.7,3,1,6,4,2,5

NouAwNE

X 2.7,31,26,45
K 3.7,3,1,4,2,6,5

o 4.7,31,4,6,2,5

Question ID : 65497839635
Status : Marked For Review
Chosen Option : 4

Q.7 In a certain code language, SICK is coded as 168 and TAR is coded as 117. How will
NOMAD be coded in that language?

Ans  F 1.235
< 2.290
< 3.245

& 4.321

Question ID : 65497839540
Status : Not Answered
Chosen Option : --

Q.8 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Pulmonologists : Lungs :: Nephrologists : ?
Ans X 1. Testes
25 2. Liver
" 3. Kidneys
/< 4. Bones

Question ID : 65497839637
Status : Answered
Chosen Option : 3

Q.9 In a certain code language, 'BROTHER' is written as CSQUIGS and '"MAGIC’ is written
as NCHKD. How will 'SWEATING' be written in that language?

Ans X 1. TYGCVKOH
/5 2. TXGBUKOI
/5 3. TXFCUJOH

" 4. TXGCUKOH

Question ID : 65497839436
Status : Answered
Chosen Option : 2




Q.10 In a certain code language, FROLIC is written as ROLIFC and LOBSTER is written as
TSROLEB. How will MANGROVE be written in that language?

Ans X 1. RVNOMGEA
< 2. VORMNGEA
/< 3. VRONGMEA

" 4. VRONMGEA

Question ID : 65497839536
Status : Not Answered
Chosen Option : --

- ——-—>———mee——

Q.11 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some handkerchiefs are plastics.
All clothes are handkerchiefs.

All utensils are clothes.

Conclusions:

I. Some plastics are handkerchiefs.
II. All utensils are plastics.

Ill. Some handkerchiefs are utensils.

Ans 4 1. Only Conclusions | and IlI
follow.

#< 2. Only Conclusion | follows.

/< 3. Only Conclusions Il and Il follow.

< 4. Only Conclusions | and Il follow.

Question ID : 65497839444
Status : Marked For Review
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Q.12 In a certain code language, ROCKET is coded as 184311220 and PLUNGE is coded as
161251472. How will TANGLE be coded in that language?

Ans X 1.201648122

X 2.201147125
W 3.201147122
X 4.201137122

Question ID : 65497839541
Status : Answered
Chosen Option : 2




Q.13 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Professor : Education : : Soldier : ?
Ans 25 1. Country
" 2. Defence
/< 3. Patriotism

25 4. Uniform

Question ID : 65497839534
Status : Answered
Chosen Option : 2

Q.14 In a family, N's wife H is the only daughter of G. D and R are brothers. J's father is
married to P's daughter. V's only sister G is married to P. R is the son of P. Which of
the following statements is correct?

Ans X 1.Visthe paternal aunt of H.
/X 2. Gis the father of N.
& 3. P is the maternal grandfather of J.

/< 4. Dis the son of N.

Question ID : 65497839545
Status : Not Answered
Chosen Option : --

Q.15 Select the correct option that indicates the arrangement of the given words in a logical
and meaningful order.

1. Tiger

2. Dog

3. Ant

4. Elephant
5. Sparrow
6. Centipede

Ans X 1.3,2,5/6,1,4
< 2365124
«3.3,65,21,4
< 4.3,45,26,1

Question ID : 65497839532
Status : Answered
Chosen Option : 3

Q.16 Select the option that is related to the third term in the same way as the second term is
related to the first term.

DANIEL : NLIEDA :: BROTHER : ?
Ans X 1. TORRHEB

/5 2. TQOOHEB

" 3. TRROHEB

/< 4. TRROEHB

Question ID : 65497839742
Status : Not Answered
Chosen Option : --
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Q.17 Select the figure from among the given options that can replace the question mark (?) in the following series.

Question ID : 65497839449
Status : Answered
Chosen Option : 4

Q.18 Three different positions of the same dice are shown, the six faces of which are numbered from | to 6. Select the
number that will be on the face opposite to the one having ‘1°.

=

Question ID : 65497839654
Status : Answered
Chosen Option : 2




Q.19 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some dolls are rockets.
Some rockets are engines.
All engines are solids.

Conclusions:

I. No doll is solid.

II. No solid is an engine.
Ill. Some dolls are solid.
IV. No engine is arocket.

Ans 25 1. Only conclusions Il and IV follow.
< 2. Either conclusion Il or Il follows.
< 3. Only conclusions | and Il follow.

«" 4. Either conclusion | or Il follows.

Question ID : 65497839547
Status : Answered
Chosen Option : 4

Q.20 Select the correct combination of mathematical signs that can sequentially replace the
*signs and balance the given equation.

54*27*9*18*36* 72
Ans o 1+ = x - =

Question ID : 65497839550
Status : Answered
Chosen Option : 1

Q.21 In acertain code language, 'DIVINE' is coded as 63 and ‘FEAST’ is coded as 51. How
will 'MEAGRE' be coded in that language?

Ans X 1.57
o 2.49
/K< 3.45
X 4.51

Question ID : 65497839437
Status : Answered
Chosen Option : 2




Q.22 Pointing towards a girl, Vishakha said, “She is my brother’s wife’s mother-in-law’s
son’s daughter.” How is that girl’s father related to Vishakha?

Ans X 1. Husband
«¥ 2. Brother
/< 3. Father

< 4. Nephew

Question ID : 65497839735
Status : Answered
Chosen Option : 2

Q.23 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

G__DO_KN_OGK_D_GK__O
Ans X 1.LKNDGNOND

X 2KNGNDOND

/KX 3KNGDNOGD

" 4. KNGDNOND

Question ID : 65497839440
Status : Not Answered
Chosen Option : --

Q.24 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth
number.

2531 :121:: 1446 : ? :: 3506 : 196
Ans 2K 1.258

" 2. 225
< 3.256

X< 4.144

Question ID : 65497839651
Status : Answered
Chosen Option : 3




Q.25 gelect the correct mirror image of the given figure when the mirror is placed at line PQ as shown.

P

Ja>
CETT]

Ans

F ‘:3'::?0

o 2.

ff

Question ID : 65497839554

Status : Answered

Chosen Option : 2

Section : English Language

Sentences of a paragraph are given below in jumbled order. Arrange the sentences inthe
correct order to form a meaningful and coherent paragraph.

. "So0, no good coming here with highfalutin ideas," he continued.

. "There's one thing you must understand," said Edward to the housekeeper.
. The housekeeper bowed and simply nodded in agreement.

."Just because we live in a big house doesn't mean we're rich!"

Ans o 1. BDAC

o0 m>

/5 2. BACD
/< 3.CADB

/< 4.DBCA

Question ID : 65497839564

Status : Answered

Chosen Option : 1




Q.2 Select the option that expresses the given sentence in active voice.

A lenient view of her case was taken by the judge.

Ans X 1. Thejudge will take a lenient view of her case.
/< 2. The judge has taken a lenient view of her case.
" 3. The judge took a lenient view of her case.

/< 4. The judge takes a lenient view of her case.

Question ID : 65497839557
Status : Answered
Chosen Option : 3

Q.3 Select the option that expresses the given sentence in direct speech.

I asked my mother where she kept the grocery.
Ans X 1.1said to my mother, "Where have you kept the grocery?"
" 2.1 said to my mother, "Where do you keep the grocery?"
/< 3.1said to my mother, "Where does she keeps the grocery?"

/< 4.1 said to my mother, "Where she keeps the grocery?"

Question ID : 65497839558
Status : Answered
Chosen Option : 2

Q.4 Select the option that expresses the given sentence in active voice.

He has been given a notice to vacate the house.

Ans 25 1. We are giving him a notice to vacate the house.
< 2. We had given him a notice to vacate the house.
/< 3. We gave him a notice to vacate the house.

& 4. We have given him a notice to vacate the house.

Question ID : 65497839454
Status : Answered
Chosen Option : 4

Q.5 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

The tin-roofed house gave up during the terrible storm.

Ans x 1. gave away
/< 2. No improvement required

«" 3. gave way
/< 4. gave over

Question ID : 65497839459
Status : Answered
Chosen Option : 2




Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

Following or occurring after death
Ans & 1. Posthumous

/< 2. Postponed

/< 3. Anointed

/< 4. Anonymous

Question ID : 65497839670
Status : Answered

Chosen Option : 1

Q.7 Select the most appropriate synonym of the given word.

Implacable
Ans  « 1. Relentless

/< 2. Magnanimous
/< 3. Compassionate

< 4. Remorseful

Question ID : 65497839565
Status : Not Answered

Chosen Option : --

Q.8 Select the most appropriate option to fill in the blank.

He renounced both, his family his friends.

Ans & 1. and

25 2. as well as
< 3. with
/5 4. also

Question ID : 65497839562
Status : Answered
Chosen Option : 1

Q.9 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

He is bent to harm me as much as he can.
Ans 25 1.on harm
/< 2.to harming

/< 3. No improvement required

" 4. upon harming

Question ID : 65497839560
Status : Answered

Chosen Option : 3




Q.10 Select the option that expresses the given sentence in indirect speech.

The police officer said to him, "Why were you out till late last night?"
Ans X 1. The police officer asked him that why he were out till late the previous night.

«” 2. The police officer asked him why he had been out till late the previous night.
< 3. The police officer asked him why had he been out till late last night.

/5 4. The police officer asked him why was he out till late last night.

Question ID : 65497839661
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate meaning of the given idiom.

Keep one's head

Ans & 1. Remain calm
< 2. Respect oneself
/< 3.Be honest

/< 4. Become conceited

Question ID : 65497839567
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate ANTONYM of the given word.

Illicit
Ans 25 1. Unlawful
< 2. Furtive
#< 3. Prohibited

«" 4. Ethical

Question ID : 65497839668
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate option to fill in the blank.

No than fifty trees were uprooted in the storm.
Ans & 1. fewer
/5 2. much

/< 3. moreover

X 4. few

Question ID : 65497839665
Status : Marked For Review
Chosen Option : 1




Q.14 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Nelson left his home / and went/ to the sea/ at an early age.
Ans " 1. tothe sea
/5 2. and went

< 3. Nelson left his home

/< 4. at an early age

Question ID : 65497839555
Status : Answered
Chosen Option : 4

Q.15 Select the INCORRECTLY spelt word.

Ans " 1. Forlon
& 2. Feign
/< 3. Fascinate

X 4. Forfeit

Question ID : 65497839467
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As the education of girls becomes similar (1) that of boys, their home life will also
become similar. Their present greater (2) of domestic affairs will also disappear. After
a (3) age, boys and girls should have a share in parental occupations and (4) s
but not in excess as it would interfere with their education. Yet, (5) of the problems of
adult life helps boys and girls understand and appreciate the efforts of their parents.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank no. 1.
Ans X 1. from

X 2. as
/< 3.than

w 4.t0

Question ID : 65497839571
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As the education of girls becomes similar (1) that of boys, their home life will also
become similar. Their present greater (2) of domestic affairs will also disappear. After
a(3) age, boys and girls should have a share in parental occupations and (4)

but not in excess as it would interfere with their education. Yet, (5)
adult life helps boys and girls understand and appreciate the efforts of their parents.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank no. 2.
Ans X 1. familiarity

« 2. knowledge

5 3. power

< 4. instruction

of the problems of

Question ID : 65497839572

Chosen Option : --

Status : Not Answered

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As the education of girls becomes similar (1) that of boys, their home life will also
become similar. Their present greater (2) of domestic affairs will also disappear. After
a (3) age, boys and girls should have a share in parental occupations and (4)

adult life helps boys and girls understand and appreciate the efforts of their parents.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank no. 3.
Ans X 1. settled

/< 2. decided
& 3. certain
&5 4. fixed

but not in excess as it would interfere with their education. Yet, (5) of the problems of

]

Question ID : 65497839573

Chosen Option : 3

Status : Answered




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As the education of girls becomes similar (1) that of boys, their home life will also
become similar. Their present greater (2) of domestic affairs will also disappear. After
a(3) age, boys and girls should have a share in parental occupations and (4)

but not in excess as it would interfere with their education. Yet, (5)
adult life helps boys and girls understand and appreciate the efforts of their parents.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank no. 4.
Ans X 1.reluctance

/< 2. hesitation
«” 3. anxieties

< 4. mistrusts

of the problems of

Question ID : 65497839574

Chosen Option : 1

Status : Answered

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

As the education of girls becomes similar (1) that of boys, their home life will also
become similar. Their present greater (2) of domestic affairs will also disappear. After
a (3) age, boys and girls should have a share in parental occupations and (4)

adult life helps boys and girls understand and appreciate the efforts of their parents.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank no. 5.
Ans X 1. alertness

« 2. awareness
/< 3. aloofness

/5 4. attentiveness

but not in excess as it would interfere with their education. Yet, (5) of the problems of

]

Question ID : 65497839575

Chosen Option : 2

Status : Answered




Comprehension:

Read the given passage and answer the questions that follow.

Floods are not new to India and this sub-continent, but in recent years the problem has
received much greater attention perhaps largely because it has led to much greater damage
than in the past. Even though information on the impending occurrence of floods is now more
accurate and certainly timelier, often there is very little time or support infrastructure in place
by which damage can be minimised. This is particularly true in the case of flash floods
resulting from sudden and excessively heavy rain.

In the case of India, flooding is very much a function of the seasonal nature of our rainfall. The
monsoons are spread over a short period during the year and often bring a concentrated
volume of rain, which cannot be absorbed by the earth and finds outlet only in the form of
streams that join up with our major river systems. But, flooding is not confined only to the
main rivers of the country, often smaller tributaries and streams can cause heavy damage as
well. Once these streams spill over their banks they could cause excessive harm, mainly
because those living near the banks of these streams particularly in mountain areas do not
have easy recourse to moving away quickly.

One major factor that could lead to a higher severity of flooding in the future is the danger of
climate change. While the evidence of the nature of impacts resulting from climate change on
precipitation and flooding at the regional level is not entirely clear, it could happen that the
Indian subcontinent witnesses and suffers the effects of a significantly changed pattern of
monsoons. One set of scientists has estimated that the monsoons could be shorter in
duration, but far more intensive. In other words, much greater precipitation would take place
in a much shorter period of time, thereby increasing the danger of floods. Climate change is
the result of human actions through the increased concentration of greenhouse gases in the
atmosphere, of which carbon dioxide is the most prominent.

At the local level also human actions have heightened the danger of flood through the cutting
of trees in the mountains as well as in the plains. In the case of India, the ecological damage
through deforestation of the Himalayas has led to large-scale erosion of the mountain slopes
and high levels of siltation. This leads to deposition of silt on the riverbeds in the plains and
hence spill-over of water whenever the volume in the river reaches a certain level. With
siltation on the river beds, flooding occurs even at very shallow water levels. However, even in
cases where forecasts have been timely and generally accurate, people have often been
reluctant to move away, because in most cases they lack the means and physical options for
moving away from a danger zone to one that is relatively safe. In the case of flash floods,
forecasts are difficult to make, and often the time available for relief is very short.

SubQuestion No : 21

Q.21 Which of the following human actions increases the danger of flooding?

Ans

/< 1. Concentration of carbon dioxide in the atmosphere
/< 2. Timely and accurate weather forecasts
/< 3. Lack of means for evacuating people

«# 4. Deforestation in plains and mountains

Question ID
Status

Chosen Option :

1 65497839478
: Answered
4




Comprehension:

Read the given passage and answer the questions that follow.

Floods are not new to India and this sub-continent, but in recent years the problem has
received much greater attention perhaps largely because it has led to much greater damage
than in the past. Even though information on the impending occurrence of floods is now more
accurate and certainly timelier, often there is very little time or support infrastructure in place
by which damage can be minimised. This is particularly true in the case of flash floods
resulting from sudden and excessively heavy rain.

In the case of India, flooding is very much a function of the seasonal nature of our rainfall. The
monsoons are spread over a short period during the year and often bring a concentrated
volume of rain, which cannot be absorbed by the earth and finds outlet only in the form of
streams that join up with our major river systems. But, flooding is not confined only to the
main rivers of the country, often smaller tributaries and streams can cause heavy damage as
well. Once these streams spill over their banks they could cause excessive harm, mainly
because those living near the banks of these streams particularly in mountain areas do not
have easy recourse to moving away quickly.

One major factor that could lead to a higher severity of flooding in the future is the danger of
climate change. While the evidence of the nature of impacts resulting from climate change on
precipitation and flooding at the regional level is not entirely clear, it could happen that the
Indian subcontinent witnesses and suffers the effects of a significantly changed pattern of
monsoons. One set of scientists has estimated that the monsoons could be shorter in
duration, but far more intensive. In other words, much greater precipitation would take place
in a much shorter period of time, thereby increasing the danger of floods. Climate change is
the result of human actions through the increased concentration of greenhouse gases in the
atmosphere, of which carbon dioxide is the most prominent.

At the local level also human actions have heightened the danger of flood through the cutting
of trees in the mountains as well as in the plains. In the case of India, the ecological damage
through deforestation of the Himalayas has led to large-scale erosion of the mountain slopes
and high levels of siltation. This leads to deposition of silt on the riverbeds in the plains and
hence spill-over of water whenever the volume in the river reaches a certain level. With
siltation on the river beds, flooding occurs even at very shallow water levels. However, even in
cases where forecasts have been timely and generally accurate, people have often been
reluctant to move away, because in most cases they lack the means and physical options for
moving away from a danger zone to one that is relatively safe. In the case of flash floods,
forecasts are difficult to make, and often the time available for relief is very short.

SubQuestion No : 22

Q.22 What causes flash floods?

Ans

/< 1. Sudden light rain
«# 2. Sudden excessive downpour
/< 3. A short monsoon

X 4. A continual drizzle

Question ID
Status

Chosen Option :

1 65497839476
: Answered
2




Comprehension:

Read the given passage and answer the questions that follow.

Floods are not new to India and this sub-continent, but in recent years the problem has
received much greater attention perhaps largely because it has led to much greater damage
than in the past. Even though information on the impending occurrence of floods is now more
accurate and certainly timelier, often there is very little time or support infrastructure in place
by which damage can be minimised. This is particularly true in the case of flash floods
resulting from sudden and excessively heavy rain.

In the case of India, flooding is very much a function of the seasonal nature of our rainfall. The
monsoons are spread over a short period during the year and often bring a concentrated
volume of rain, which cannot be absorbed by the earth and finds outlet only in the form of
streams that join up with our major river systems. But, flooding is not confined only to the
main rivers of the country, often smaller tributaries and streams can cause heavy damage as
well. Once these streams spill over their banks they could cause excessive harm, mainly
because those living near the banks of these streams particularly in mountain areas do not
have easy recourse to moving away quickly.

One major factor that could lead to a higher severity of flooding in the future is the danger of
climate change. While the evidence of the nature of impacts resulting from climate change on
precipitation and flooding at the regional level is not entirely clear, it could happen that the
Indian subcontinent witnesses and suffers the effects of a significantly changed pattern of
monsoons. One set of scientists has estimated that the monsoons could be shorter in
duration, but far more intensive. In other words, much greater precipitation would take place
in a much shorter period of time, thereby increasing the danger of floods. Climate change is
the result of human actions through the increased concentration of greenhouse gases in the
atmosphere, of which carbon dioxide is the most prominent.

At the local level also human actions have heightened the danger of flood through the cutting
of trees in the mountains as well as in the plains. In the case of India, the ecological damage
through deforestation of the Himalayas has led to large-scale erosion of the mountain slopes
and high levels of siltation. This leads to deposition of silt on the riverbeds in the plains and
hence spill-over of water whenever the volume in the river reaches a certain level. With
siltation on the river beds, flooding occurs even at very shallow water levels. However, even in
cases where forecasts have been timely and generally accurate, people have often been
reluctant to move away, because in most cases they lack the means and physical options for
moving away from a danger zone to one that is relatively safe. In the case of flash floods,
forecasts are difficult to make, and often the time available for relief is very short.

SubQuestion No : 23

Q.23 Which of the following is a consequence of siltation on river beds?

Ans

/X 1. Relief from water spill-over
«# 2. Flooding even at shallow water levels
/X 3. Deforestation of the Himalayas

/< 4. Erosion of the mountain slopes

Question ID
Status

Chosen Option :

1 65497839479
: Marked For Review
2




Comprehension:

Read the given passage and answer the questions that follow.

Floods are not new to India and this sub-continent, but in recent years the problem has
received much greater attention perhaps largely because it has led to much greater damage
than in the past. Even though information on the impending occurrence of floods is now more
accurate and certainly timelier, often there is very little time or support infrastructure in place
by which damage can be minimised. This is particularly true in the case of flash floods
resulting from sudden and excessively heavy rain.

In the case of India, flooding is very much a function of the seasonal nature of our rainfall. The
monsoons are spread over a short period during the year and often bring a concentrated
volume of rain, which cannot be absorbed by the earth and finds outlet only in the form of
streams that join up with our major river systems. But, flooding is not confined only to the
main rivers of the country, often smaller tributaries and streams can cause heavy damage as
well. Once these streams spill over their banks they could cause excessive harm, mainly
because those living near the banks of these streams particularly in mountain areas do not
have easy recourse to moving away quickly.

One major factor that could lead to a higher severity of flooding in the future is the danger of
climate change. While the evidence of the nature of impacts resulting from climate change on
precipitation and flooding at the regional level is not entirely clear, it could happen that the
Indian subcontinent witnesses and suffers the effects of a significantly changed pattern of
monsoons. One set of scientists has estimated that the monsoons could be shorter in
duration, but far more intensive. In other words, much greater precipitation would take place
in a much shorter period of time, thereby increasing the danger of floods. Climate change is
the result of human actions through the increased concentration of greenhouse gases in the
atmosphere, of which carbon dioxide is the most prominent.

At the local level also human actions have heightened the danger of flood through the cutting
of trees in the mountains as well as in the plains. In the case of India, the ecological damage
through deforestation of the Himalayas has led to large-scale erosion of the mountain slopes
and high levels of siltation. This leads to deposition of silt on the riverbeds in the plains and
hence spill-over of water whenever the volume in the river reaches a certain level. With
siltation on the river beds, flooding occurs even at very shallow water levels. However, even in
cases where forecasts have been timely and generally accurate, people have often been
reluctant to move away, because in most cases they lack the means and physical options for
moving away from a danger zone to one that is relatively safe. In the case of flash floods,
forecasts are difficult to make, and often the time available for relief is very short.

SubQuestion No : 24

Q.24 Which of the following predictions made by certain scientists creates a larger threat of

Ans

floods in India?

/X 1. Increased water level in streams
/< 2. Prolonged precipitation
«” 3. Heavy monsoon over a shorter period than usual

5 4. Increase in greenhouse gases

Question ID
Status

Chosen Option :

1 65497839477
: Answered
4




Comprehension:
Read the given passage and answer the questions that follow.

Floods are not new to India and this sub-continent, but in recent years the problem has
received much greater attention perhaps largely because it has led to much greater damage
than in the past. Even though information on the impending occurrence of floods is now more
accurate and certainly timelier, often there is very little time or support infrastructure in place
by which damage can be minimised. This is particularly true in the case of flash floods
resulting from sudden and excessively heavy rain.

In the case of India, flooding is very much a function of the seasonal nature of our rainfall. The
monsoons are spread over a short period during the year and often bring a concentrated
volume of rain, which cannot be absorbed by the earth and finds outlet only in the form of
streams that join up with our major river systems. But, flooding is not confined only to the
main rivers of the country, often smaller tributaries and streams can cause heavy damage as
well. Once these streams spill over their banks they could cause excessive harm, mainly
because those living near the banks of these streams particularly in mountain areas do not
have easy recourse to moving away quickly.

One major factor that could lead to a higher severity of flooding in the future is the danger of
climate change. While the evidence of the nature of impacts resulting from climate change on
precipitation and flooding at the regional level is not entirely clear, it could happen that the
Indian subcontinent witnesses and suffers the effects of a significantly changed pattern of
monsoons. One set of scientists has estimated that the monsoons could be shorter in
duration, but far more intensive. In other words, much greater precipitation would take place
in a much shorter period of time, thereby increasing the danger of floods. Climate change is
the result of human actions through the increased concentration of greenhouse gases in the
atmosphere, of which carbon dioxide is the most prominent.

At the local level also human actions have heightened the danger of flood through the cutting
of trees in the mountains as well as in the plains. In the case of India, the ecological damage
through deforestation of the Himalayas has led to large-scale erosion of the mountain slopes
and high levels of siltation. This leads to deposition of silt on the riverbeds in the plains and
hence spill-over of water whenever the volume in the river reaches a certain level. With
siltation on the river beds, flooding occurs even at very shallow water levels. However, even in
cases where forecasts have been timely and generally accurate, people have often been
reluctant to move away, because in most cases they lack the means and physical options for
moving away from a danger zone to one that is relatively safe. In the case of flash floods,
forecasts are difficult to make, and often the time available for relief is very short.

SubQuestion No : 25
Q.25 The problem of floods has recently received attention due to:

Ans " 1. the severity of damage caused
/< 2. the silt deposition on river beds
/< 3.the seasonal nature of floods

/5 4. the danger of climate change

Question ID : 65497839475
Status : Marked For Review
Chosen Option : 2

Section : Quantitative Aptitude

Q.1 In APQR, £Q=90° PQ =S8 cmand PR = 17 cm. If the bisector of £P meets QR at S, then what is the length (in cm) of
SR?

Ans X'1.12.4
X296
3 10.2
X 4 84

Question ID : 65497839600

Not Attempted and

Status : Marked For Review

Chosen Option : --




Q.2 If 6 cos?260 4+ cos 8 = 2,0° < 8 < 90°, then the value of (cosec 8 + cotd + tan @) is:

ey
2 243
3 6V3
43

Question ID : 65497839500
Status : Answered
Chosen Option : 3

.3 <
Q3 pp g +y* +x2y? =21 and x? + y2 —xy=7,thenwhat1sthevalueof$+)%?
Ans

< 1 2
2
2 i
2
3 i
4
5
4. 2
4

Question ID : 65497839701
Status : Answered
Chosen Option : 4

e ________________________-—— |
Q.4 A certain sum amounts to 214,641 in 4 years at 10% p. a. when interest is compounded annually. What will be the

amount of the same sum (in %) in 3§ years at the same rate at simple interest?

Ans 1 13,400
2. 14,000
3. 13,200
4. 13,600

Question ID : 65497839491
Status : Not Answered
Chosen Option : --




Q.5 Study the given graph and answer the question that follows.

Number of motorcycles (in hundreds) sold by
dealers A, B, C, D and E during 2019 and 2020

400
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300
~ 250
o mo"0 2 200
200 180
150
100
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0
o 8 C D (3

Dealers

u2019 W 2020

The percentage increase in the sale of motorcycles in 2020 as compared to that in 2019 is below 15% for the dealer:
Ans 1. A
2 E
3. D
4 B

Question ID : 65497839504
Status : Answered
Chosen Option : 1

Q.6 Todoa certain work, A is 40% more efficient than B. Working together: they can do the same work in 15 days. A started
the work and left after 15 days. B and C together completed the remaining work in next 10 days. C alone can do one-
third of the original work in:

Ans 1.

21 days
2. 24 days
3. 30 days
4. 36 days

Question ID : 65497839696
Status : Answered
Chosen Option : 2

Q.7 Ifsec 6+tan8

= 5, 0°< 8 < 90°. then what is the value of (cosec & +cos 8 + cot 8 )?
sec @—tan @ 3

Ans

X1 4+5V15
2

X 2 843V15
4

X 3 845V15
4

4 1645V15
4

Question ID : 65497839603

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.8 A sum of 26,300 is divided among A, B, C and D such that the ratio of the combined share of A and D to the combined
share of B and C is 11 : 10 and the ratio of the shares of Band D is 8 : 9. If C receives 21.560, then what is the
difference (in ¥) between the shares of A and B?

ANs 1160
2. 120
3. 180

& 4. 240

Question ID : 65497839694

Not Attempted and
Marked For Review

Chosen Option : --

Q.9 The cost price of two articles A and B is the same. Article A is sold at a loss of 24% and article B is sold for 270 more
than the selling price of A. If the net profit by selling both the articles is 12%, then what is the selling price (in %) of

article B?
Ans 1. 555
2. 575
3. 645
4. 610

Status :

Question ID : 65497839488

Not Attempted and
Marked For Review

Chosen Option : --

Q.10 A race track is in the shape of a ring whose inner and outer circumferences are 880 m and 1012 m, respectively. What is

Status :

the area (in m? ) of the track? (Take  =2%)
Ans 1. 25284
2. 26488
« 3. 19866
4. 13244

Question ID : 65497839596
Status : Answered
Chosen Option : 3

Q.11 The monthly expenditure of a person is 40% more than his monthly savings. If his monthly income increases by 40%
and monthly expenditure increases by 60%, then he saves 2,070 more in a month. What is his initial monthly

expenditure (in ¥)?
Ans 1. 20,250

2. 22,425
3. 24,150
4. 19,320

Question ID : 65497839690

Not Attempted and

Status : Marked For Review

Chosen Option : --




Q.12 If the 9-digit number 957x5y62z3 is divisible by 33, then what is the maximum value of (x +y ~ 2)?
Ans 1. 24
2. 27

¥ 3 2

wn

>
1J
(=)}

Question ID : 65497839583
Status : Answered
Chosen Option : 3

Q.13 The average of 28 numbers is 52.5. The average of the first 12 numbers is 48.8 and that of the next 13 numbers is 45.8.
If the other 3 numbers are excluded. then what is the average of the remaining numbers?

ANS 1 46.42
v 2 47.24

3. 48.64

4. 51.24

Question ID : 65497839584
Status : Answered
Chosen Option : 4

Q.14  study the given pie chart and answer the question that follows.

The pie chart shows the distribution (degree-wise) of the students who appeared in the annual examination from
institutes P, Q. R. S and T in 2020. The total number of students who appeared is 3000.

The average number of students who appeared in the examination from the institutes Q, S and T exceeds the number of
students who appeared from institute R by x. The value of x lies between:

Ans 1 14to I8

v 2 181022
3. 23t027
4 9to 14

Question ID : 65497839706
Status : Not Answered
Chosen Option : --

Q.15 InAABC.AB=20cm, BC=7cmand AC = 15 cm. Side BC is produced to D such that ADAB ~ADCA. The length of
CDis:

Ans L 12cm
2. 10 em

+3 9cm

4 8 cm

Question ID : 65497839703
Status : Not Answered
Chosen Option : --




Q.16  When the price of a commodity increased by 23%. a family reduced its consumption in such a way that the expenditure
on it was only 5% more. By what percentage has the family reduced the consumption of the commodity (correct to one
decimal place)?

Ans 11429
2. 15.2%

3. 15.8%

¥ 4 14.6%

Question ID : 65497839587
Status : Answered
Chosen Option : 4

Q.17  The average weight of some persons in a group is 76 kg. If 15 persons with average weight 72 kg join the group or 5
persons with average weight 84 kg leave the group, the average weight of the persons in the group in both cases is the
same. How many persons were there in the group, initially?

Ans 1 25
2 45
350

4. 30

Question ID : 65497839687
Status : Not Answered
Chosen Option : --

Q.18 1

Ifx—y=%andx

i = 10% . then what is the value of (x* — y3)?

Ans 26

> 1522
81

217

729
455

729

27

Question ID : 65497839597
Status : Answered
Chosen Option : 2

Q19 The sum of 3-digit numbers abe, bea and cab is always divisible by:
Ans 1. 35
2. 41
¥ 3 37
4. 31

Question ID : 65497839480
Status : Answered
Chosen Option : 3




Q.20  Study the given graph and answer the question that follows.

450 Import and Export of country ABC from
&0 2015 to 2019 (in 2 crores)

00
320 325
280
2 250
2% 2%
2004 200

132

i

0
015 2016 x0T 018 ms

Year

g &

s 8k ¥

wimports W Expons

The average exports of country ABC in 2015, 2017 and 2018 are what percentage of the total imports from 2015 to
2018 (correct to one decimal place)?

Ans 1. 22.80/0
2. 20.6%
3. 24.4%

v 4 22.1%

Question ID : 65497839605
Status : Answered
Chosen Option : 4

Q.21 Adealer marks an article 40% above its cost price, and sells it by giving two successive discounts of 15% and 25% on
the marked price. If he suffers a loss of 243, then the marked price (in %) of the article is:

ANS 1560
2. 700
3. 420
4. 480

Question ID : 65497839586
Status : Not Answered
Chosen Option : --

Q.22 1fx%? +9y? =40 and xy = 4, where x > 0,y > 0, then what is the value of (x3 + 27y3)?
Ans #1224

2. 800
3. 416
4. 440

Question ID : 65497839748
Status : Answered
Chosen Option : 1




Q.23 Asumof 22,310 is divided between A. B and C such that the ratio of the shares of B and C is 3 : 5 and the ratio of the
shares of C and A is 4 : 9. What is the difference (in %) between the shares of A and C?

Ans 1990
¥ 2 750

3. 450

4. 240

Question ID : 65497839591
Status : Not Answered
Chosen Option : --

Q.24 Aand B run on a circular path of perimeter 1200 m at different speeds. If they start at the same time and from the same
P pe
place, but run in opposite directions. they meet for the first time in 3 minutes. If the speed of B is 10.8 kmv'h. then what
is the speed (in kmvh) of A?

Ans 1128
2 13.2

3 125

4.13.5

Question ID : 65497839595
Status : Not Answered
Chosen Option : --
- |

Q.25 Ashopkeeper fixes the selling price of an article 20% above its cost. If the cost price increases by 20% and he increases
the selling price by 16%. then his profit percentage (on the increased cost) is:

ANS 1 16%

2. 20%
3. 15%
4. 24%

Question ID : 65497839589
Status : Answered
Chosen Option : 1

Section : General awareness

Q.1 The Muslim League announced 1946 as ‘Direct Action Day’.
Ans 25 1.28 August

" 2. 16 August
75 3.21 September

7< 4. 18 August

Question ID : 65497839623
Status : Answered
Chosen Option : 2




Q.2 The United Nations Conference on Environment and Development (UNCED) which
adopted 'Agenda 21' was held at:

Ans X 1. Paris
< 2. Stockholm
/< 3. New Delhi

«” 4. Rio de Janeiro

Question ID : 65497839513
Status : Answered
Chosen Option : 1

- |
Q.3 Which of the following Schemes was launched by the Ministry of Tourism?
Ans X 1. HRIDAY

«” 2. Swadesh Darshan
< 3. AMRUT

X 4. Museum Grant

Question ID : 65497839509
Status : Not Answered
Chosen Option : --

- |
Q.4 Which of the following festivals is NOT observed on a full moon day?

Ans " 1. Eid-al-Fitr
/X 2. Shab-e-Barat

/< 3. Buddha Jayanti

X 4. Rakshabandhan

Question ID : 65497839608
Status : Answered
Chosen Option : 1

Q.5 Which of the following states does NOT share its border with Bangladesh?

Ans 25 1. Tripura
" 2. Nagaland
/< 3. Meghalaya
X 4. Assam

Question ID : 65497839620

Not Attempted and
Marked For Review

Chosen Option : --
- |
Q.6 The tomb Chini-Ka-Rauza is located in
Ans " 1. Agra

/< 2. Bhopal

Status :

/< 3. Aurangabad
25 4. Sikri

Question ID : 65497839711
Status : Not Answered
Chosen Option : --




Q.7 Which of the following statements is/are INCORRECT?

A: Kuttanad is in the state of Karnataka.
B: Kuttanad Agriculture System favours rice cultivation below sea level.
C: Kuttanad is a Ramsar site and areputed destination for water tourism.

Ans X 1.A,BandC
X 2.0nycC
& 3.0nly A
X 4.0nlyAandB

Question ID : 65497839720
Status : Not Answered
Chosen Option : --

Q.8 The Union Budget 2021 announced the privatization of public sector banks and
one general insurance company in the upcoming fiscal year 2021-22.

Ans 2% 1. four
X 2. three
< 3. five
o 4. two

Question ID : 65497839612
Status : Answered
Chosen Option : 2

Q.9 What was the result of the Test series (February-March 2021) between India and
England Men's cricket team?

Ans  &* 1. Indiawon 3-1
/5 2. Itwas a draw 2-2
< 3. Indiawon 2-1

< 4. England won 2-1

Question ID : 65497839529
Status : Marked For Review
Chosen Option : 3

Q.10 The exaggerated response of the system to certain antigens present in the
environment is called allergy.

Ans X 1. nervous

& 2. immune
/< 3. digestive

< 4. cardiovascular

Question ID : 65497839616
Status : Answered
Chosen Option : 2




Q.11 Which of the given statements is/are correct?

(a) The Comptroller and Auditor General (CAG) is appointed by the President of India.
(b) The CAG shall only be removed from office in like manner and on the like grounds

as a Judge of the Supreme Court.
(c) The CAG shall not be eligible for further office either under the Government of India

or under the Government of any State after he/she has ceased to hold his/her office.
Ans X 1. (a) and (b), but not (c)
5 2.(a) and (c), but not (b)
« 3. (a), (b) and (c)
< 4.0nly (a)

Question ID : 65497839629
Status : Answered
Chosen Option : 1

Q.12 With reference to the literary creations of ancient India, which of the following pairs is
correct?

Ans X 1. Mrichchhakatika - Panini

/X 2. Kadambari - Kautilya
< 3. Malavikagnimitram - Vishnu Sharma

" 4. Mudrarakshasa - Vishakhadatta

Question ID : 65497839723
Status : Not Answered
Chosen Option : --

- |
Q.13 Whose autobiography is the book 'By God's Decree'?

Ans " 1. Kapil Dev
/5 2. Alyque Padamsee
< 3. Raj Kapoor

/< 4. Mohinder Amarnath

Question ID : 65497839625
Status : Not Answered
Chosen Option : --

Q.14 A performance begins with the kelikottu, calling the audience to attention
followed by the todayam.

Ans X 1. Kathak

/5 2. Sattriya
25 3. Kuchipudi

«” 4. Kathakali

Question ID : 65497839505
Status : Not Answered
Chosen Option : --




Q.15 Who addressed the Congress as President in 1887 thus - "This Congress is composed
of the representatives, not of any one class or community of India, but of all the
different communities of India"?

Ans X 1. Surendranath Banerjee
" 2. Badruddin Tyabji
/< 3. Gopal Krishna Gokhale

/< 4. Dadabhai Naoroji

Question ID : 65497839624
Status : Not Answered
Chosen Option : --

Q.16 The 1st anniversary of starting of a new Central Sector Scheme, namely, the Pradhan
Mantri Kisan Samman Nidhi (PM-KISAN) was in .

Ans " 1. February 2020

/< 2. February 2021
/< 3. February 2019

/< 4. February 2018

Question ID : 65497839610
Status : Answered
Chosen Option : 2

Q.17 Al Biruni's Kitab-ul-Hind was written in .
Ans 25 1. Urdu
< 2. Turkish

/< 3. Persian

" 4. Arabic

Question ID : 65497839520
Status : Answered
Chosen Option : 2

- |
Q.18 Which of the following is a unit of energy?
Ans X 1. volt

X 2. joule/sec
" 3. kilowatt-hour
/5 4. Pascal

Question ID : 65497839613
Status : Answered
Chosen Option : 2




Q.19 The 51st Dadasaheb Phalke awardee is
Ans X 1. Shyam Benegal

/< 2. Amitabh Bachchan
" 3. Rajinikanth
X< 4. Gulzar

Question ID : 65497839729
Status : Not Answered
Chosen Option : --

- ______________________ "
Q.20 Algae would generally NOT be found residing in which of the following?

Ans X 1. Soil
/< 2. Fresh water
«" 3. Dry stone

/5 4. Wood

Question ID : 65497839716
Status : Answered
Chosen Option : 3

Q.21 Inland streams which do NOT drain out into sea are generally found in which state of
India?

Ans 25 1. Madhya Pradesh
/< 2. Punjab
< 3. Bihar

«" 4. Rajasthan

Question ID : 65497839617
Status : Answered
Chosen Option : 4

Q.22 Who among the following scientists is famous for her notable work on sugarcane and
eggplant?

Ans X 1. Asima Chatterjee
/< 2. Kamala Sohonie
& 3. Janaki Ammal

/< 4. Soumya Swaminathan

Question ID : 65497839524
Status : Not Answered
Chosen Option : --




Q.23 The Central Administrative Tribunals Act owes its origin to Article of the
Constitution of India.

Ans & 1.323-A

X 2.322

/5 3.325-A

X 4.324

Question ID : 65497839730
Status : Marked For Review
Chosen Option : 1
- |

Q.24 The 42nd Amendment of the Constitution of India was passed in the year

Ans  « 1.1976
X 2.1977

/< 3.1978

X 4.1975

Question ID : 65497839630
Status : Answered
Chosen Option : 1

Q.25 According to the Census of 2011, which of the following has the second highest
literacy rate in India?

Ans X 1. Kerala

/5 2. Goa
/< 3. Puducherry

" 4. Lakshadweep

Question ID : 65497839517
Status : Answered
Chosen Option : 3
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Section : General Intelligence

Q.1 ‘A @ B’ means ‘A is the sister of B’.
‘A& B’ means ‘Ais the brother of B’.
‘A# B’ means ‘Ais the wife of B’.
‘A”™ B’ means ‘Ais the mother of B’.
‘A + B’ means ‘Ais the father of B.

fFL"U@R"P#J+N&D @ S’, then which of the following statements is NOT
correct?

Ans o 1. U is the maternal grandmother of J.
#< 2.Lis the maternal grandmother of P.
#5 3.Ris the maternal grandmother of S.

/< 4.Dis the daughter of P.

Status : Not Answered

Chosen Option : --

Q.2 Wis the son of D. Cis the daughter of D’s son. P’s sister N is married to W. D is the
husband of K. How is K related to C?

Ans X 1.Paternal aunt
«# 2. Paternal grandmother
25 3. Mother

X 4. Maternal grandmother

Status : Not Answered

Chosen Option : --

Q.3 Select the option that is related to the third term in the same way as the second term is
related to the first term.

FREQUENT : RFSGUOFV :: NOMINATE : ?
Ans & 1. JNQOFBUO
< 2. NJPOGUBO
«” 3. INPOFUBO
#< 4. INPOUFOB

O 41 P EAOTZQA0724
QUESHONTD-"094 9703975

Status : Answered
Chosen Option : 1

Downloaded from - www.exammix.com
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Q4 Select the figure that will come next in the following series.

S| @ (@9 -

Ans

X2

Question ID : 65497839551
Status : Answered

Chosen Option : 1

Q.5 Four different positions of the same dice are shown, the six faces of which are numbered from 1 to 6. Select the number
that will be on the face opposite to the one having *1°.

O T OO,

Ans 1.

n
LT ]

{
> w
oo

Question ID : 65497839450
Status : Answered
Chosen Option : 3

Downloaded from - www.exammix.com
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Q6 select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

r O

X 4 ﬁ

Question ID : 65497839655
Status : Answered

Chosen Option : 2

Q.7 In acertain code language, UNDER is coded as 61323229. How will FLORINA be coded
in that language?

Ans & 1. 2115129181326
< 2. 2112159161326
7< 3. 2015129181426
/< 4. 2015121891301

Question ID : 65497839539
Status : Answered

Chosen Option : 2

Q.8 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

a_d__bikac_bab_k_c_ba_ik
Ans X l.cbaidadb
&K 2.cdadiadb
X 3.cbadiabd
" 4.cbadiadb

Question ID : 65497839441
Status : Answered
Chosen Option : 3

Downloaded from - www.exammix.com
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Q.9 Which two numbers (not digits) and two signs need to be interchanged to make the
given equation correct?

240+20-16 x 14 + 120 = 175
Ans X 1.240and 120, + and —
/X 2.14 and 16, + and —
& 3.16 and 20, — and +
X 4.240 and 16, + and +

Question ID : 65497839448
Status : Answered

Chosen Option : 2

Q.10 In acertain code language, 'EMPTY" is written as AVROG and 'PUSH' is written as
JUWR. How will ‘ASPIRE' be written in that language?

Ans X 1.GTKSUD
X 2.CTKURG
X 3.GTLRVC
o 4. GTKRUC

Question ID : 65497839435
Status : Answered

Chosen Option : 4

Q-11 Select the correct mirror ima ge of the given combination when the mirror is placed at line PQ as shown.

P
efqwGZ4R |
Q

“rHAVSOwptio
- AMSDwptlo

:dphSOwptis
~~ANZOwpio

Question ID : 65497839452
Status : Answered

Chosen Option : 2

Q.12 In acertain code language, 'JURY" is coded as 1397 and ‘DOCK’ is coded as 4632. How
will 'FACTORIAL' be coded in that language?

Ans X 1. 613368913
X 2. 614269912
3. 612368813
" 4. 613269913

Question ID : 65497839438
Status : Not Answered
Chosen Option : --

Downloaded from - www.exammix.com
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Q.13 In a certain code language, 'he was invited' is written as 'nu vu du’, 'she invited them'
is written as 'hu du ru' and 'she was there' is written as 'tu vu ru'. How will 'there' be
written in that language?

Ans X 1.ru
& 2.1
X 3w
& 4.du

Question ID : 65497839434
Status : Answered

Chosen Option : 2

Q.14 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

RENAME : GTCPGO :: CLOSED: ?
Ans X 1.NDVQFG

< 2. MEURFG
< 3.NEUQGH
" 4. NEUQFG

Question ID : 65497839633
Status : Not Answered

Chosen Option : --

Q.15 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Colony : Ants : : Plumage : ?
Ans  «# 1. Feathers
/5 2.Bones
& 3. Animals
< 4. Bricks

Question ID : 65497839433
Status : Answered

Chosen Option : 1

Q.16 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some jugs are bottles.
No bottle is a candy.
All spoons are bottles.

Conclusions:

|. Somejugs are spoons.
Il. No spoon is a candy.
IIl. No jug is a spoon.

IV. No jug is acandy.

Ans  &# 1. Either Conclusion | or Ill and Il follow.
X 2. Only Conclusions Il and Ill follow.
#< 3. 0nly Conclusions I, Il and IV follow.

5 4. Either Conclusion | or IV and Il follow.

Question ID : 65497839445
Status : Answered
Chosen Option : 1

Downloaded from - www.exammix.com
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Q.17 Select the correct option that indicates the arrangement of the given words in alogical
and meaningful order.

1. Eyes
2. Nose
3. Fingers
4, Hair
5. Bones

Ans X 1.2,1,3,4,5
221,354
< 3.3,1,2,54
X 4.2,1,54,3

Q.18 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth
number.

22:528::24:7?::25:675
Ans X 1.752
&0 2.480
o 3.624
X 4.521

Question ID : 65497839634
Status : Answered

Chosen Option : 1

Q.19 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Meditation : Peace :: Treatment : ?
Ans X 1.Hospital
X 2.Disease
/5 3. Doctor
«" 4. Recovery

Question ID : 65497839447

Status : Answered

Chosen Option : 3

Q.20 In acertain code language, DEAF is coded as 4-10-3-24 and MAGIC is coded as 13-2-
21-36-15. How will CLOSET be coded in that language?

Ans o 1. 3-24-45-76-25-120
< 2. 3-24-30-76-25-120
#< 3. 3-24-45-57-20-100
#< 4. 3-12-45-76-20-120

Question ID : 65497839636

Status : Answered

Chosen Option : 4

Question ID : 65497839643

Status : Answered

Chosen Option : 1
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Q.21 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

T_O_MK_HOG__TH__MK
Ans & LHGTMKOG
X 2HGKMKOG
X 3HGTMKGO
X 4HGHMKOG

Question ID : 65497839542
Status : Answered

Chosen Option : 1

Q.22 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Manicurist
2. Manipulator
3. Manifest

4. Manageable
5. Mandible

6. Manifesto
7. Mandate

Ans ¢# 1.4,7,51,3,6,2
£52.4,7,5,3,1,6,2
/53.4,7,5/1,6,3,2

X 4.4,7,1,5,3,6,2

Question ID : 65497839431
Status : Answered
Chosen Option : 1

Q.23 Select the number from among the given options that can replace the question mark
(?) in the following series.

23, 25, 75, 79, 395, 401, ?
Ans < 1.1203
< 2.408
« 3.2807
< 4.802

Question ID : 65497839650
Status : Answered

Chosen Option : 3

Q.24 In acertain code language, PRESENT is written as OQDHFOU and FORCE is written as
ENIDF. How will DORMITORY be written in that language?

Ans 1. CNQLRUPSZ
/< 2. CNQNQUPSZ
X 3. CNLQRPUSZ
X 4. UPSZRCNQL

Question ID : 65497839538
Status : Answered
Chosen Option : 1
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Q.25 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

All woods are chairs.
All chairs are benches.
All plastics are woods.

Conclusions:

I. All woods are benches.
IIl. All plastics are chairs.
Ill. No bench is a plastic.

Ans X 1. Only conclusion | follows.
¥ 2. Only conclusions | and Il follow.
#< 3. Only conclusions | and Il follow.

#< 4. Only conclusion Il follows.

Question ID : 65497839546
Status : Answered
Chosen Option : 2

Section : English Language

Q.1 Select the option that can be used as aone-word substitute for the given group of
words.

An original model from which later forms are developed
Ans  #5 1. Ancestor
X 2. Manuscript

+«" 3. Prototype
/5 4. Descendent

Question ID : 65497839466
Status : Answered
Chosen Option : 3

Q.2 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select ‘No improvement required'.

At present, the examination system in India are characterised with heterogeneity.
Ans X 1.has characterised with

#5 2.Noimprovement required
#< 3. are characteristic by

" 4.is characterised by

Question ID : 65497839458
Status : Answered
Chosen Option : 4
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Q.3 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

We yet have time for catching the flight.
Ans o 1. still have time to catch

#5 2. have yet time to catch
5 3.Noimprovement required

X 4. have time still for catching

Question ID : 65497839561
Status : Answered

Chosen Option : 1

Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

She was thinking / of marrying Sanjay / when she discovered / he has already married.
Ans X 1.of marrying Sanjay
75 2. She was thinking
< 3. when she discovered

4" 4. he has already married

Question ID : 65497839657
Status : Answered

Chosen Option : 4

Q.5 Select the option that expresses the given sentence in direct speech.

My supplier told me that he could see sincerity in my eyes.
Ans & 1. My supplier said to me, "I could see sincerity in my eyes."

/5 2. My supplier said to me, "He can see sincerity in my eyes."
" 3. My supplier said to me, "l can see sincerity in your eyes."

#5 4. My supplier said to me, "I could see sincerity in his eyes."

Question ID : 65497839660
Status : Answered

Chosen Option : 3

Q.6 Select the most appropriate synonym of the given word.
Mitigate
Ans X 1.Aggravate
& 2. Alleviate
& 3. Incite
X 4. Intensify

Question ID : 65497839667
Status : Answered
Chosen Option : 2
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Q.7 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. She was busy with preparations for lunch when Bryan walked in.
B. Lucy went straight to the kitchen on getting back home.

C. Lucy gave him a quick, slightly preoccupied glance.

D. "Can I giveyou ahand in any way?" he asked Lucy.

Ans /< 1.CDAB
< 2.BDCA
X 3.CBDA
« 4.BADC

Question ID : 65497839666
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate meaning of the given idiom.

To draw ablank
Ans X 1. To forget someone close
5 2. To win a lottery
" 3. To get no results

< 4. To become unconscious

Question ID : 65497839465
Status : Answered
Chosen Option : 4

Q.9 Selectthe INCORECTLY spelt word.
Ans & 1. Maintainence

< 2. Motivate
5 3. Occasion
X 4.Tendency

Question ID : 65497839569
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate ANTONYM of the given word.
Equanimity
Ans 4 1. Agitation
5 2. Assurance
/< 3. Serenity
X 4. Calmness

Question ID : 65497839464
Status : Answered
Chosen Option : 1
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Q.11 Selectthe option that expresses the given sentence in passive voice.
The audience was making fun of the speaker.

Ans & 1. The speaker was being made fun of by the audience.

/X 2. The speaker was made fun of by the audience.

X 3. The speaker is being made fun of by the audience.

5 4. The speaker has been made fun of by the audience.

Question ID : 65497839455
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate option to fill in the blank.
We will have to atone our misdeeds.

Ans 5 1.from

X 2.in

X 3.0n

" 4. for

Question ID : 65497839461
Status : Answered
Chosen Option : 4

Q.13 Select the option that expresses the given sentence in passive voice.
She sings songs in several languages.
Ans & 1. Songs in several languages are sung by her.
X 2. Songs in several languages are being sung by her.
25 3. Songs in several languages have been sung by her.

< 4. Songs in several languages were sung by her.

Question ID : 65497839556
Status : Answered
Chosen Option : 1

Q.14 Select the option that expresses the given sentence in indirect speech.
The teacher said to the students, "Can you distinguish between these two words?"
Ans X 1. The teacher asked the students if they can distinguish between these two words.
" 2. The teacher asked the students if they could distinguish between those two words.

/< 3. The teacher asked the students that if they could distinguish between these two

words.
#5 4. The teacher asked the students could they distinguish between those two words.

Question ID : 65497839457
Status : Answered
Chosen Option : 2
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Q.15 Select the most appropriate option to fill in the blank.

If 1 you, | would take the feedback positively.
Ans X 1.is
X 2.was
" 3. were

X 4.am

Question ID : 65497839460
Status : Answered

Chosen Option : 3

Comprehension:
Read the given passage and answer the questions that follow.

According to legend, ancient Rome was founded by the two brothers, and demigods Romulus
and Remus on 21 April 753 BCE. The legend claims that in an argument over who would rule
the city (or, in another version, where the city would be located) Romulus killed Remus and
named the city after himself. This story of the founding of Rome is the best known but it is not
the only one.

Other legends claim the city was named after a woman, Roma who travelled with Aeneas and
the other survivors from Troy after that city fell. Upon landing on the banks of the Tiber River,
Roma and the other women objected when the men wanted to move on. She led the women
in the burning of the Trojan ships and so effectively stranded the Trojan survivors at the site
which would eventually become Rome. Aeneas of Troy is featured in this legend and also,
famously, in Virgil's Aeneid, as a founder of Rome and the ancestor of Romulus and Remus,
thus linking Rome with the grandeur and might which was once Troy.

Still other theories concerning the name of the famous city suggest it came from Rumon, the
ancient name for the Tiber River, and was simply a name given to the small trading centre
established on its banks or that the name was derived from an Etruscan word, which could
have designated one of their settlements.

Originally a small town on the banks of the Tiber, Rome grew in size and strength, early on,
through trade. The location of the city provided merchants with an easily navigable waterway
on which to traffic their goods. The city was ruled by seven kings, from Romulus to Tarquin, as
it grew in size and power. Greek culture and civilisation, which came to Rome via Greek
colonies to the south, provided the early Romans with a model on which to build their own
culture. From the Greeks they borrowed literacy and religion as well as the fundamentals of
architecture.

The Etruscans, to the north, provided a model for trade and urban luxury. Etruria was also
well situated for trade and the early Romans either learned the skills of trade from Etruscan
example or were taught directly by the Etruscans who made incursions into the area around
Rome sometime between 650 and 600 BCE (although their influence was felt much earlier).
The extent of the role the Etruscan civilisation played in the development of Roman culture
and society is debated but there seems little doubt they had a significant impact at an early
stage.

SubQuestion No : 16

Q.16 According to legend, what did Roma do to stop the Trojan men at the banks of the
Tiber?

Ans & 1. She burnt the trojan ships.
5 2. She established atrading centre.
#% 3. She destroyed the city of Troy.
5 4. She declared herself as the ruler.

Question ID : 65497839578
Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.

According to legend, ancient Rome was founded by the two brothers, and demigods Romulus
and Remus on 21 April 753 BCE. The legend claims that in an argument over who would rule
the city (or, in another version, where the city would be located) Romulus killed Remus and
named the city after himself. This story of the founding of Rome is the best known but it is not
the only one.

Other legends claim the city was named after a woman, Roma who travelled with Aeneas and
the other survivors from Troy after that city fell. Upon landing on the banks of the Tiber River,
Roma and the other women objected when the men wanted to move on. She led the women
in the burning of the Trojan ships and so effectively stranded the Trojan survivors at the site
which would eventually become Rome. Aeneas of Troy is featured in this legend and also,
famously, in Virgil's Aeneid, as a founder of Rome and the ancestor of Romulus and Remus,
thus linking Rome with the grandeur and might which was once Troy.

Still other theories concerning the name of the famous city suggest it came from Rumon, the
ancient name for the Tiber River, and was simply a name given to the small trading centre
established on its banks or that the name was derived from an Etruscan word, which could
have designated one of their settlements.

Originally a small town on the banks of the Tiber, Rome grew in size and strength, early on,
through trade. The location of the city provided merchants with an easily navigable waterway
on which to traffic their goods. The city was ruled by seven kings, from Romulus to Tarquin, as
it grew in size and power. Greek culture and civilisation, which came to Rome via Greek
colonies to the south, provided the early Romans with a model on which to build their own
culture. From the Greeks they borrowed literacy and religion as well as the fundamentals of
architecture.

The Etruscans, to the north, provided a model for trade and urban luxury. Etruria was also
well situated for trade and the early Romans either learned the skills of trade from Etruscan
example or were taught directly by the Etruscans who made incursions into the area around
Rome sometime between 650 and 600 BCE (although their influence was felt much earlier).
The extent of the role the Etruscan civilisation played in the development of Roman culture
and society is debated but there seems little doubt they had a significant impact at an early
stage.

SubQuestion No : 17
Q.17 Who among the following is NOT believed to be one of the founders of Rome?
Ans £ 1. Romulus

¥ 2. Tarquin
5 3.Remus
75 4. Aeneas

Question ID : 65497839577
Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.

According to legend, ancient Rome was founded by the two brothers, and demigods Romulus
and Remus on 21 April 753 BCE. The legend claims that in an argument over who would rule
the city (or, in another version, where the city would be located) Romulus killed Remus and
named the city after himself. This story of the founding of Rome is the best known but it is not
the only one.

Other legends claim the city was named after a woman, Roma who travelled with Aeneas and
the other survivors from Troy after that city fell. Upon landing on the banks of the Tiber River,
Roma and the other women objected when the men wanted to move on. She led the women
in the burning of the Trojan ships and so effectively stranded the Trojan survivors at the site
which would eventually become Rome. Aeneas of Troy is featured in this legend and also,
famously, in Virgil's Aeneid, as a founder of Rome and the ancestor of Romulus and Remus,
thus linking Rome with the grandeur and might which was once Troy.

Still other theories concerning the name of the famous city suggest it came from Rumon, the
ancient name for the Tiber River, and was simply a name given to the small trading centre
established on its banks or that the name was derived from an Etruscan word, which could
have designated one of their settlements.

Originally a small town on the banks of the Tiber, Rome grew in size and strength, early on,
through trade. The location of the city provided merchants with an easily navigable waterway
on which to traffic their goods. The city was ruled by seven kings, from Romulus to Tarquin, as
it grew in size and power. Greek culture and civilisation, which came to Rome via Greek
colonies to the south, provided the early Romans with a model on which to build their own
culture. From the Greeks they borrowed literacy and religion as well as the fundamentals of
architecture.

The Etruscans, to the north, provided a model for trade and urban luxury. Etruria was also
well situated for trade and the early Romans either learned the skills of trade from Etruscan
example or were taught directly by the Etruscans who made incursions into the area around
Rome sometime between 650 and 600 BCE (although their influence was felt much earlier).
The extent of the role the Etruscan civilisation played in the development of Roman culture
and society is debated but there seems little doubt they had a significant impact at an early
stage.

SubQuestion No : 18
Q.18 Rome mainly grew and flourished because of:
Ans X 1.Architecture

o 2. Trade
#< 3.Culture
< 4.Religion

Question ID : 65497839579
Status : Answered
Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

According to legend, ancient Rome was founded by the two brothers, and demigods Romulus
and Remus on 21 April 753 BCE. The legend claims that in an argument over who would rule
the city (or, in another version, where the city would be located) Romulus killed Remus and
named the city after himself. This story of the founding of Rome is the best known but it is not
the only one.

Other legends claim the city was named after a woman, Roma who travelled with Aeneas and
the other survivors from Troy after that city fell. Upon landing on the banks of the Tiber River,
Roma and the other women objected when the men wanted to move on. She led the women
in the burning of the Trojan ships and so effectively stranded the Trojan survivors at the site
which would eventually become Rome. Aeneas of Troy is featured in this legend and also,
famously, in Virgil's Aeneid, as a founder of Rome and the ancestor of Romulus and Remus,
thus linking Rome with the grandeur and might which was once Troy.

Still other theories concerning the name of the famous city suggest it came from Rumon, the
ancient name for the Tiber River, and was simply a name given to the small trading centre
established on its banks or that the name was derived from an Etruscan word, which could
have designated one of their settlements.

Originally a small town on the banks of the Tiber, Rome grew in size and strength, early on,
through trade. The location of the city provided merchants with an easily navigable waterway
on which to traffic their goods. The city was ruled by seven kings, from Romulus to Tarquin, as
it grew in size and power. Greek culture and civilisation, which came to Rome via Greek
colonies to the south, provided the early Romans with a model on which to build their own
culture. From the Greeks they borrowed literacy and religion as well as the fundamentals of
architecture.

The Etruscans, to the north, provided a model for trade and urban luxury. Etruria was also
well situated for trade and the early Romans either learned the skills of trade from Etruscan
example or were taught directly by the Etruscans who made incursions into the area around
Rome sometime between 650 and 600 BCE (although their influence was felt much earlier).
The extent of the role the Etruscan civilisation played in the development of Roman culture
and society is debated but there seems little doubt they had a significant impact at an early
stage.

SubQuestion No : 19
Q.19 Etruscans taught the early Romans:
Ans X 1. Literacy and religion

#% 2. The fundamentals of architecture
#< 3. How to build waterways
o 4. The skills of trade

Question ID : 65497839580
Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.

According to legend, ancient Rome was founded by the two brothers, and demigods Romulus
and Remus on 21 April 753 BCE. The legend claims that in an argument over who would rule
the city (or, in another version, where the city would be located) Romulus killed Remus and
named the city after himself. This story of the founding of Rome is the best known but it is not
the only one.

Other legends claim the city was named after a woman, Roma who travelled with Aeneas and
the other survivors from Troy after that city fell. Upon landing on the banks of the Tiber River,
Roma and the other women objected when the men wanted to move on. She led the women
in the burning of the Trojan ships and so effectively stranded the Trojan survivors at the site
which would eventually become Rome. Aeneas of Troy is featured in this legend and also,
famously, in Virgil's Aeneid, as a founder of Rome and the ancestor of Romulus and Remus,
thus linking Rome with the grandeur and might which was once Troy.

Still other theories concerning the name of the famous city suggest it came from Rumon, the
ancient name for the Tiber River, and was simply a name given to the small trading centre
established on its banks or that the name was derived from an Etruscan word, which could
have designated one of their settlements.

Originally a small town on the banks of the Tiber, Rome grew in size and strength, early on,
through trade. The location of the city provided merchants with an easily navigable waterway
on which to traffic their goods. The city was ruled by seven kings, from Romulus to Tarquin, as
it grew in size and power. Greek culture and civilisation, which came to Rome via Greek
colonies to the south, provided the early Romans with a model on which to build their own
culture. From the Greeks they borrowed literacy and religion as well as the fundamentals of
architecture.

The Etruscans, to the north, provided a model for trade and urban luxury. Etruria was also
well situated for trade and the early Romans either learned the skills of trade from Etruscan
example or were taught directly by the Etruscans who made incursions into the area around
Rome sometime between 650 and 600 BCE (although their influence was felt much earlier).
The extent of the role the Etruscan civilisation played in the development of Roman culture
and society is debated but there seems little doubt they had a significant impact at an early
stage.

SubQuestion No : 20
Q.20 The passage is mainly about:
Ans X 1. The merging of Greek and Roman civilisations

#5 2. The grandeur and fall of Troy
x 3. River Tiber, the lifeline of Rome

¥ 4. The founding of Rome and early influences

Question ID : 65497839581
Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Concerned and responsible Indian citizens can encourage sensible consumption (1) .

This can be done by shopping less and wasting (2) lesser; by buying local products t
keep the cottage industries and (3) crafts alive. In essence, by valuing their rich
(4) and living simple and meaningful lives, Indians can set (5) and show the

West that India is much more than a well of business opportunities.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no.1.
Ans & 1.decorum

< 2. delivery
#< 3.presence
«” 4. behaviour

Question ID : 65497839673
Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Concerned and responsible Indian citizens can encourage sensible consumption (1)
This can be done by shopping less and wasting (2) lesser; by buying local products to
keep the cottage industries and (3) crafts alive. In essence, by valuing their rich
4) and living simple and meaningful lives, Indians can set (5) and show the
West that India is much more than a well of business opportunities.
SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no.2.

Ans & 1. even
& 2. further
< 3.rather
#< 4. quite

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Concerned and responsible Indian citizens can encourage sensible consumption (1) .
This can be done by shopping less and wasting (2) lesser; by buying local products t
keep the cottage industries and (3) crafts alive. In essence, by valuing their rich

(4) and living simple and meaningful lives, Indians can set (5) and show the
West that India is much more than a well of business opportunities.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no.3.
Ans X 1. habitual

#< 2. sanctioned
o 3. traditional
#< 4. prescribed

Question ID : 65497839674

Chosen Option : 1

Status : Answered

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Concerned and responsible Indian citizens can encourage sensible consumption (1)

This can be done by shopping less and wasting (2) lesser; by buying local products to
keep the cottage industries and (3) crafts alive. In essence, by valuing their rich

(4) and living simple and meaningful lives, Indians can set (5) and show the
West that India is much more than a well of business opportunities.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no.4.
Ans X 1. birthright

X 2. estate
«” 3. heritage
& 4. settlement

Question ID : 65497839675

Chosen Option : 3

Status : Answered

Question ID : 65497839676

Chosen Option : 3

Status : Answered
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Concerned and responsible Indian citizens can encourage sensible consumption (1)

This can be done by shopping less and wasting (2) lesser; by buying local products to
keep the cottage industries and (3) crafts alive. In essence, by valuing their rich

4) and living simple and meaningful lives, Indians can set (5) and show the
West that India is much more than a well of business opportunities.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no.5.
Ans X 1.anincentive

#5 2. acitation
< 3.aninstance

" 4. aprecedent

Question ID : 65497839677
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q.1 Study the given graph and answer the question that follows.

450 Import and Export of country ABC from
00 2015 to 2019 (in ¥ crores)

00
20 325
10 230
2%
230 3%
200 200
200 1m0
150
150
100
50
-]
6 2017 018 009
Year

015 201
imponts @ Exports.

In 2020, if the imports increased from 2019 by the same percentage as in 2019 over its previous year, then what were
the amount of imports (in Z crores) in 2020?

Ans 1450
2. 480

¥ 3500

4 420

Question ID : 65497839606
Status : Answered
Chosen Option : 1

e ________________________________________|
Q.2 The area ofa triangular park, whose sides are 160 m., 300 m and 340 m, is 4:—: of the area of a circular park. What is the

perimeter (in m) of the circular pack (correct to one decimal place)? (Take m = ?)
Ans 1. 253.2
2. 248.8
« 3. 2514
4. 240.2

Question ID : 65497839494
Status : Answered
Chosen Option : 3
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Q.3

1 . 8x° +5x% -1
If 2x —-= = 7. x # 0, then what is the value of —— 2% —~ 9

x 8x% — 25x2 -1
Ans

x1 39
37

19
18

2.

Question ID : 65497839497
Status : Answered
Chosen Option : 4

Q.4 If the 8-digit number 98x423y4 is divisible by 72, then what is the value of (5x + 3y — xy) , for the maximum value
ofy?

Ans 1 6

2.9
¢33
4.5

Question ID : 65497839481
Status : Answered
Chosen Option : 3

.5
Q The value of tan?(22°— @)-tan(8 + 68°) — cosec?(68°+ ) + cot(22°— 8) s

3 (cot? 52° — sec? 38°) + 2 (cosec? 28° — tan? 62°)

Ans 1.0

Question ID : 65497839501
Status : Answered
Chosen Option : 2

Q.6 The lengths of two trains are 380 m and 220 m. The faster of these two trains takes 20 seconds to overtake the other,
when travelling in same direction. The trains take 12 seconds to cross each other, when travelling in opposite directions.
What is the speed (in kmvh) of the faster train?

Ans #1144
2. 90

3. 126
4. 108

Question ID : 65497839697
Status : Not Answered
Chosen Option : --
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Q.7 Study the given pie chart and answer the question that follows.

The pie chart shows the distribution (degree-wise) of the students who appeared in the annual examination from
institutes P, Q, R, S and T in 2020. The total number of students who appeared is 3000.

The number of students who appeared in the examination from institute P is what per cent of the total number of
students who appeared from the institutes Q, R and S (correct to one decimal place)?

Ans 1272
2 26.9

3. 25.8

4. 26.4

Question ID : 65497839707
Status : Answered
Chosen Option : 2

Q.8 The cost price of a shirt is Z1,008. At what price should it be marked so that after allowing 16% discount on the marked
price, there is a profit of 18%?

Ans 1. 21,416
2. 21,452
3. 1,512
4. 21,351

Question ID : 65497839688
Status : Answered
Chosen Option : 1

1

If @ + — = 3, then what is the value of (@ + 1)3 + —— ?
a+1 (a+1)3

Ans 1. 8
W2 52

3. 2

4. 62

Question ID : 65497839699
Status : Answered
Chosen Option : 2

Q.10 The income of X is 42% more than that of Y and the income of Z is 45% less than the sum of the incomes of X and Y.
By what per cent is the income of Z less than the income of X (correct to one decimal place)?

Ans 1. 5.9%
2. 6.7%

3. 6.3%

4. 5.6%

Question ID : 65497839689
Status : Answered
Chosen Option : 3
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Q.11 The average weight of some boys in a group is 45 kg. If 10 boys with an average weight of 39 kg join the group or 10
boys with an average weight of 49 kg leave the group, then the average weight of boys in both cases is equal. How

many boys were there in the group initially?
Ans 150
2. 60
3. 40
4. 30

Question ID : 65497839483
Status : Not Answered

Chosen Option : --

% If2x —1 = 3,x % 0, then simplify 8x® — 25x3 — 1.
X

Ans 1 2043
2.18x3
3. 27x3
4 34x3

Question ID : 65497839751
Status : Answered
Chosen Option : 1

Q.13 The average of 52 numbers is 48.5. The average of the first 22 numbers is 59.8 and that of the last 32 numbers is 41.7. If
the 21" and 224 numbers are excluded, then what is the average of the remaining numbers?

Ans 1 47.88
2. 46.48
3. 51
453

Question ID : 65497839482
Status : Answered
Chosen Option : 4

Q.14 What is the compound interest (in ¥) on a sum of 25,000 for 3§ vears at 10% p.a., if the interest is compounded
annually?

Ans 1. 9,606
2. 9,516
3. 8,275
4. 8,425

Question ID : 65497839593
Status : Answered
Chosen Option : 1
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Q15 By selling an article at 66%% of the actual selling price. a loss of 25% is incurred. What is the profit percentage on

selling the article at its actual selling price?

Ans 1. 10.5%
2. 15%
3. 10%

« 4 12.5%

Question ID : 65497839487

Status : Answered

Chosen Option : 4

|
Q.16 Alloys A and B contain copper and zinc in the ratio 7 : 8 and 4 : 1, respectively. In what ratio should A and B be mixed
to obtain a new alloy C containing copper and zinc in the ratio 2 : 1?

Ans 1. 4:5
2.5:6

3 2:3
4.3:4

Question ID : 65497839693
Status : Answered
Chosen Option : 3
Q.1

7
If14sin>0+3 sinf —5=0, 0° <@ <90°, then the value of S5 28+ct28 ;..

cosec 2 6+tan 26
Ans

X1 3\/3—1
3

X 2 2V3+1
3

x 3 2(1+v3)
5

o 4 1+2V3
5

Question ID : 65497839602
Status : Answered

Chosen Option : 3

18
Q In AABC, £B =135°, AB = 5v2 cmand BC = 7 cm. The length of AC is:

ANS X 1. 12\/7 cm

2. 12 cm

33411 cm

« 4 13 cm

Question ID : 65497839499
Status : Answered
Chosen Option : 3
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Q.19 X and Y together can complete a piece of work in 20 days, while Y and Z together can complete it in 24 days. After X
worked on it for 10 days and Y for 18 days. Z alone completed the ining work in her 13 days. X and Z together
can complete 75% of the original in:

Ans 1. 12 days

2. 10 days
3. 9 days
4. 8 days

Question ID : 65497839492

Chosen Option : 2

Status : Answered

Q.20 A sum of 27,410 is divided between A, B and C such that the ratio of the share of A to the combined share of B and C is
9: 17 and the ratio of the share of C to the combined share of A and B is 5 : 8. What is the ratio of the shares of B and

€2
Ans 113 17
«2 7:10
3.8:9
4.9:10

Q.21 The cost price of articles X and Y is the same. Article X is sold at 20% profit and article Y is sold for 2126 less than the
selling price of X. If the net profit by selling both the articles is 14%, then what is the cost price (in %) of each article?

Ans 1. 1,080

2. 840
3. 1,050
4. 1,260

Question ID : 65497839490

Chosen Option : 2

Status : Answered

Question ID : 65497839590

Chosen Option : --

Status : Not Answered
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Q.22 Study the given graph and answer the question that follows.

Number of motorcycles (in hundreds) sold by
dealers A, B, C, Dand E during 2019 and 2020

o 200
= 360 350)
350 550
300
P 250
20— a9 223 200
e 180
150
100
50
0
A 8 c ) £

Dealers

u2019 =2020

The number of motorcycles sold by dealer D in 2020 is what percentage more than the number of motorcycles sold by
dealer C in 2019?

ANS 1 44%
2. 33.3%
3. 30.5%
4. 48%

Question ID : 65497839502
Status : Not Answered
Chosen Option : --

Q.23 Inan institute, 35% are boys and the rest are girls. If 30% of the boys failed and 60% of the girls passed in an
examination, then the percentage of the students who failed in the examination is:

Ans 1. 36.5%
2. 35.5%
3. 40%
4. 35%

Question ID : 65497839486
Status : Not Answered
Chosen Option : --

Q.24 In AABC. the bisector of £B meets side AC at D. IfAB = 16 cm, BC = 9.6 cm and AC = 22.4 cm, then what is the
length (in cm) of AD?

Ans 1. 84
2 14
3.94

4. 15

Question ID : 65497839498
Status : Not Answered
Chosen Option : --

l___________________________________________________________________________________________________________________________|
Q.25 The 6-digit number 439xy5 is divisible by 125. How many such 6-digit numbers are there?

Ans 1. 5

2. 2
3 4
4.3

Question ID : 65497839582
Status : Not Answered
Chosen Option : --

Section : General awareness
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Q.1 The Ain-I-Akbariis made up of books.
Ans o 1 five

75 2.seven
X 3.eight
X 4. six

Question ID : 65497839622
Status : Answered

Chosen Option : 2

Q.2 Which of the following states does NOT share its border with Myanmar?
Ans X 1.Mizoram

" 2. Assam
25 3. Manipur
X 4. Arunachal Pradesh

Question ID : 65497839722
Status : Answered
Chosen Option : 4

Q.3 With reference to the Sukanya Samriddhi Account Scheme, which of the following
statements is INCORRECT?

Ans X 1. The scheme was launched in January 2015.

#” 2. The scheme account can be opened with a minimum of %100.
< 3. The scheme was launched as a part of the 'Beti Bachao Beti Padhao' campaign.

X 4. The account can be opened in any post office or authorised branches of commercial
banks.

Question ID : 65497839611
Status : Answered

Chosen Option : 2

Q.4 What was the result of the T20I series (March 2021) between India and England Men's
cricket team?

Ans X 1.England won 4-1
" 2. India won 3-2
25 3.India won 4-1
#< 4. England won 3-2

Question ID : 65497839631
Status : Answered
Chosen Option : 3

Q.5 The Pradhan Mantri Yuva Udyamita Vikas Abhiyan Yojana (PM-YUVA) is the initiative of
Ministry of:

Ans X 1.Science and Technology
< 2. Corporate Affairs
«” 3. Skill Development and Entrepreneurship

75 4. Commerce and Industry

Question ID : 65497839508
Status : Answered
Chosen Option : 3
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Q.6 According to the Census of 2011, which of the following is the third most populated
urban agglomeration?

Ans X 1.Delhi

" 2. Kolkata
25 3. Mumbai
< 4.Chennai

Question ID : 65497839619
Status : Answered
Chosen Option : 4

Q.7 Which river is known as the 'Sorrow of Bihar'?
Ans o 1. Kosi

#< 2. Punpun

& 3.S0n

75 4.Damodar

Question ID : 65497839515
Status : Answered
Chosen Option : 1

Q.8 26 November was formally declared as the Constitution Day on
Ans & 1. 19 November 2015

#< 2.19 November 1949
< 3.26 November 1949
75 4.31 October 2015

Question ID : 65497839526
Status : Answered
Chosen Option : 1

Q.9 The Universities of Calcutta, Bombay and Madras were set up in
Ans X 1.1859

o 2.1857

X 3.1863

X 4.1861

Question ID : 65497839521
Status : Answered
Chosen Option : 4

Q.10 Alexander the Great defeated Porus in the Battle of
Ans & 1. Hydaspes

X 2.Peshawar

< 3. Pathankot

75 4. Arakan

Question ID : 65497839519
Status : Answered
Chosen Option : 1
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Q.11 Which Amendment Act (2017) of the Constitution contains the provisions necessary
for the GST Regime?
Ans X 1.103rd
2< 2.100th
75 3.102nd
& 4.101st
Question ID : 65497839527
Status : Answered
Chosen Option : 4
Q.12 of the Indian Constitution contains the Fundamental Duties.
Ans X 1.PartVIA
& 2. PartVv
o 3. PartIVA
X 4 Partlll
Question ID : 65497839732
Status : Answered
Chosen Option : 3
Q.13 is afamous dance form of Jammu and Kashmir.
Ans X 1.Dhemsa
< 2.Bidesia
75 3.Karma
" 4.Dumhal
Question ID : 65497839607
Status : Answered
Chosen Option : 3
Q.14 Bhanu is afestival dedicated to the worship of the Sun God.
Ans & 1. Saptami
< 2. Ashtami
< 3. Navami
75 4. Ekadashi
Question ID : 65497839506
Status : Answered
Chosen Option : 3
Q.15 In which of the following places did the Indian National Congress hold its session in
September 19207?
Ans #5 1.Poona
#< 2. Nagpur
" 3. Calcutta
#< 4.Bombay
Question ID : 65497839726
Status : Not Answered
Chosen Option : --
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Q.16 Which of the following is NOT a disease caused by bacteria?
Ans X 1.Dysentery

< 2. Diphtheria
¥ 3. Malaria
X 4.Plague

Question ID : 65497839514
Status : Answered

Chosen Option : 3

Q.17 For which of the following mediais the absolute refractive index almost equal to one?
Ans X 1.Water

& 2. Air
X 3.lce

< 4.Kerosene

Question ID : 65497839715
Status : Answered

Chosen Option : 1

Q.18 According to the Central Pollution Control Board of India, particulate sizes of diameter
micrometres are responsible for causing the greatest harm to human health.

Ans X 1.between 2.5 and 3.5
X 2.between 3.5and 4.5
X 3.between 4.5 and 5.5

" 4. equalto or less than 2.5

Question ID : 65497839615
Status : Answered

Chosen Option : 4

Q.19 Any land which is left fallow (uncultivated) for more than years is under the
category of Culturable Wasteland.

Ans X 1.seven
" 2. five
X 3.nine
X 4.ten

Question ID : 65497839516
Status : Not Answered

Chosen Option : --

Q.20 In May 2021, the Indian Navy launched Operation Samudra Setu-1l by deploying
naval ships.

Ans X 1.9
X 2.10
X 3.6
47

Question ID : 65497839714
Status : Answered
Chosen Option : 4
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Q.21 Gaumukh Kund is areservoir located in which of the following forts?

25 2. Amitav Ghosh
#< 3. APJ Abdul Kalam
" 4. EM Forster

Ans . 1. Chittorgarh

x 2 Gwalior

x 3 Datia

x4 Kumbhalgarh

Question ID : 65497839507
Status : Not Answered
Chosen Option : --

Q.22 Who is the author of the novel ‘A Passage to India’?
Ans | & 1. Chetan Bhagat

Q.23 Arunima Sinha was the first female to scale Mount Everest.

Ans | X 1. hearing impaired female
< 2. visually impaired female
#< 3.female haemophilic

" 4.female amputee

Question ID : 65497839727
Status : Answered

Chosen Option : 4

Q.24 The Bihari Puraskar is one of the three literary awards instituted by the

Ans | X 1. Infosys Foundation
" 2. KK Birla Foundation
< 3. Wipro Foundation

< 4. Pirojsha Godrej Foundation

Question ID : 65497839626
Status : Answered
Chosen Option : 4

in 1991.

(Vhich of the following does NOT figure among the Five Kingdom Classification
broposed by RH Whittaker (1969)?

75 1. Monera

Q.25

Ans
< 2. Protista
" 3. Euglena
75 4. Plantae

Question ID : 65497839525
Status : Answered

Chosen Option : 2

Question ID : 65497839512
Status : Answered
Chosen Option : 3
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Selection Post Phase IX 2021 Graduate level

Roll Number

Candidate Name

Venue Name

Exam Date 10/02/2022

Exam Time 3:00 PM - 4:00 PM

Subject Selection Post Graduate Level

Section : General Intelligence

Q.1 In a certain code language, 'GASTRIC' is coded as 7119201833 and ‘FREEDOM’ is
coded as 618224413. How will 'BOARDING' be coded in that language?

Ans X 1.2411849137

W 2.2411843147
X 3.2411744147

X 4.2611943147

Question ID : 6549/839439
Status : Answered
Chosen Option : 2

Q.2 ‘A @ B’ means ‘A is the son of B’.
‘A & B’ means ‘A is the brother of B’.
‘A # B’ means ‘A is the wife of B’.
‘A~ B’ means ‘A is the husband of B’.
‘A + B’ means ‘Ais the father of B’.

fFY+M&TH#I@H#R @P " Q, then which of the following statements is correct?
Ans X 1. P isthe maternal grandfather of J.

o 2.Y is the father-in-law of J.
/< 3. Ris the father of T.

/5 4. Qis the mother of H.

Question ID : 65497839647
Status : Answered

Chosen Option : 2

Q.3 In a certain code language, PRIEST is written as AVJMOK and FULL is written as

XYQQ. How will FLIRT be written in that language?
Ans % 1. XQJVK

25 2. RQIVK
< 3. XQIYK
X 4. XSJIVK

Question ID : 6549/839638
Status : Answered
Chosen Option : 1




Q.4 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Gerontology : Old age : : Histology : ?
Ans < 1. Food

/< 2. Emotions
" 3. Tissues

/< 4. History

Question ID : 65497839535
Status : Answered
Chosen Option : 3

Q.5 If ‘A @ B’ means ‘A is the mother of B’ and ‘A % B’ means ‘A is the brother of B’, then
which of the following statements is correct for the given expression?

G@P%U%V@R
Ans X 1. U is the father of R.
" 2. Gis the mother of V.
/< 3. Ris the daughter of G.

/< 4. Uis the sister of R.

Question ID : 65497839743
Status : Answered
Chosen Option : 2

Q.6 Select the correct mirror image of the given figure when the mirror is placed at line PQ as shown.

P

tfgd432AqM

T MpVSEhpt?
MpAZEhpt?
" NpASENpII
"MpASEMpt?

Question ID : 65497839656
Status : Answered
Chosen Option : 4




Q.7 Select the number from among the given options that can replace the question mark
(?) in the following series.

26, 28, ?, 176, 706, 3532
Ans X 1.125

K 2.52
X 3.120

o 4.58

Question ID : 65497839446
Status : Answered
Chosen Option : 4

Q.8  Four different positions of the same dice are shown. the six faces of which are numbered from | to 6. Select the number
that will be on the face opposite to the one having *1°.

Ans 1. 3
2. 3

3.6

42

Question ID : 65497839552
Status : Answered
Chosen Option : 4

Q.9 In a certain code language, SIXER is coded as 75. How will COLOUR be coded in that
language?

Ans & 1.84
5 2.80
< 3.89
K474

Question ID : 65497839641
Status : Answered
Chosen Option : 1

Q.10 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Osteology : Bones :: Myology : ?
Ans 25 1. Skull

5 2. Saoil
/< 3. Fungi

«¥ 4. Muscles

Question ID : 65497839432
Status : Answered
Chosen Option : 3




Q.11 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans -
X 1 ->
pd
X2 >
\
RN
"4
\
SENIN
"

Question ID : 65497839451

Status : Marked For Review

Chosen Option : 3

Q.12 In a certain code language, MUSICAL is written as NATODEM and CREATE is written
as DSIEUI. How will STEROID be written in that language?

Ans X 1. TRISAOE
25 2. TUFSNOE
/< 3. TUIQIOE

« 4. TUISUOE

Question ID : 65497839640

Status : Answered

Chosen Option : 4




Q.13 In a certain code language, MOSAIC is coded as 47-68 and USEFUL is coded as 45-42.
How will FLYING be coded in that language?

Ans X 1.39-46
o 2. 43-51
/< 3.30-44

X 4.43-53

Question ID : 65497839642
Status : Answered
Chosen Option : 2

Q.14 In a certain code language, TORCH is written as XOVGL and LEMON is written as
PEQOR. How will MANDATE be written in that language?

Ans " 1. QARHAXE
X 2. QERIAXE
< 3. QARHEXI

/% 4. RERHAYE

Question ID : 65497839537
Status : Answered
Chosen Option : 1

Q.15 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Cautious
2. Cauliflower
3. Caught

4. Calculate
5. Calcify

6. Callous

7. Cauldron

Ans X 1.5,4,6,7,3,2,1
254,637,211
K 3.54,6,32,7,1

X 4.56,4,37,2,1

Question ID : 65497839533
Status : Answered
Chosen Option : 2

Q.16 Select the option that is related to the third term in the same way as the second term is
related to the first term.

TORPEDO : SPQOFCP :: FACTUAL : ?
Ans 25 1. EBDSTBK

«" 2. EBBSVZM
/5 3. EZDSXBK

/X 4. EBDSVBM

Question ID : 65497839429
Status : Answered
Chosen Option : 2




Q.17 Select the option that is related to the third term in the same way as the second term is
related to the first term.

LUNCH : KFQXO :: SUPPER : ?
Ans < 1. UISSYV

25 2. RHSSXW
" 3. UHSSXV

25 4. UHRRXV

Question ID : 65497839738
Status : Answered
Chosen Option : 3

Q.18 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth
number.

124:5::342:7?::7:2
Ans X 1.4

X 26

X< 3.8

o 4.7

Question ID : 65497839549
Status : Answered
Chosen Option : 4

Q.19 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

kr_tg_p_rtt_m_k_t_g_p
Ans X l.tmkgrrtm

N 2.tkmgprtm

N3 tmgkprtm

W 4 tmkgprtm

Question ID : 65497839645
Status : Answered
Chosen Option : 4




Q.20 Read the given statements and conclusions carefully. Assuming that the information

Ans X 1. Only conclusions Il and IV follow.
/% 2. Either conclusion | or IIl follows.
" 3. Only conclusions I and Ill follow.
/% 4. Either conclusion I or Il follows.
Question ID : 65497839649
Status : Answered
Chosen Option : 3
Q21 gelect the figure that will come next in the following series.
ﬁ = |0 AlO $|= 0
& o o ?
®) ojo0 =l AlA <
Ans
L c
<+ 1]
K2 =
n] <+
xs. =
Q
A a
xa. =

given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

No pilgrim is a traveller.
No traveller is tired.

All workers are pilgrims.

Conclusions:

I. Some pilgrims are workers.
Il. No worker is tired.

Ill. No worker is a traveller.
IV. No tired is a pilgrim.

Question ID : 65497839653
Status : Answered
Chosen Option : 1




Q.22 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

H_D_Y_O_C__OD_Y
Ans X 1L.OCHYDHC
/M 20CDHYHC
/3 0OCHDYCH

«" 4 OCHDYHC

Question ID : 65497839644
Status : Answered
Chosen Option : 4

Q.23 Select the correct option that indicates the arrangement of the given words in a logical
and meaningful order.

1. Europe
2.Germany
3. Frankfurt
4. Universe
5. World

Ans &% 1.3, 2 1,54
K 2.3,1,2,54
K 3.3,2,1,4,5

K 4.2,3,1,5,4

Question ID : 65497839430
Status : Answered

Chosen Option : 1

Q.24 If the numbers 20 and 28 are interchanged then which of the following equations can
be correctly balanced?

Ans X 1.24x3+28-20+7=78

X 2.45+15+20-28 x3=39
o 3.20+40%x28+4—-14=214
7 4.36+4x3+28-20=24

Question ID : 65497839652
Status : Answered
Chosen Option : 3




Q.25 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some cities are monuments.

All monuments are civilizations.
All streets are cities.

Conclusions:

I. No city is a civilization.

Il. Some cities are civilizations.
Ill. Some monuments are cities.

Ans  # 1. Only conclusions Il and Il follow.
< 2. All conclusions follow.
/< 3. Only conclusions | and Il follow.

/< 4. Only conclusions I and 11l follow.

Question ID : 65497839648
Status : Answered
Chosen Option : 1

Section : English Language

Q.1 Select the option that expresses the given sentence in passive voice.

Who taught you to play the guitar?
Ans 25 1. By whom have you been taught to play the guitar?

/< 2. By whom were you taught to play the guitar by?
¥ 3. By whom were you taught to play the guitar?

/< 4. By whom you were taught to play the guitar?

Question ID : 65497839658
Status : Answered
Chosen Option : 3

Sentences of a paragraph are given below in jumbled order. Arrange the sentences inthe
correct order to form a meaningful and coherent paragraph.

A. His hands were around the throat of a woman who faced him.

B. As Nancy stared terrified, the woman's body went limp and crumpled in the man's
hands.

C. He was slowly and remorselessly strangling her.

D. Standing with his back to the window and to Nancy, stood a tall man.

Ans /< 1. BDCA
/< 2.BCAD
%" 3. DACB
/< 4. DCBA

Question ID : 65497839462
Status : Answered
Chosen Option : 3




Q.3 Select the most appropriate option to fill in the blank.

of the two contestants was willing to withdraw from the tournament.
Ans X 1. None

«” 2. Neither

#< 3. No one

/< 4. Nobody

Question ID : 65497839664
Status : Marked For Review
Chosen Option : 2

Q.4 Select the option that expresses the given sentence in active voice.

An anthology of poems on childhood is being written by her.
Ans  «# 1. She is writing an anthology of poems on childhood.

/< 2. She has been writing an anthology of poems on childhood.
/% 3. She has written an anthology of poems on childhood.

5 4. She will be writing an anthology of poems on childhood.

Question ID : 65497839659
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate synonym of the given word.

Envisage
Ans & 1. Imagine
#< 2. Ridicule
/< 3. Describe

/5 4. Deceive

Question ID : 65497839463
Status : Not Answered

Chosen Option : --

Q.6 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

As long as he completes his work on time, | have no cause for worry.
Ans x 1. No sooner than he
%" 2. No improvement required
/< 3. As soon as he
/< 4. Such that he

Question ID : 65497839663
Status : Answered
Chosen Option : 3




Q.7 Select the option that expresses the given sentence in indirect speech.

The doctor said, "The patient is out of danger now."
Ans X 1. The doctor said that the patient is out of danger then.

/< 2. The doctor said that the patient was out of danger now.
" 3. The doctor said that the patient was out of danger then.

/< 4. The doctor said that the patient is out of danger now.

Question ID : 65497839456
Status : Answered
Chosen Option : 3

Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The Home Minister / alluded by the threat / of cross-border terrorism / in his speech.

Ans X 1. of cross-border terrorism
<5 2.1in his speech
/< 3. The Home Minister

" 4. alluded by the threat

Question ID : 65497839453
Status : Marked For Review
Chosen Option : 4

- |
Q.9 Select the INCORRECTLY spelt word.

Ans 25 1. Hygiene
" 2. Tolerent
/< 3. Catalogue

/< 4. Schedule

Question ID : 65497839671
Status : Answered
Chosen Option : 2

- |
Q.10 Select the option that expresses the given sentence in indirect speech.

She said to me, "The lady you met at the bakery is my sister-in-law."

Ans 25 1. She told me that the lady you had met at the bakery was my sister-in-law.
/< 2. She told me that the lady she met at the bakery was your sister-in-law.

" 3. She told me that the lady | had met at the bakery was her sister-in-law.

/< 4. She told me that the lady | met at the bakery is her sister-in-law.

Question ID : 65497839559
Status : Marked For Review
Chosen Option : 3




Q.11 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

I couldn't understand why he was so angry upon me.

Ans X 1. soangry upon myself
/< 2. No improvement required
" 3. so angry with me

< 4.too angry on me

Question ID : 65497839662
Status : Marked For Review

Chosen Option : 3

Q.12 Select the most suitable ANTONYM of the given word.

Redundant

Ans  &" 1. Essential
X 2. Excessive
/< 3. Superfluous

< 4. Bombastic

Question ID : 65497839566
Status : Marked For Review
Chosen Option : 1

Q.13 Select the most appropriate meaning of the given idiom.

A wet blanket
Ans & 1. A person who spoils other people's fun

/< 2. A person who is enthusiastic
2< 3. An unpleasant experience

#5 4. An unwelcome guest

Question ID : 65497839669
Status : Marked For Review

Chosen Option : 3

Q.14 Select the most appropriate option to fill in the blank.
he fulfills all the conditions, he should not be given the contract.
Ans X 1. Lest
/5 2. Since
25 3. Whether

«" 4. Unless

Question ID : 65497839563
Status : Marked For Review

Chosen Option : 1




Q.15 Select the option that can be used as a one-word substitute for the given group of
words.

The state of being unmarried by choice
Ans X 1. lIsolation

/< 2. Monogamy
«" 3. Celibacy

X 4. Polygamy

Question ID : 65497839568
Status : Answered
Chosen Option : 3

- —m?m_m———
Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While the older generation of Indians would buy a new product only when the (1)

one's useful life had ended, the young generation (2) to fall for novelty. Young people
want the (3) gadgets because they have money and more (4) to such goods.
They are made to believe, by (5) publicity, that the new products will enhance their
happiness.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank no. 1.
Ans X 1.ancient

/< 2. olden
" 3. previous
&5 4. elder

Question ID : 65497839469
Status : Marked For Review
Chosen Option : 2

-
Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While the older generation of Indians would buy a new product only when the (1)

one's useful life had ended, the young generation (2) to fall for novelty. Young people
want the (3) gadgets because they have money and more (4) to such goods.
They are made to believe, by (5) publicity, that the new products will enhance their
happiness.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank no. 2.
Ans X 1. bears

X 2. feeds
X 3. keeps

" 4. tends

Question ID : 65497839470
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While the older generation of Indians would buy a new product only when the (1)

one's useful life had ended, the young generation (2) to fall for novelty. Young people
want the (3) gadgets because they have money and more (4) to such goods.
They are made to believe, by (5) publicity, that the new products will enhance their
happiness.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank no. 3.
Ans X 1. later

X 2. latter

5 3. last

o 4. latest

Question ID : 65497839471
Status : Answered
Chosen Option : 4

-
Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While the older generation of Indians would buy a new product only when the (1)
one's useful life had ended, the young generation (2) to fall for novelty. Young people
want the (3) gadgets because they have money and more (4) to such goods.
They are made to believe, by (5) publicity, that the new products will enhance their
happiness.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank no. 4.
Ans X 1. approach

& 2. entry
X 3. contact

" 4. access

Question ID : 65497839472
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While the older generation of Indians would buy a new product only when the (1)

one's useful life had ended, the young generation (2) to fall for novelty. Young people
want the (3) gadgets because they have money and more (4) to such goods.
They are made to believe, by (5) publicity, that the new products will enhance their
happiness.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank no. 5.
Ans 4 1. ubiquitous

X 2. celestial
/< 3. squandered

/< 4. regressive

Question ID : 65497839473
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

What can you call a hobby which teaches so much—in addition to providing fun and
pleasure? Stamp collecting helps instruct the collector in geography, biography, history,
culture and art. Stamps are miniature gateways to the world.

Stamp collecting has very few rules. You don't have to buy expensive sneakers or rackets to
enjoy it. However, there are a few simple things to remember when collecting stamps.

First of all, one of the essential rules to remember is that the condition of a stamp is a highly
important consideration. Badly torn and mis-handled stamps are not only unpleasant to the
eye, but they are worth next to nothing when compared to their undamaged counterparts.
Stamps are rated in condition from poor to superb.

A stamp which can be called ‘superb’ is one of the finest qualities. That means it has perfect
centring, brilliant colour and perfect gum. A used stamp can also be called superb, if it is
perfectly centred, fresh looking, is lightly cancelled and undamaged. A designation of fine
means a stamp without flaws, average centring and gum with light hinge marks. Used stamps
designated ‘fine’ are not quite as fresh and cancels are heavier. ‘Good’ stamps are those
which are off-centre, but fairly attractive. There may be minor defects such as disturbed gum,
thin areas and heavy hinge marks. Stamps which fall below these standards should be
ignored and are not worth acquiring by the serious collector.

Because their condition is so important -- and stamps are only bits of paper after all -- when
handling them it is essential to remember to use caution. The best way to safely handle
stamps is with tongs. Stamp tongs come with differently shaped tips, but they all have smooth
ends which you can use to pick up a stamp without damaging it.

Because stamps are small, it is often difficult to see all of their minute details with the naked
eye. Magnifying glasses help to not only see the design better, but also, in some instances
discover small details which can help distinguish one stamp from another. You'll soon learn
that there are times when stamps appear to be the same, but are not. Look-alike stamps
frequently turn stamp collectors into Sherlock Holmes!

One of the first things you will learn through collecting stamps of other countries is geography,
SO0 you may want to get an atlas, globe or world map to help you see where the country is
located, or to help locate countries which issued stamps you have in your collection. Several
stamp atlases have been published for philatelists; they show ‘dead’ countries that formerly
issued stamps, as well as current nations.

Sometimes, philatelists decide to collect stamps not by country of issue, but because of
something else. There are people who collect stamps that are oddly shaped, or items that
aren't technically stamps, such as labels and seals. These are commonly called Cinderellas
(because they appear to be something they're not). Some people collect revenue stamps,
which are used by the country of issue to tax items. Many more people collect stamps
according to topic, such as animals, birds, or fish, people on stamps, such as authors or
scientists, or sport scenes, flowers, art or crafts, the list of stamp collections by topics is
practically endless.

SubQuestion No : 21

Q.21 Damaged stamps are:

Ans

« 1. Worthless
25 2. Priceless
25 3. Timeless

< 4. Flawless

Question ID
Status

Chosen Option :

1 65497839680
: Answered
1




Comprehension:

Read the given passage and answer the questions that follow.

What can you call a hobby which teaches so much—in addition to providing fun and
pleasure? Stamp collecting helps instruct the collector in geography, biography, history,
culture and art. Stamps are miniature gateways to the world.

Stamp collecting has very few rules. You don't have to buy expensive sneakers or rackets to
enjoy it. However, there are a few simple things to remember when collecting stamps.

First of all, one of the essential rules to remember is that the condition of a stamp is a highly
important consideration. Badly torn and mis-handled stamps are not only unpleasant to the
eye, but they are worth next to nothing when compared to their undamaged counterparts.
Stamps are rated in condition from poor to superb.

A stamp which can be called ‘superb’ is one of the finest qualities. That means it has perfect
centring, brilliant colour and perfect gum. A used stamp can also be called superb, if it is
perfectly centred, fresh looking, is lightly cancelled and undamaged. A designation of fine
means a stamp without flaws, average centring and gum with light hinge marks. Used stamps
designated ‘fine’ are not quite as fresh and cancels are heavier. ‘Good’ stamps are those
which are off-centre, but fairly attractive. There may be minor defects such as disturbed gum,
thin areas and heavy hinge marks. Stamps which fall below these standards should be
ignored and are not worth acquiring by the serious collector.

Because their condition is so important -- and stamps are only bits of paper after all -- when
handling them it is essential to remember to use caution. The best way to safely handle
stamps is with tongs. Stamp tongs come with differently shaped tips, but they all have smooth
ends which you can use to pick up a stamp without damaging it.

Because stamps are small, it is often difficult to see all of their minute details with the naked
eye. Magnifying glasses help to not only see the design better, but also, in some instances
discover small details which can help distinguish one stamp from another. You'll soon learn
that there are times when stamps appear to be the same, but are not. Look-alike stamps
frequently turn stamp collectors into Sherlock Holmes!

One of the first things you will learn through collecting stamps of other countries is geography,
SO0 you may want to get an atlas, globe or world map to help you see where the country is
located, or to help locate countries which issued stamps you have in your collection. Several
stamp atlases have been published for philatelists; they show ‘dead’ countries that formerly
issued stamps, as well as current nations.

Sometimes, philatelists decide to collect stamps not by country of issue, but because of
something else. There are people who collect stamps that are oddly shaped, or items that
aren't technically stamps, such as labels and seals. These are commonly called Cinderellas
(because they appear to be something they're not). Some people collect revenue stamps,
which are used by the country of issue to tax items. Many more people collect stamps
according to topic, such as animals, birds, or fish, people on stamps, such as authors or
scientists, or sport scenes, flowers, art or crafts, the list of stamp collections by topics is
practically endless.

SubQuestion No : 22

Q.22 Stamps that are off-centre with heavy cancels and disturbed gum, but that are quite

Ans

attractive can qualify as:

X 1. Poor
< 2. Fine
/< 3. Superb
« 4. Good
Question ID
Status

Chosen Option :

1 65497839682
: Answered
4




Comprehension:

Read the given passage and answer the questions that follow.

What can you call a hobby which teaches so much—in addition to providing fun and
pleasure? Stamp collecting helps instruct the collector in geography, biography, history,
culture and art. Stamps are miniature gateways to the world.

Stamp collecting has very few rules. You don't have to buy expensive sneakers or rackets to
enjoy it. However, there are a few simple things to remember when collecting stamps.

First of all, one of the essential rules to remember is that the condition of a stamp is a highly
important consideration. Badly torn and mis-handled stamps are not only unpleasant to the
eye, but they are worth next to nothing when compared to their undamaged counterparts.
Stamps are rated in condition from poor to superb.

A stamp which can be called ‘superb’ is one of the finest qualities. That means it has perfect
centring, brilliant colour and perfect gum. A used stamp can also be called superb, if itis
perfectly centred, fresh looking, is lightly cancelled and undamaged. A designation of fine
means a stamp without flaws, average centring and gum with light hinge marks. Used stamps
designated ‘fine’ are not quite as fresh and cancels are heavier. ‘Good’ stamps are those
which are off-centre, but fairly attractive. There may be minor defects such as disturbed gum,
thin areas and heavy hinge marks. Stamps which fall below these standards should be
ignored and are not worth acquiring by the serious collector.

Because their condition is so important -- and stamps are only bits of paper after all -- when
handling them it is essential to remember to use caution. The best way to safely handle
stamps is with tongs. Stamp tongs come with differently shaped tips, but they all have smooth
ends which you can use to pick up a stamp without damaging it.

Because stamps are small, it is often difficult to see all of their minute details with the naked
eye. Magnifying glasses help to not only see the design better, but also, in some instances
discover small details which can help distinguish one stamp from another. You'll soon learn
that there are times when stamps appear to be the same, but are not. Look-alike stamps
frequently turn stamp collectors into Sherlock Holmes!

One of the first things you will learn through collecting stamps of other countries is geography,
SO0 you may want to get an atlas, globe or world map to help you see where the country is
located, or to help locate countries which issued stamps you have in your collection. Several
stamp atlases have been published for philatelists; they show ‘dead’ countries that formerly
issued stamps, as well as current nations.

Sometimes, philatelists decide to collect stamps not by country of issue, but because of
something else. There are people who collect stamps that are oddly shaped, or items that
aren't technically stamps, such as labels and seals. These are commonly called Cinderellas
(because they appear to be something they're not). Some people collect revenue stamps,
which are used by the country of issue to tax items. Many more people collect stamps
according to topic, such as animals, birds, or fish, people on stamps, such as authors or
scientists, or sport scenes, flowers, art or crafts, the list of stamp collections by topics is
practically endless.

SubQuestion No : 23

Q.23 Which of the following statements is NOT true?

Ans

#5 1. All stamps are made of paper.
/< 2. Labels and seals are not technically stamps.
/< 3. Revenue stamps are used to tax items.

«# 4. A stamp collector is known as Sherlock Holmes.

Question ID
Status

Chosen Option :

1 65497839683
: Answered
4




Comprehension:

Read the given passage and answer the questions that follow.

What can you call a hobby which teaches so much—in addition to providing fun and
pleasure? Stamp collecting helps instruct the collector in geography, biography, history,
culture and art. Stamps are miniature gateways to the world.

Stamp collecting has very few rules. You don't have to buy expensive sneakers or rackets to
enjoy it. However, there are a few simple things to remember when collecting stamps.

First of all, one of the essential rules to remember is that the condition of a stamp is a highly
important consideration. Badly torn and mis-handled stamps are not only unpleasant to the
eye, but they are worth next to nothing when compared to their undamaged counterparts.
Stamps are rated in condition from poor to superb.

A stamp which can be called ‘superb’ is one of the finest qualities. That means it has perfect
centring, brilliant colour and perfect gum. A used stamp can also be called superb, if itis
perfectly centred, fresh looking, is lightly cancelled and undamaged. A designation of fine
means a stamp without flaws, average centring and gum with light hinge marks. Used stamps
designated ‘fine’ are not quite as fresh and cancels are heavier. ‘Good’ stamps are those
which are off-centre, but fairly attractive. There may be minor defects such as disturbed gum,
thin areas and heavy hinge marks. Stamps which fall below these standards should be
ignored and are not worth acquiring by the serious collector.

Because their condition is so important -- and stamps are only bits of paper after all -- when
handling them it is essential to remember to use caution. The best way to safely handle
stamps is with tongs. Stamp tongs come with differently shaped tips, but they all have smooth
ends which you can use to pick up a stamp without damaging it.

Because stamps are small, it is often difficult to see all of their minute details with the naked
eye. Magnifying glasses help to not only see the design better, but also, in some instances
discover small details which can help distinguish one stamp from another. You'll soon learn
that there are times when stamps appear to be the same, but are not. Look-alike stamps
frequently turn stamp collectors into Sherlock Holmes!

One of the first things you will learn through collecting stamps of other countries is geography,
SO0 you may want to get an atlas, globe or world map to help you see where the country is
located, or to help locate countries which issued stamps you have in your collection. Several
stamp atlases have been published for philatelists; they show ‘dead’ countries that formerly
issued stamps, as well as current nations.

Sometimes, philatelists decide to collect stamps not by country of issue, but because of
something else. There are people who collect stamps that are oddly shaped, or items that
aren't technically stamps, such as labels and seals. These are commonly called Cinderellas
(because they appear to be something they're not). Some people collect revenue stamps,
which are used by the country of issue to tax items. Many more people collect stamps
according to topic, such as animals, birds, or fish, people on stamps, such as authors or
scientists, or sport scenes, flowers, art or crafts, the list of stamp collections by topics is
practically endless.

SubQuestion No : 24

Q.24 Which of the following criteria is NOT essential to qualify as a 'superb' stamp?

Ans

5 1. 1t must have brilliant colours
/< 2. It must have perfect gum
" 3. It must be an unused stamp

/< 4.1t must have perfect centring

Question ID
Status

Chosen Option :

1 65497839679
: Answered
3




Comprehension:

Read the given passage and answer the questions that follow.

What can you call a hobby which teaches so much—in addition to providing fun and
pleasure? Stamp collecting helps instruct the collector in geography, biography, history,
culture and art. Stamps are miniature gateways to the world.

Stamp collecting has very few rules. You don't have to buy expensive sneakers or rackets to
enjoy it. However, there are a few simple things to remember when collecting stamps.

First of all, one of the essential rules to remember is that the condition of a stamp is a highly
important consideration. Badly torn and mis-handled stamps are not only unpleasant to the
eye, but they are worth next to nothing when compared to their undamaged counterparts.
Stamps are rated in condition from poor to superb.

A stamp which can be called ‘superb’ is one of the finest qualities. That means it has perfect
centring, brilliant colour and perfect gum. A used stamp can also be called superb, if itis
perfectly centred, fresh looking, is lightly cancelled and undamaged. A designation of fine
means a stamp without flaws, average centring and gum with light hinge marks. Used stamps
designated ‘fine’ are not quite as fresh and cancels are heavier. ‘Good’ stamps are those
which are off-centre, but fairly attractive. There may be minor defects such as disturbed gum,
thin areas and heavy hinge marks. Stamps which fall below these standards should be
ignored and are not worth acquiring by the serious collector.

Because their condition is so important -- and stamps are only bits of paper after all -- when
handling them it is essential to remember to use caution. The best way to safely handle
stamps is with tongs. Stamp tongs come with differently shaped tips, but they all have smooth
ends which you can use to pick up a stamp without damaging it.

Because stamps are small, it is often difficult to see all of their minute details with the naked
eye. Magnifying glasses help to not only see the design better, but also, in some instances
discover small details which can help distinguish one stamp from another. You'll soon learn
that there are times when stamps appear to be the same, but are not. Look-alike stamps
frequently turn stamp collectors into Sherlock Holmes!

One of the first things you will learn through collecting stamps of other countries is geography,
SO0 you may want to get an atlas, globe or world map to help you see where the country is
located, or to help locate countries which issued stamps you have in your collection. Several
stamp atlases have been published for philatelists; they show ‘dead’ countries that formerly
issued stamps, as well as current nations.

Sometimes, philatelists decide to collect stamps not by country of issue, but because of
something else. There are people who collect stamps that are oddly shaped, or items that
aren't technically stamps, such as labels and seals. These are commonly called Cinderellas
(because they appear to be something they're not). Some people collect revenue stamps,
which are used by the country of issue to tax items. Many more people collect stamps
according to topic, such as animals, birds, or fish, people on stamps, such as authors or
scientists, or sport scenes, flowers, art or crafts, the list of stamp collections by topics is
practically endless.

SubQuestion No : 25

Q.25 Stamps are miniature gateways to the world because they:

Ans

«" 1. give alot of information about the place where they are issued
/5 2. travel from one part of the world to another
/< 3. are small in size and contain secret information

/< 4. are found in every country across the globe

Question ID
Status

Chosen Option :

1 65497839681
: Answered
1

Section : Quantitative Aptitude




Q.1 Three bottles of the same capacity are 30%, 40% and 25% full of orange juice, respectively. They are filled up
completely by adding apple juice. The contents of the three bottles are emptied into another vessel. What is the

percentage of apple juice in the mixture?

Ans 1. 720/0

2. 65%

3 5129%
3

s 6819%
3

Question ID : 65497839588
Status : Answered
Chosen Option : 4

Q.2 Pipes Aand B can fill a tank in 20 hours and 30 hours, respectively. and pipe C is an outlet pipe. If all the three pipes are
opened together. it takes 1 % hours more than the time taken by A and B together to fill the tank. A and B are opened
together for 7 hours, then both are closed and C is opened. Now C can empty the tank in:

Ans 1. 72 hours

2. 64 hours

3. 60 hours

+ 4. 70 hours

Question ID : 65497839594
Status : Answered
Chosen Option : 4

Q.3 1fScos?8 — 2cos8 — 3 = 0.0° < § < 90°, then what is the value of 3 tan 8 + cosec§ + cot 8?

Ans J’l. 2\/7
4

2. ;\/7
3

3. Zﬁ

4, 4ﬁ

Question ID : 65497839704
Status : Answered
Chosen Option : 1

Q.4 The ratio of the number of employees (male and female) in offices A and B is 2 : 3. The ratio of the female employees in
AandBis I : 2, and the ratio of the female employees in A to the total employees in A is | : 3. What is the ratio of the

male employees in A and B?
Ans 1. 4:5
2. 6:7
3, 3=

. -

4.5:6

Question ID : 65497839592
Status : Answered
Chosen Option : 1




Q.5 What is the area (in hectares) of a rhombus-shaped field whose side is 146 m and one of its diagonals is 192 m?

Ans 12,102

2. 2,121
3. 2.012
v 4 2112

Question ID : 65497839698

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.6 The average of 27 numbers is 58. The average of the first 14 numbers is 66.6 and that of the last 14 numbers is 52.4. If
the 14 number is excluded. then what is the average of the remaining numbers (correct to one decimal place)?

Ans 1543
2. 60.2

3 55.2

¥ 4. 56.4

Question ID : 65497839686

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 Trains Pand Q are running in the same direction on parallel tracks with speeds of x kmvh and 90 kmvh (90 > x),
respectively. The faster train passes a man sitting in the slower train in 30 seconds. If the length of train Q is 225 m, then

what is the value of x ?

Ans 163
2. 60
3. 65
4 68

Question ID : 65497839493

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.8 In AABC. £B=87° and £C = 60°. Points D and E are on the sides AB and AC. respectively, such that ZDEC = 93°
and DE : BC =5: 9. IfAB = 14.4 cm. then the length of AE is:

Ans L 84 cm
2. 9cm

3 7.2cm
¥4 8cm

Question ID : 65497839601
Status : Not Answered
Chosen Option : --




Q.9

If x — 2 = /2, then what is thevalueof’:z—:?lz;
Ans 1. 6x
2. 4
L35

4. 5\/2

Question ID : 65497839754
Status : Answered
Chosen Option : 3

Q10 Thestieot (tan 25° cot 65° — cosec® 65°) + cot? 61° —sec? 29°

sin? 5° + 5in? 7° + sin? 9° ++ + s5in? 85°

is:

Ans

Xl.i

Question ID : 65497839705
Status : Answered
Chosen Option : 4

R |
Q.11 The marked price of an article is 1.000. It is sold for 712.89 after three successive discounts on the marked price, one
of 10% and two of x% each. What is the value of x ?

Ans 1]
2. 15
3 13
4 12

Question ID : 65497839484
Status : Answered
Chosen Option : 1

Q.12 Asells an article to B at 20% profit. B sells it to C at 15% loss. C sells it to D at 25% profit. If the difference between
the profit of A and C is 2132 and B bought the article for Zx. then what is the value of x?

Ans 1. 2,820
2. 3,060
3. 2.940
4. 2,880

Question ID : 65497839692
Status : Answered
Chosen Option : 4




Ans

Q.13  The average weight of some members of a club is 70 kg. If 15 members with an average weight of 60 kg join the club or

5 members with an average weight of 90 kg leave the club, then the average weight of members in both cases is equal.
How many members were there in the club initially?

s 45
250
3. 35
4. 40

Question ID : 65497839585

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.14  Study the given graph and answer the question that follows.

Number of motorcycles (in hundreds) sold by
dealers A, B, C, D and E during 2019 and 2020

sBE8ggEE S

Dealers

=2019 =220

400
360 350
300
250
200140 s 200
0
B 8 C D 3

The average number of motorcycles sold by dealers B and D in 2019 is what percentage less than the average number of
motorcycles sold by dealers A, C and E in 2020 (correct to one decimal place)?

Ans 1 8.1%
v 2 14.3%
3. 14.8%
4. 11.1%
Question ID : 65497839503
Status : Answered
Chosen Option : 2
Q.15 5 L 1 1 ;
Ifx+y=—and-+- =7-  then what is the value of x3 +y3?
o W
Ans
X112
72
8
2., —
27
65
3. —
216
11
4, o
72

Question ID : 65497839495

Status : Answered

Chosen Option : 3




Q.16 The income of A is 40% less than that of B. and the income of C is 40% more than 30% of the combined income of A
and B. By what percentage is C’s income more than the income of A?

ANS 1 12.4%
& 2. 129
3 15%

4 10.7%

Question ID : 65497839485
Status : Answered
Chosen Option : 2

Q.17  Study the given pie chart and answer the question that follows.

The pie chart shows the distribution (degree-wise) of the students who appeared in the annual examination from
institutes P, Q, R, S and T in 2020. The total number of students who appeared is 3000.

The ratio of the number of boys and girls who appeared in the examination from institutes S and Tare 11 : 12and 5 : 4,
respectively. What is the difference between the total number of boys who appeared from institutes S and T and the total
number of girls who appeared from these two institutes?

Ans ¢1_ 20
2. 23
. 1F

424

Question ID : 65497839708

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.18 The ratio of the ages of A and B is 3 : 4. Four years ago, the ratio of their ages was 5 : 7. What will be the ratio of the
ages of A and B four years from now?

Ans 1. 6:7
2.4:5
3 7:9
4.5:6

Question ID : 65497839489
Status : Answered
Chosen Option : 3




Q.19 TIf a 9-digit number 609a5b9¢9 is divisible by 99, then (a + b + ¢) is equal to:
Ans ,J 1. 16
2. 7

3.

[
(=)}

Question ID : 65497839685

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q20 smudy the given graph and answer the question that follows.

450 Import and Export of country ABC from
00 2015 to 2019 (in % crores)
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B imports @ Exports

The exports of country ABC in 2019 are what percentage more than its imports in 2017?

Ans 1 12%
2. 28%

3. 40%

4. 30%

Question ID : 65497839604
Status : Answered
Chosen Option : 4

Q.21

4_27
If x? — 4x — 3 = 0, then what is the value ofM?
(x2+4x-3)
Ans

X109l
4

2 102

2

3. 9£

8

2 123
2

Question ID : 65497839599

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.22 Ad-digit number x92x is divisible by 36 and a 7-digit number ¥569204 is divisible by 11. For the maximum value of (v
+z), what is the value of (2x +y +2)?

Ans g1 3]
2. 22
3. 33
4. 26

—_

Question ID : 65497839684
Status : Not Answered
Chosen Option : --

Q.23 A trader earns 29% profit by selling an article. If he increases the selling price by 290, his gain per cent increases to
37%. What is the selling price (in Z) of the article, if he sells it at 20% profit?

Ans 1 1,350
2. 1,125
3. 1,260
4. 1,380

Question ID : 65497839691
Status : Answered
Chosen Option : 1

Q.24 A certain sum amounts to 11,520 in 4 years at the rate of 15% p.a. simple interest. What will be the amount of the same
sum in 2 years at the same rate, if the i is compounded 8- hly ( toaZ)?

Ans 139338
2. 79,583
3. 79,853
4. 39,538

Question ID : 65497839695
Status : Answered
Chosen Option : 2

Q.25 Side BC of a AABC is produced to D such that CD = AC. Also, AD = BD and AB = AC. What is the measure of
£ADB?

Ans o L
2.

3.

36°
24°
30°
40°

Question ID : 65497839702

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Section : General awareness




Q.1 Which of the following rivers discharges its water into the Arabian Sea?

Ans X 1. Subarnarekha
/5 2. Godavari

" 3. Tapi
< 4. Mahanadi

Question ID : 65497839719
Status : Answered
Chosen Option : 3

- |
Q.2 The number of villages in India according to Census 2011 lies between:

Ans " 1.640000 and 650000

/< 2.590000 and 600000
#< 3. 620000 and 630000

/5 4.570000 and 580000

Question ID : 65497839721
Status : Answered
Chosen Option : 1

- |
Q.3 Multinational Military Exercise SHANTIR OGROSHENA 2021 (Front Runner of Peace)
commenced on 4 April 2021 in:

Ans X 1.India

" 2. Bangladesh
25 3. Kuwait

< 4. Maldives

Question ID : 65497839510
Status : Answered
Chosen Option : 2

-
Q.4 Which of the following is an example of a natural pesticide?

Ans X 1.DDT

/< 2. Heptachlor
< 3. Chlordane

" 4. Rotenone

Question ID : 65497839717
Status : Answered
Chosen Option : 1

Q.5 Who among the following is the author of the novel 'The Insider'?

Ans X 1.IK Gujral

X 2. Fakhruddin Ali Ahmed
< 3. Zakir Hussain

«" 4. PV Narasimha Rao

Question ID : 65497839523
Status : Answered
Chosen Option : 1




Q.6 As per the data of 2017-18 released by National Horticulture Board, which of the
following states is the largest producer of Tur (Arhar) in India?

Ans  #* 1. Maharashtra
/< 2. Odisha
/< 3. Chhattisgarh

X 4. Tamil Nadu

Question ID : 65497839618
Status : Answered
Chosen Option : 3

Q.7 What is the aim of the PM WANI Scheme?

Ans " 1. Proliferation of public Wi-Fi networks

/< 2. Giving rural people affordable life insurance services
/< 3. Developing skills among rural youth to repair digital infrastructure

/% 4. Providing broadband access in all villages by 2022

Question ID : 65497839713
Status : Answered
Chosen Option : 4

- |
Q.8 Who among the following is NOT a Bharat Ratna awardee?

Ans X 1. Satyajit Ray

/< 2. Nelson Mandela
«" 3. Mahatma Gandhi

/< 4. Jehangir Ratanji Dadabhoy Tata

Question ID : 65497839627
Status : Answered
Chosen Option : 2

Q.9 Virupaksha Temple is located in

Ans £ 1. Chidambaram
25 2. Kanyakumari

" 3. Hampi
< 4. Mamallapuram

Question ID : 65497839609
Status : Answered
Chosen Option : 4

- |
Q.10 Where was the Second Buddhist Council held in ¢.383 BCE?
Ans /5 1. Kannauj

25 2. Lumbini
" 3. Vaishali
/< 4. Nalanda

Question ID : 65497839621
Status : Answered
Chosen Option : 3




Q.11 In 1924, Mahatma Gandhi got elected as the President of the Indian National Congress
in .

Ans X 1. Kolhapur
«” 2. Belgaum

/< 3. Nagpur
< 4. Mysore

Question ID : 65497839522
Status : Answered
Chosen Option : 2

Q.12 Which of the following is NOT a kind of question related to Indian Parliamentary
Proceedings?

Ans X 1. Starred Question
/< 2. Unstarred Question
< 3. Short Notice Question

& 4. Yearly Question

Question ID : 65497839528
Status : Answered
Chosen Option : 4

Q.13 Which of the following is a sea port of Pakistan?
Ans X 1. Rawalpindi

" 2. Gwadar
< 3. Sialkot
/5 4. Quetta

Question ID : 65497839518
Status : Answered
Chosen Option : 2

Q.14 Arrange the following in ascending chronological order of construction.

A: Taj Mahal

B: Konark Sun Temple

C: Golden Temple

D: Brihadeeswarar Temple

Ans X 1.C,A DB
X 2.B,C,A, D
% 3.D,B,CA
/M 4.A,B,C,D

Question ID : 65497839724
Status : Answered
Chosen Option : 3




Q.15 Mudiyettu is aritual dance drama from Kerala based on the mythological tale of a
battle between the Goddess and the demon Darika.

Ans X 1. Lakshmi
o 2. Kali
/< 3. Saraswati

X 4. Sharada

Question ID : 65497839709
Status : Answered
Chosen Option : 2

Q.16 Which city was the venue of all the three ODIs between the men’s cricket teams of
India and England held during March 20217?

Ans X 1. Mumbai
/5 2. Chennai
#< 3. Ahmedabad

o 4. Pune

Question ID : 65497839733
Status : Marked For Review
Chosen Option : 3

- |
Q.17 Which of the following has the same dimension as pressure?

Ans 25 1. Strain
" 2. Stress
< 3. Work
/5 4. Force

Question ID : 65497839511
Status : Answered
Chosen Option : 1

Q.18 Gita Gopinath is the first Indian-American woman to become Chief Economist at which
of the following organisations?

Ans 25 1. International Bank for Reconstruction and Development
" 2. International Monetary Fund
/< 3. Forbes India

/< 4. Deutsche Bank

Question ID : 65497839728
Status : Answered
Chosen Option : 2




Q.19 Communicable diseases are indirectly transmitted by way of what are known popularly
as ‘5 Fs’. Which of the following does NOT figure among them?

Ans X 1. Fomites
< 2. Fluid
/< 3. Fingers

«" 4. Fungi

Question ID : 65497839718
Status : Answered
Chosen Option : 4

Q.20 "l was launched in 2015 for providing loans up to ¥10 lakh to the non-corporate, non-
farm small/micro enterprises. One of my products is Tarun". Identify me.

Ans 1/ 1. Pradhan Mantri MUDRA Yojana
/< 2. Pradhan Mantri Jan Dhan Yojana
/% 3. Sansad Adarsh Gram Yojana

/% 4. Pradhan Mantri Awas Y ojana

Question ID : 65497839712
Status : Answered
Chosen Option : 1

Q.21 The ‘Bengal Gazette’ was the first:

Ans " 1. English newspaper of India
/< 2. English journal of India
/< 3. English periodical of India

/< 4. English play of India

Question ID : 65497839725
Status : Answered
Chosen Option : 1

Q.22 Which of the following is inscribed in the UNESCO as an intangible cultural heritage?
Ans X 1. Gudi Padwa

/< 2. Dussehra
«" 3. Nowruz
25 4. Vaisakhi

Question ID : 65497839710
Status : Answered
Chosen Option : 2




Q.23 The words "Equality, Liberty and Fraternity" which appear in the Preamble to the
Constitution of India have been taken from the Constitution.

Ans X 1. Canadian
«¥ 2. French
/< 3. Spanish

X 4. Australian

Question ID : 65497839628
Status : Answered
Chosen Option : 2

Q.24 The laws governing the Supreme Court of India and the concept of ‘procedures
established by law’ were adopted from the Constitution of

Ans ¥ 1. Japan
/< 2. New Zealand

/< 3. Australia

& 4. Taiwan

Question ID : 65497839731
Status : Answered
Chosen Option : 1

Q.25 Spongillais an example of water sponge.

Ans  « 1.fresh
/5 2. sweet

#< 3. chlorinated

& 4. sea

Question ID : 65497839614
Status : Answered
Chosen Option : 4
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Section : General Intelligence

Q.1 Select the figure from among the given options that can replace the question mark (?) in the following series.

[€) C A [¢)
A o ¢ A ?
¢ Jla o e 1] i
Ans

C
X1 O

N

O
X 2.

A

¢ |

3 .
' O

A |

X< 4.
C
N
Status Answered
Chosen Option : 3
Q.2

A cube is made by folding the given sheet. In the cube so formed. which of the following pairs of letters will be on
opposite sides?

|AIJO

Ans 1. Jand U

o 4. B EAOZR ARSI,
QuUeStioN1o~="0549704051S

Status : Answered
Chosen Option : 4




Q.3 In acertain code language, ‘SPIRIT’ is coded as ‘65’ and ‘DENSE’ is coded as ‘83’. How
will ‘LOGICAL’ be coded in that language?

Ans X 1.132
o 2.123
X3.231
X 4.213

Question ID : 65497840706
Status : Not Answered

Chosen Option : --

Q.4 In acertain code language, ‘GLOBE’ is written as ‘HYRIJ’, and ‘CODES’ is written as
‘VBGLF. How will ‘SMART’ be written in that language?

Ans o 1.WODJV
< 2.VDKWO
< 3.VKDOW

& 4.WDOVJ

Question ID : 65497840498
Status : Answered

Chosen Option : 1

Q.5 'D=G’ means ‘Dis the sister of G'.
‘DA G’ means ‘Dis the husband of G.
‘DV G’ means ‘D is the daughter of G’.
‘D 3 G’ means ‘D is the mother of G’.
‘D » G’ means ‘D is the brother of G’.

Which of the following expressions denotes that ‘S is the husband of M’?
Ans X 1.SoH=L=Q3aM
X 2.QVM3IH=L3S
KX 3M3IQAL=H3S
& 4 MIQ=LoHVS

Question ID : 65497840710
Status : Not Answered

Chosen Option : --

Q.6 Select the option that is related to the third term in the same way as the second term is
related to the first term.

REGARD : GODDHO : : SQUARE : ?
Ans X 1.HDOTRP
«” 2. HODRTP
7< 3. VNXDNI
25 4. VXNNDI

Question ID : 65497840594
Status : Answered
Chosen Option : 2




Q.7 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

. Marathon

. Manuscript

. Marvellous

. Manipulation
. Management
. Mandatory

Ans X 1.6,5,2,4,3 1

oA wWNE

K502.54,6,1,2,3
X 3.4,51,6,3,2
o 4.56,4,2,1,3

Question ID : 65497840596
Status : Answered

Chosen Option : 4

Q.8 In acertain code language, ‘YEARS’ is written as ‘AERSY’. How will ‘SPRING’ be
written in that language?

Ans o 1.GINPRS
X 2.INSRGP
X 3.GINRPS
X 4.NIRSGP

Question ID : 65497840599
Status : Answered

Chosen Option : 1

Q9 Iufgws wamTw MTW 1 AW RGP uad o srgw™
Ugd T WaloUd g1

mﬁﬁ:%ﬁ::"ﬁ?ﬁ:?
Ans X 1.

K 289

X 3. 3y

o 4331

Question ID : 65497840495
Status : Answered

Chosen Option : 4

Q.10 select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

P
GEOMETRY
Q

Ans LGEOWLILEE XA

2CEONWELE A
SH¥YAIT MO H D
vi¥YATHIMOHD

Question ID : 65497840515
Status : Answered
Chosen Option : 4




Q.11 ‘Active’ is related to ‘Idle’ in the same way as ‘Brief' is related to * .
Ans X 1. Short

25 2. Introduction

«" 3. Long
X 4. Case

Question ID : 65497840598
Status : Answered

Chosen Option : 1

Q.12 Nishal and Suman are brothers. Priti’s son Viplav is the brother of Sanjana. Srinivas is
the father of Nishal. Suman and Priti are a married couple and have one son and one
daughter. How is Sanjana related to Srinivas?

Ans % 1.Grandson
/< 2. Daughter-in-law
5 3. Niece
" 4. Granddaughter

Question ID : 65497840505
Status : Not Answered

Chosen Option : --

Q.13 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some caskets are tapes.
Sometapes are sachets.

Conclusions:

I. No sachet is a casket.

Il. No tape is a casket.

Ill. Some sachets are caskets.

Ans  #X 1. Both conclusions | and Il follow.
+#" 2. Either conclusion | or |1l follows.
25 3. All conclusions follow.

< 4. Both conclusions 1l and 11l follow.

Question ID : 65497840711
Status : Answered
Chosen Option : 2




Q14 gselect the option in which the given figure is embedded (rotation is NOT allowed).

——

Ans B j:‘
X2 %r
X3 (IZ
s

T

Q.15 Which two signs should be interchanged to make the given equation correct?

12 + 156 + 13 x 6 = 100 = 50
Ans X 1.+and-

o 2.+ andx
&0 3.-and x
& 4.+ and x

Question ID : 65497840718

Status : Answered

Chosen Option : 4

Q.16 In acertain code language, ‘ACUTE’ is written as ‘EXAYI’, and ‘SPEND’ is written as
XUISW’. How will ‘BLAME’ be written in that language?

Ans & 1. YQERI
X 2. YPEQA
< 3.GOARI
X 4.GQFRJ

Question ID : 65497840511

Status : Answered

Chosen Option : 2

Question ID : 65497840703

Status : Not Answered

Chosen Option : --




Q.17 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. President
2. Permutation
3. Perform

4. Proverb

5. Perturb

Ans X 1.3,2,54,1
< 235,214
3.3,51,24
o 4.3,2,51,4

Question ID : 65497840493
Status : Answered

Chosen Option : 4

Q.18 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

QLPPBPQLBQLP
Ans " 1.P,B,Q,L,P,P,P,B
X 2.P,Q,P, L PB,PB
X 3.PPPPBBLQ

X 4P QB,PLPBP

Question ID : 65497840708
Status : Answered
Chosen Option : 1

Q.19 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

P_NDVPL_DV_LND_P_N_V
Ans X 1.L,P,N, L V,D

& 2.L,N,P,V,L,D

X 3.LNLPDV

X 4L LDNPV

Question ID : 65497840503
Status : Answered

Chosen Option : 2

Q.20 In acertain code language, ‘CRIME’ is coded as ‘24918422’. How will ‘TABLE’ be coded
in that language?

Ans X 1.22526232
o 2.22625322
/< 3.25222236
/< 4.25362222

Question ID : 65497840501
Status : Not Answered
Chosen Option : --




Q.21 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some dentists are artists.
Some artists are scientists.
No scientist is amagician.

Conclusions:
|. Some scientists are dentists is a possibility.
II. Some magicians are not artists is a possibility.

Ans #< 1. Only conclusion | follows.
#5 2. Only conclusion Il follows.
#5 3. Neither conclusion | nor Il follows.

" 4. Both conclusions | and Il follow.

Question ID : 65497840610
Status : Answered

Chosen Option : 4

Q.22 Select the number from among the given options that can replace the question mark
(?) in the following series.

8,15, 46, 91, 274, ?
Ans X 1.554

X 2.545

X 3.574

o 4.547

Question ID : 65497840611
Status : Answered

Chosen Option : 4

Q.23 Select the option that is related to the third term in the same way as the second term is
related to the first term.

BLOCK : LBPKC : : MARGIN : ?
Ans X 1.0HQHBL

< 2. OBHQHL

< 3.0HBHQL

«” 4. OHHQBL

Question ID : 65497840695
Status : Not Answered

Chosen Option : --

Q.24 In acertain code language, ‘NODES’ is coded as ‘38642’, and ‘STOVE’ is coded as
21854’. How will ‘SEVEN’ be coded in that language?

Ans X 1.25344
< 2.25434
o 3.24543
< 4.23445

Question ID : 65497840602
Status : Answered
Chosen Option : 3




Q.25 Select the option that is related to the fourth term in the same way as the first term is
related to the second term and the fifth term is related to the sixth term.

11:91::?:154::15:127
Ans X 1.24

o 2.18

X 3.14

X 4.16

Question ID : 65497840714
Status : Not Answered
Chosen Option : --

Section : English Language

Q.1 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select ‘No improvement required'.

Only_by his prudence, he would have incurred a heavy loss.
Ans o 1. Butfor
X 2. If not
#< 3. Noimprovement required

X 4.0wing to

Question ID : 65497840726
Status : Answered
Chosen Option : 1

Q.2 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He did not forgot / to consult his parents / before accepting / the job offer.
Ans X 1.to consult his parents
" 2. He did not forgot
< 3.the job offer

< 4. before accepting

Question ID : 65497840618
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate option to fill in the blank.
He did not provide his brother in his will.
Ans X 1.by
2. from
" 3. for
X 4.to

Question ID : 65497840626
Status : Answered
Chosen Option : 3




Q.4 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

This antique vase is good piece of work.
Ans X 1.Noimprovement required
X 2.is best
< 3.is nice
& 4.is afine

Question ID : 65497840623
Status : Answered

Chosen Option : 4

Q.5 Select the option that expresses the given sentence in active voice.
What were you taught at the creative writing workshop?
Ans X 1.What are they teaching you at the creative writing workshop?
X 2. What do they teach you at the creative writing workshop?
/5 3. What have they taught you at the creative writing workshop?

¥ 4. What did they teach you at the creative writing workshop?

Question ID : 65497840722
Status : Answered

Chosen Option : 4

Q.6 Select the most appropriate meaning of the given idiom.

Losing ground
Ans  «# 1. Becoming less acceptable

25 2. Continuing as before
2 3. Acquiring power
X 4.Becoming deeply engraved

Question ID : 65497840528
Status : Answered

Chosen Option : 1

Q.7 Select the most appropriate option to fill in the blank.
The audience was requested to refrain smoking during the show.
Ans o 1. from
X 2.in
X 3. for
< 4. by

Question ID : 65497840727
Status : Answered
Chosen Option : 1




Q.8 Select the option that expresses the given sentence in passive voice.

The Managing Director of the company launched the latest phone before the press.
Ans X 1.The latest phone was launched by the press before the Managing Director of the
company.
#< 2. The latest phone has been launched by the Managing Director of the company before
the press.

#< 3. The Managing Director was launched by the latest phone of the company before the
press.

" 4. The latest phone was launched by the Managing Director of the company before the
press.

Question ID : 65497840517
Status : Answered
Chosen Option : 4

Q.9 Select the option that expresses the given sentence in reported speech.
She said, "The organisation was established ayear ago."
Ans X 1.She said that the organisation was established a year ago.
25 2. She told that the organisation was established a year before.
## 3. She said that the organisation had been established a year before.

X 4. She said that the organisation has been established a year ago.

Question ID : 65497840622
Status : Answered
Chosen Option : 3

Q.10 Select the INCORRECTLY spelt word.
Ans X 1. Caution

«" 2. Guage
5 3. Thrive
& 4. Relish

Question ID : 65497840632
Status : Answered
Chosen Option : 2

Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

Capable of bending easily without breaking
Ans X 1.Rigid
5 2. Brittle
" 3. Pliable
5 4. Durable

Question ID : 65497840733
Status : Answered
Chosen Option : 4




Q.12 Select the most appropriate ANTONYM of the given word.
Resilience
Ans " 1. Rigidity
X 2. Elasticity
7 3. Flexibility
/5 4. Courage

Question ID : 65497840527
Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate synonym of the given word.
Appraise
Ans & 1.Revolt
o 2. Assess
25 3.Neglect
< 4. Amend

Question ID : 65497840628
Status : Answered
Chosen Option : 2

Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. Then they gave me an injection to counteract inflammation.

B. They used a special medicine to clear out all the worms from my body.
C. It had a small dispensary where | was washed and my wounds treated.
D. Tournavistawas an agricultural colony.

Ans X 1.DBAC
«” 2.DCBA
/< 3.BDCA
X 4.BADC

Question ID : 65497840525
Status : Answered
Chosen Option : 2

Q.15 Select the option that expresses the given sentence in reported speech.

She said, "l did not enjoy the trip to Goa due to continuous rains."
Ans  «# 1. She said that she had not enjoyed the trip to Goa due to continuous rains.

#< 2. She said that | had not enjoyed the trip to Goa due to continuous rains.
#< 3. She said that she did not enjoy the trip to Goa due to continuous rains.

#< 4. She said that | did not enjoy the trip to Goa due to continuous rains.

Question ID : 65497840723
Status : Answered
Chosen Option : 1




Comprehension:
Read the given passage and answer the questions that follow.

Agriculture during this modern era is highly susceptible to climate change, land degradation
and shrinkage of resources. In this context, the incorporation of sustainable development and
technology advancement in agriculture is a necessity. One of the technological advancements
in modern agriculture during recent times is drone technology. Drones or unmanned aerial
vehicles (UAVs) are remotely controlled air crafts with no human pilot on board. Use of drone
technology in agriculture is having a revolutionary impact. Generally, drones consist of a
navigation system, GPS, multiple sensors, high quality cameras etc. They enable evidence-
based planning and spatial data collection. Major applications of drones in agriculture include:
(a) Soil and field analysis: Potential soil quality, nutrient status, soil moisture status can be
mapped by obtaining 3D images of field soil. This enables understanding of the heterogeneity
of fields, planting patterns to follow and soil management strategies. (b) Crop spraying or spot
spraying: This is the most important application of drones. The plant protection spraying is
generally done manually or mechanically. The drone facilitated sprays are comparatively
cheaper and more effective than the aforementioned methods. It is the best method for
spraying operations over a large area especially when handling hazardous chemicals. It is
reported that by using drones there was a reduction in herbicide use by 52% in soybean
fields.

(c) Crop mapping and surveying: Near infrared (NIR) equipped drones can assess plant
health. The overall mapping of field helps to understand how well the crop is established in
various parts of the field. It can also tell at what stage the crop is. The GPS equipped drones
can be a part of precision agriculture. (d) Irrigation monitoring and management: The thermal
sensor facility in drones helps to track moisture status of the field. Real-time monitoring of
field moisture status helps to take immediate irrigation or drainage actions. The areas that are
deficit in moisture can be identified and area specific or need-based management can be
done (e) Seed planting: Some drone manufactures are in experimentation to shoot seed
material into prepared soil. If it is proven experimentally, then it would be a giant leap in
modern agriculture. (f) Crop management assessment: The extent and nature of damage
caused by pests, diseases and weeds can be understood by analysing multispectral images
captured using drones.

SubQuestion No : 16
Q.16 The drones used for assessing the health of plants need to be:
Ans & 1. near infrared equipped

#< 2. equipped with 3D cameras
#5 3. equipped with spraying facility
< 4.GPS equipped

Question ID : 65497840541
Status : Answered
Chosen Option : 1




Comprehension:
Read the given passage and answer the questions that follow.

Agriculture during this modern era is highly susceptible to climate change, land degradation
and shrinkage of resources. In this context, the incorporation of sustainable development and
technology advancement in agriculture is a necessity. One of the technological advancements
in modern agriculture during recent times is drone technology. Drones or unmanned aerial
vehicles (UAVs) are remotely controlled air crafts with no human pilot on board. Use of drone
technology in agriculture is having a revolutionary impact. Generally, drones consist of a
navigation system, GPS, multiple sensors, high quality cameras etc. They enable evidence-
based planning and spatial data collection. Major applications of drones in agriculture include:
(a) Soil and field analysis: Potential soil quality, nutrient status, soil moisture status can be
mapped by obtaining 3D images of field soil. This enables understanding of the heterogeneity
of fields, planting patterns to follow and soil management strategies. (b) Crop spraying or spot
spraying: This is the most important application of drones. The plant protection spraying is
generally done manually or mechanically. The drone facilitated sprays are comparatively
cheaper and more effective than the aforementioned methods. It is the best method for
spraying operations over a large area especially when handling hazardous chemicals. It is
reported that by using drones there was a reduction in herbicide use by 52% in soybean
fields.

(c) Crop mapping and surveying: Near infrared (NIR) equipped drones can assess plant
health. The overall mapping of field helps to understand how well the crop is established in
various parts of the field. It can also tell at what stage the crop is. The GPS equipped drones
can be a part of precision agriculture. (d) Irrigation monitoring and management: The thermal
sensor facility in drones helps to track moisture status of the field. Real-time monitoring of
field moisture status helps to take immediate irrigation or drainage actions. The areas that are
deficit in moisture can be identified and area specific or need-based management can be
done (e) Seed planting: Some drone manufactures are in experimentation to shoot seed
material into prepared soil. If it is proven experimentally, then it would be a giant leap in
modern agriculture. (f) Crop management assessment: The extent and nature of damage
caused by pests, diseases and weeds can be understood by analysing multispectral images
captured using drones.

SubQuestion No : 17
Q.17 The passage mainly talks about:

Ans & 1.the application of drones in agriculture
#< 2. sustainable development in agriculture
#< 3.the equipment used in drones

#5 4. different types of drones

Question ID : 65497840539
Status : Answered
Chosen Option : 1




Comprehension:
Read the given passage and answer the questions that follow.

Agriculture during this modern era is highly susceptible to climate change, land degradation
and shrinkage of resources. In this context, the incorporation of sustainable development and
technology advancement in agriculture is a necessity. One of the technological advancements
in modern agriculture during recent times is drone technology. Drones or unmanned aerial
vehicles (UAVs) are remotely controlled air crafts with no human pilot on board. Use of drone
technology in agriculture is having a revolutionary impact. Generally, drones consist of a
navigation system, GPS, multiple sensors, high quality cameras etc. They enable evidence-
based planning and spatial data collection. Major applications of drones in agriculture include:
(a) Soil and field analysis: Potential soil quality, nutrient status, soil moisture status can be
mapped by obtaining 3D images of field soil. This enables understanding of the heterogeneity
of fields, planting patterns to follow and soil management strategies. (b) Crop spraying or spot
spraying: This is the most important application of drones. The plant protection spraying is
generally done manually or mechanically. The drone facilitated sprays are comparatively
cheaper and more effective than the aforementioned methods. It is the best method for
spraying operations over a large area especially when handling hazardous chemicals. It is
reported that by using drones there was a reduction in herbicide use by 52% in soybean
fields.

(c) Crop mapping and surveying: Near infrared (NIR) equipped drones can assess plant
health. The overall mapping of field helps to understand how well the crop is established in
various parts of the field. It can also tell at what stage the crop is. The GPS equipped drones
can be a part of precision agriculture. (d) Irrigation monitoring and management: The thermal
sensor facility in drones helps to track moisture status of the field. Real-time monitoring of
field moisture status helps to take immediate irrigation or drainage actions. The areas that are
deficit in moisture can be identified and area specific or need-based management can be
done (e) Seed planting: Some drone manufactures are in experimentation to shoot seed
material into prepared soil. If it is proven experimentally, then it would be a giant leap in
modern agriculture. (f) Crop management assessment: The extent and nature of damage
caused by pests, diseases and weeds can be understood by analysing multispectral images
captured using drones.

SubQuestion No : 18

Q.18 Field analysis and knowing about the soil is very important in agriculture for all the
following reasons EXCEPT:

Ans X 1.planning planting patterns to follow
#% 2. deciding about immediate irrigation or drainage actions
& 3. undertaking spraying of herbicides over a large area

#5 4. understanding the heterogeneity of fields

Question ID : 65497840542
Status : Answered
Chosen Option : 2




Comprehension:
Read the given passage and answer the questions that follow.

Agriculture during this modern era is highly susceptible to climate change, land degradation
and shrinkage of resources. In this context, the incorporation of sustainable development and
technology advancement in agriculture is a necessity. One of the technological advancements
in modern agriculture during recent times is drone technology. Drones or unmanned aerial
vehicles (UAVs) are remotely controlled air crafts with no human pilot on board. Use of drone
technology in agriculture is having a revolutionary impact. Generally, drones consist of a
navigation system, GPS, multiple sensors, high quality cameras etc. They enable evidence-
based planning and spatial data collection. Major applications of drones in agriculture include:
(a) Soil and field analysis: Potential soil quality, nutrient status, soil moisture status can be
mapped by obtaining 3D images of field soil. This enables understanding of the heterogeneity
of fields, planting patterns to follow and soil management strategies. (b) Crop spraying or spot
spraying: This is the most important application of drones. The plant protection spraying is
generally done manually or mechanically. The drone facilitated sprays are comparatively
cheaper and more effective than the aforementioned methods. It is the best method for
spraying operations over a large area especially when handling hazardous chemicals. It is
reported that by using drones there was a reduction in herbicide use by 52% in soybean
fields.

(c) Crop mapping and surveying: Near infrared (NIR) equipped drones can assess plant
health. The overall mapping of field helps to understand how well the crop is established in
various parts of the field. It can also tell at what stage the crop is. The GPS equipped drones
can be a part of precision agriculture. (d) Irrigation monitoring and management: The thermal
sensor facility in drones helps to track moisture status of the field. Real-time monitoring of
field moisture status helps to take immediate irrigation or drainage actions. The areas that are
deficit in moisture can be identified and area specific or need-based management can be
done (e) Seed planting: Some drone manufactures are in experimentation to shoot seed
material into prepared soil. If it is proven experimentally, then it would be a giant leap in
modern agriculture. (f) Crop management assessment: The extent and nature of damage
caused by pests, diseases and weeds can be understood by analysing multispectral images
captured using drones.

SubQuestion No : 19
Q.19 3D images of field soil help in knowing about:
Ans 25 1.the plant health and the stage of the crop

< 2. seeds to be planted in various parts of the field
¥ 3. soil quality, nutrient status and soil moisture status

#5 4.the extent and nature of damage caused by pests, diseases and weeds

Question ID : 65497840540
Status : Answered
Chosen Option : 3




Ans

Ans

Q.20 What kind of a passage is this?

Q.21 Select the most appropriate option to fill in blank no. 1.

Comprehension:
Read the given passage and answer the questions that follow.

Agriculture during this modern era is highly susceptible to climate change, land degradation
and shrinkage of resources. In this context, the incorporation of sustainable development and
technology advancement in agriculture is a necessity. One of the technological advancements
in modern agriculture during recent times is drone technology. Drones or unmanned aerial
vehicles (UAVs) are remotely controlled air crafts with no human pilot on board. Use of drone
technology in agriculture is having a revolutionary impact. Generally, drones consist of a
navigation system, GPS, multiple sensors, high quality cameras etc. They enable evidence-
based planning and spatial data collection. Major applications of drones in agriculture include:
(a) Soil and field analysis: Potential soil quality, nutrient status, soil moisture status can be
mapped by obtaining 3D images of field soil. This enables understanding of the heterogeneity
of fields, planting patterns to follow and soil management strategies. (b) Crop spraying or spot
spraying: This is the most important application of drones. The plant protection spraying is
generally done manually or mechanically. The drone facilitated sprays are comparatively
cheaper and more effective than the aforementioned methods. It is the best method for
spraying operations over a large area especially when handling hazardous chemicals. It is
reported that by using drones there was a reduction in herbicide use by 52% in soybean
fields.

(c) Crop mapping and surveying: Near infrared (NIR) equipped drones can assess plant
health. The overall mapping of field helps to understand how well the crop is established in
various parts of the field. It can also tell at what stage the crop is. The GPS equipped drones
can be a part of precision agriculture. (d) Irrigation monitoring and management: The thermal
sensor facility in drones helps to track moisture status of the field. Real-time monitoring of
field moisture status helps to take immediate irrigation or drainage actions. The areas that are
deficit in moisture can be identified and area specific or need-based management can be
done (e) Seed planting: Some drone manufactures are in experimentation to shoot seed
material into prepared soil. If it is proven experimentally, then it would be a giant leap in
modern agriculture. (f) Crop management assessment: The extent and nature of damage
caused by pests, diseases and weeds can be understood by analysing multispectral images
captured using drones.

SubQuestion No : 20

#< 1. Discursive
& 2. Narrative
o 3. Informative

#< 4. Literary

Question ID : 65497840538
Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During my first year of teaching, | was quite (1) to find that the school principal,
supervisor and teachers (2) to be unaware of their professional responsibilities and
3) in executing their duties. For example, my principal's main (4) were that all
window shades be at the same (5) , the classrooms be quiet and the rose beds should
not be stepped upon.

SubQuestion No : 21

< 1.calm
& 2. keen
25 3. content

¥ 4. upset

Question ID : 65497840736
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During my first year of teaching, | was quite (1) to find that the school principal,
supervisor and teachers (2) to be unaware of their professional responsibilities and
3) in executing their duties. For example, my principal's main (4) were that all
window shades be at the same (5) , the classrooms be quiet and the rose beds should
not be stepped upon.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans X 1. appearing
#5 2. appear
#< 3.have appeared

o 4. appeared

Question ID : 65497840737
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During my first year of teaching, | was quite (1) to find that the school principal,
supervisor and teachers (2) to be unaware of their professional responsibilities and

3) in executing their duties. For example, my principal's main (4) were that all
window shades be at the same (5) , the classrooms be quiet and the rose beds should
not be stepped upon.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans & 1. incompetent

< 2.incorrigible
5 3.incredible

& 4. inconvenient

Question ID : 65497840738
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During my first year of teaching, | was quite (1) to find that the school principal,
supervisor and teachers (2) to be unaware of their professional responsibilities and
3) in executing their duties. For example, my principal's main (4) were that all
window shades be at the same (5) , the classrooms be quiet and the rose beds should
not be stepped upon.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans ¢ 1. options

5 2. benefits
& 3.concerns

#< 4. choices

Question ID : 65497840739
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During my first year of teaching, | was quite (1) to find that the school principal,
supervisor and teachers (2) to be unaware of their professional responsibilities and
3) in executing their duties. For example, my principal's main (4) were that all
window shades be at the same (5) , the classrooms be quiet and the rose beds should
not be stepped upon.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans 2% 1.grade
o 2. level
< 3. layer
& 4. stage

Question ID : 65497840740
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q.1 The ratio of the ages of A and B, § years ago, was 5 : 7. The ratio of their ages. 8 years from now, will be 9: 11. If the
present age of C is 13 years less than that of B, and the present age of D is 8 years less than that of the age of A, then the
sum of the present ages of C and D, in years, is:

Ans 1. 55
2. 47
3. 53
o 4. 43
Question ID : 65497840553
Status : Answered
Chosen Option : 4
Q.2

If 7cos?6 + 5sin*8 — 6 = 0,(0° < 8 < 90°), then what is the value of }%?
Ans L ‘/i_'_ 1

242+3

3.24/2+1

4. 242-3

Question ID : 65497840563
Status : Answered
Chosen Option : 1

Q3 ; : i i ;
In AABC, right angled at B, if cot C = 3, then $25€EmE+sind 4 ual to:
sin A(cosC—cos4)

Ans 1. 3
X252
2
31
v 2

Question ID : 65497840768
Status : Answered
Chosen Option : 4




Q.4  If the 7-digit number 612x97 y is divisible by 72, and the 6-digit number 342178 is divisible by 11, then the value of
(x—2y+32)is:
Ans 1. 7

2. 5
3 2
4 6

Question ID : 65497840544
Status : Answered
Chosen Option : 3

Q.5  Study the given graph and answer the question that follows.

Breakup (degreewise) of the number of
employees working in departments A, B,
C, D and E of a company

=A

ue
=D
mE

Number of employees in Department B = 432

The total number of employees working in offices A and E is what percentage more than the total number of employees
working in offices B and C?

Ans

14

<1 SRCH )
4033 %o

14

o 2. AT )]
4233 %o

14

X3 45_"0
33 Yo

14
X4 4129
33

Question ID : 65497840566
Status : Answered
Chosen Option : 2

Q.6 A worker has an increase of l:%% in her wages rate per hour but there is a drop of 10% in the number of hours worked
per week. If her original weekly wages for a week of 40 hours is ¥38,400, then the percentage increase in her total
weekly wages is:

Ans 1 1.5%
2. 2%
¥ 3 1.25%

4. 2.25%

Question ID : 65497840548
Status : Answered
Chosen Option : 3




Q.7 InAABC, D and E are the points on sides AB and AC, respectively. such that DE || BC. fAD=x ,DB=x — 2,AE =
x + 2, and EC = x — 1, then (AB+EC) is equal to (all measurements in cm):

Ans 1. 12
2. 10

3. 8

¥4 0

Question ID : 65497840562
Status : Answered
Chosen Option : 4

Q.8 Pipes Aand B can fill a tank in 18 hours and 24 hours, respectively, while pipe C alone can empty the full tank in 30
hours. Pipes A and B are opened together for 6 hours and then A is closed and C is opened instantly (with B). After
closing of pipe A, now how much time (in hours) will B and C together take to fill the tank completely??

Ans 1. 45
2. 50

3. 42

4. 48

Question ID : 65497840759
Status : Answered
Chosen Option : 2

Q.9 If the 6-digit number 57zxy8 is divisible by each of 7, 11 and 13, then (x — 2y + z) is:
Ans 1. 2

s

2.5
W3 —1
4.1

Question ID : 65497840645
Status : Answered
Chosen Option : 3

"
Q.10 The selling price of 5 articles is equal to 6 times the cost price. What is the loss/profit percentage?

Ans L. Profit of 18%
2. Loss of 25%

+ 3. Profit of 20%
4. Loss of 15%

Question ID : 65497840652
Status : Answered
Chosen Option : 3




Q.11 Study the given table and answer the question that follows.

The table shows the income and expenditure of companies A and B from 2015 to 2019 (in Z crore).

Year Company A Company B
Income Expenditure | Income Expenditure
2015 110 90 160 120
2016 150 125 180 125
2017 200 140 225 140
2018 240 175 320 275
2019 300 220 360 300

40% of the total expenditure of company B from 2015 to 2019 is what per cent less than 65% of the total income of
company A from 2015 to 2018? (correct to one decimal place)

Ans 1 18.5%
2. 14.7%

¥ 3 15.6%

4. 13.5%

Question ID : 65497840771
Status : Answered
Chosen Option : 1

Q12 1r16x2 + §2= 2 and xy = i,x,y > 0. then what is the value of (64x3 + y3)?

Ans 19

X1 =
4
x 2 =
4
X3 =
8

a2
8

Question ID : 65497840762
Status : Answered
Chosen Option : 4

Q.13 Anup bought some pens for 9,500. He sold 40% pens at a loss of 12% and one-third of the remaining pens at a profit
of 25%. At what per cent profit should he sell the remaining pens, so as to earn a profit of 10% in the entire transaction?

Ans 1 24.5%
2. 25.8%
3. 24%
4. 20%

Question ID : 65497840755
Status : Answered
Chosen Option : 1




Q.14 The perimeter of a field in the shape of a rhombus is 800 m and one of its diagonals is 240 m. What is the area (in m?)

of the field?

Ans 1. 57600
2. 19200

« 3. 38400

4. 28800

Question ID : 65497840761
Status : Answered

Chosen Option : 3

Q.15 1naright-angled triangle, if the hypotenuse is 101 cm and one of its sides is equal to 20 cm, what is its area (in cm?)?

Ans 12020
2. 1010

3. 1980

« 4. 990

Question ID : 65497840663
Status : Answered

Chosen Option : 4

Q.16 A train takes | hour 20 minutes to travel between two stations P and Q. If it travels at ; of its usual speed, how long will

it take to travel between P and Q?

Ans 1. 4 hour 10 minutes
2.5 hour 20 minutes

+ 3. 4 hour 40 minutes

4. 3 hour 30 minutes

Question ID : 65497840658
Status : Answered

Chosen Option : 3

Q.17 A sum of 22,485 is divided between A, B and C such that the ratio of the shares of Aand B is § : 5 and that of C and A is
4 : 3. What is the share (in ¥) of B?

Ans 1. 525
2. 630
3. 1,120
4. 840

Question ID : 65497840756
Status : Answered
Chosen Option : 1




Q.18 The ratio of the number of boys to that of girls in a class is 4 : 5. The average score in mathematics of all the boys and
girls is 70. If the average score of the girls is 30% more than that of the boys. then what is the average score of the
boys?

Ans 154
2. 64

5. 68

&4 60

Question ID : 65497840750
Status : Answered

Chosen Option : 4

Q.19 The simple interest on a certain sum of TP at a rate of 1% per annum for 3 years is T11,250 and the compound interest
on the same sum for 2 years at the same rate percent p.a. is T7,650. What is the value of P and r, respectively?

«  %93750 and 4%
2. 393750 and 5%

Ans

3. 392500 and 6%
4. 392500 and 7%

Question ID : 65497840554
Status : Answered

Chosen Option : 1

Q.20
If x — % = /14. then the value of ’xz + ,% is (correct to one decimal place):

Ans 1. 15.9
2. 16.6
3. 17.8
4. 14.7

Question ID : 65497840560
Status : Answered
Chosen Option : 1




Q.21 Study the given pie chart that represents the percentage population of six villages A. B, C, D, E and F in 2020, and
answer the question that follows.

Vi ta n
Village A illage | Percentage of population
below poverty line
A 30
Village F
25% Village C B 45
< 16% C 35
W

Wk [Village D D 60
20% E m
F 40

The difference between the central angles of the sectors representing the percentage population of villages D and F
is:

Ans 1. -,20

“

2. 182
3. 25°
4 15°

Question ID : 65497840667
Status : Answered
Chosen Option : 2

Q.22 When the price of rice increases by 25%. a person increases his expenditure on rice only by 15%. By what percentage
should he reduce his consumption of rice so as to be able to maintain the same level of expenditure?

Ans 1. 5%
2. 9%

¥ 3 8%

4. 7%

Question ID : 65497840651
Status : Answered
Chosen Option : 3

Q.23 Anarticle is marked 224 above its cost price. It was sold at a profit of 20% after giving a discount of 15% on its
marked price. What is the selling price (in I) of the article?

Ans 1. 652.80
2. 672.30
3. 625.75
4.615.45

Question ID : 65497840649
Status : Answered
Chosen Option : 1




Q.24 The ratio of the number of boys to the number of girls in a class is 4 : 15. The average height of the boys is 161.2 cm
and the average height of all the students is 154.5 cm. What is the average height (in cm) of the girls? (Correct to one
decimal place)

Ans 1. 156.8
2. 147.5

o3 152.7

4. 158.2

Question ID : 65497840545
Status : Answered

Chosen Option : 3

e EY}R}RERIEh S .
Q.25 If (x+y)% +27 (x —y)* = (Ax — 2y)(Bx? + Cxy + 13y?), then the value of (2A+B = C) is:
Ans 1. 2

Question ID : 65497840661
Status : Answered
Chosen Option : 3

Section : General awareness

Q.1 Who among the following got Padma Vibhushan Award 2022 under the Public Affairs
category?

Ans X 1.Ghulam Nabi Azad
< 2. Natrajan Chandrasekaran
7% 3. Bipin Rawat
" 4. Kalyan Singh

Question ID : 65497840588
Status : Answered
Chosen Option : 1

Q.2 During the freedom movement, when did the Indian National Congress make the
demand for a Constituent Assembly to frame a separate Constitution for India?

Ans X 1.1933
< 2.1932
X 3.1931
o 4.1934

Question ID : 65497840590
Status : Not Answered
Chosen Option : --

Q.3 In which year did Mahatma Gandhi make his first major public appearance in India?
Ans K 1.1918

o 2.1916
X 3.1917
5 4.1915

Question ID : 65497840585
Status : Answered
Chosen Option : 3




Q.4 The confluence of two holy rivers Alaknanda and Bhagirathi to form Gangais known
as

Ans X 1. Devmukhut

" 2. Devprayag
75 3. Devkoomud
< 4. Devdristi

Question ID : 65497840782
Status : Not Answered
Chosen Option : --

Q.5 As of December 2021, which of the following countries is the second-largest trade
partner of Bangladesh?

Ans X 1.Pakistan
< 2. Myanmar
#< 3. SriLanka
o 4. India

Question ID : 65497840683
Status : Answered
Chosen Option : 4

Q.6 YR Wi gur &t =il s 1 Pferea v @ Powaa
Fafua @2Ans X 1.3 Faur uwe 1 el & 3ided

o 2.0 QU A F Smded

X 3 degury diei S sided

X 437 fPoyaawn @i s smded

Question ID : 65497840693
Status : Answered
Chosen Option : 2

Q.7 Which of the following is NOT a characteristic of Amphibia class of animals?
Ans & 1. The amphibian skin is moist (without scales).

5 2.In amphibians, a tympanum represents the ear.
«# 3. Amphibians' eyes are without eyelids.

#5 4. The amphibians can live in aquatic as well as terrestrial habitats.

Question ID : 65497840575
Status : Not Answered
Chosen Option : --

Q.8 During the colonial rule in India, which hill station became the official residence of the
commander-in-chief of the Indian Army?

Ans X 1.Darjeeling
< 2. Mount Abu
#< 3. Mussoorie
¥ 4. Shimla

Question ID : 65497840686
Status : Not Answered
Chosen Option : --




Q.9 Ascariasis, adisease is caused due to which of the following helminths is known to be
pathogenic to man?

Ans X 1.Wuchereria (filarial worm)
< 2. Protozoans
25 3. Ringworms

¥ 4. Common round worms

Question ID : 65497840577
Status : Not Answered
Chosen Option : --

Q.10 The ‘Reporters Without Borders’, a not-for-profit body published the '"World Press
Freedom Index, 2021" which ranked 180 countries. What is the rank of Indiain this
index?

Ans X 1.87
X 2.79

o 3.142
X 4.164

Question ID : 65497840573
Status : Answered
Chosen Option : 3

Q.11 The thickness of the ozone in a column of air from the ground to the top of the
atmosphere is measured in terms of

Ans 25 1. Micrometer
¥ 2. Dobson Units (DU)
X 3. Karat
X 4. Carat

Question ID : 65497840678
Status : Answered
Chosen Option : 2

Q.12 ‘Natya Shastra’, a Sanskrit Hindu text that deals with performing arts, elucidates
several gestures of Indian classical dances and according to it Mohiniyattam is which
of the following form of dances?

Ans o 1. Lasya
/& 2.Bhava
< 3.Tandava
& 4. Rasa

Question ID : 65497840568
Status : Not Answered
Chosen Option : --

Q.13 Nirvik (Niryat Rin Vikas Yojana) scheme announced in 2020-21 Union Budget is related
to which component of the export credit?

Ans X 1.Collateral
X 2. Subsidy
" 3. Insurance

X 4. Rate of Interest

Question ID : 65497840673
Status : Not Answered
Chosen Option : --




Q.14 The unit of electrical resistance in the metre-kilogram-second system is called a/an

Ans X 1.watt

& 2. volt
X 3. ampere

«" 4. ohm

Question ID : 65497840778
Status : Not Answered

Chosen Option : --

Q.15 As per India Census 2011, which of the following languages after Hindi is spoken by
the maximum number of people in India?

Ans o 1.Bengali
X 2. Tamil
25 3. Urdu
X 4. Marathi

Question ID : 65497840580
Status : Answered
Chosen Option : 3

U gord g @ A PalEaaw s e, i veR ey vw g
3 o Tea® fPau gufua o1, foaw s s9.M1, @a @ @) Fa, Yoty F,
e Prmor R yorLagoror e &2

Ans X 1 §AdIC
X 2. TFadaran
7 3.3
o 4.9 5G31

Question ID : 65497840684
Status : Answered

Chosen Option : 4

Q.17 The Bibi Ka Magbara, the burial place of Aurangzeb’s wife, Rabia-ud-Durrani near
Aurangabad city is an imitation of which of the following monuments?

Ans & 1.Jama Masjid at Delhi
X 2. Safdarjung's Tomb at New Delhi
X 3. Humayun's Tomb at New Delhi
«" 4. TajMahal at Agra

Question ID : 65497840672
Status : Not Answered
Chosen Option : --

Q.18 Which of the following schemes was launched to raise the overall status of the girl-
child and bring about a positive change in family and community attitudes?

Ans X 1.Bharat Kumari Yojana
#< 2. Durga Drishti Yojana
/5 3.Balika Vigyan Yojana
¥ 4. Balika Samriddhi Yojana

Question ID : 65497840776
Status : Answered
Chosen Option : 4




Q.19 Kargil Vijay Diwas is celebrated on every year.
Ans X 1.6th December

" 2. 26th July
X 3.24th August
X 4.7th May

Question ID : 65497840773
Status : Answered
Chosen Option : 2

Q.20 In January 2022, who was sworn in as the first woman president of Honduras?
Ans X 1. Marlene Alvarenga

% 2.KarlaCuevas
#” 3. Xiomara Castro

#< 4. Maria Dolores Agiiero

Question ID : 65497840689
Status : Not Answered

Chosen Option : --

Q.21 India defeated which of the following countries in the ICC U19 World Cup final at the
Sir Vivian Richards Stadium in Antigua on 5th February 2022?

Ans  #X 1. Pakistan
< 2. South Africa
& 3. Australia
" 4.England

Question ID : 65497840592
Status : Not Answered

Chosen Option : --

Q.22 Which of the following dynasties ruled from Thaneshwar?
Ans X 1.Maurya

25 2. Satavahana
& 3. Pushyabhuti
75 4. Rashtrakuta

Question ID : 65497840787
Status : Not Answered

Chosen Option : --

Q.23 When was the Majority Act, which defines the age of the majority of Indian citizens,
passed?

Ans X 1.1902
75 2.1880
X 3.1910
" 4.1875

Question ID : 65497840793
Status : Not Answered
Chosen Option : --




Q.24 Who is the author of the book 'AlIMS Mein Ek Jung Ladte Hue'?
Ans & 1. Nirmala Sitharaman

< 2. Piyush Goyal
25 3. Nitin Gadkari
" 4. Ramesh Pokhriyal

Question ID : 65497840790
Status : Not Answered
Chosen Option : --

Q.25 In which of the following years did the Opium Act come into force to regulate the
ultivation of opium poppy and manufacture of opium?

Ans | 5 1.1901
X 2.1899
< 3.1920
o 4.1857

Question ID : 65497840783
Status : Not Answered
Chosen Option : --




Selection Post Phase IX 2021 Graduate level

Roll Number
Candidate Name
Venue Name

Exam Date 15/03/2022
Exam Time 3:00 PM - 4:00 PM
Subject Selection Post Graduate Level

Section : General Intelligence

Q.1 Select the option that is related to the third term in the same way as the second term is
related to the first term.

AMOUNT : QWYKXJ : : MARKET : : ?
Ans X 1.INEAOX
o 2. EIONXA
75 3.EOIXNA
X 4. IENOAX

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.2 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

L_RTLP_T PR_L_RT
Ans X 1.P LR TP

X 2.T,PLRT
X 3T,LPTR
« 4P RLTP

O 41 B EAOZAOGOLE
QUESHONTD--054 I 704000

Status : Answered
Chosen Option : 4




Q.3 select the box(es) that can be formed by folding the given sheet along the lines (the numbers are shown to indicate the
sides only).

416

a0

1

2olil
Ans 1. Only D

2. Only A

+3 AandB
4 Aand C

Question ID : 65497840615
Status : Answered

Chosen Option : 3

Q.4 Which two signs should be interchanged to make the given equation correct?
306+ 17 +4-50x 8 =30
Ans X 1. +and-
o 2. +and x
& 3.+ and x
& 4.xand -

Question ID : 65497840613
Status : Answered

Chosen Option : 2

Q.5 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Champion
2. Collinear
3. Charges
4. Condition
5. College

Ans X 1.1,5,3,2,4
21,3524
7<3.1,3,54,2
&5 4.1,2,3,4,5

Question ID : 65497840595
Status : Answered
Chosen Option : 2




Q.6 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
No television is a candle.
All candles are boats.

Conclusions:

I. No television is aboat.

II. No boat is atelevision.
Ill. Some boats are candles.
IV. All boats are candles.

Ans X 1. Only conclusion | follows.
«# 2. Only conclusion Il follows.
#< 3. Both conclusions | and Il follow.

/% 4. Both conclusions | and IV follow.

Question ID : 65497840712
Status : Answered

Chosen Option : 2

Q.7 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Seismology : Earthquakes : : Entomology : ?
Ans X 1. Skulls

X 2.Eggs
" 3.Insects
X 4.Shells

Question ID : 65497840597
Status : Answered
Chosen Option : 3

Q.8 In acertain code language, ‘MARKET’ is written as ‘DJNOWB’. How will ‘DETAIL’ be
written in that language?

Ans  « 1. HADQOF
X 2. AHQDFO
< 3.HGDWOL
X 4. BAXQIF

Question ID : 65497840701

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.9 In acertain code language, ‘SIGN’ is coded as ‘3614’ and ‘RISK’ is coded as ‘7639’.
How will ‘KING’ be coded in that language?

Ans X 1.3461
< 2.3641
o 3.9641
< 4.9614

Question ID : 65497840704
Status : Answered
Chosen Option : 3




Q.10 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Allrhombuses are tangents.
All chords are tangents.

Conclusions:
|. Somerhombuses being chords is a possibility.
Il. Some tangents are rhombuses.

Ans 25 1. Neither conclusion I nor II
follows

#< 2. Only conclusion | follows
«# 3. Both conclusions | and Il follow

#5 4. Only conclusion Il follows

Question ID : 65497840507
Status : Answered

Ch Onii 2
CThOSENoPUon—<o

Q.11 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth
number.

7:44::6:?::9:76
Ans X 1.32

< 2.33

X 3.34

o 4.31

Question ID : 65497840510
Status : Answered
Chosen Option : 1

Q.12 Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

P
SPECTRUM
Q

Ans 1. MUATDI92
X2MUADT3IQq2
X32bELCENIN
X42bECLENIN

Question ID : 65497840617
Status : Answered
Chosen Option : 1

Q.13 Ais married to B, whose sister C is the daughter of D. E is the son of D and has only
one sister. Fis the niece of E. D has three children. Cis unmarried. How is A related to
F?

Ans X 1.Grandmother
X 2. Father
3. Aunt
«# 4. Mother

Question ID : 65497840607
Status : Answered
Chosen Option : 4




Q.14 In acertain code language, ‘LATEX’ is written as ‘OFGJC’, and ‘RIGHT’ is written as
‘INTSG. How will ‘SMILE’ be written in that language?

Ans X 1.HNJNO
< 2. HNONJ
25 3.HINON
o 4. HNNOJ

Question ID : 65497840499
Status : Answered

Chosen Option : 2

Q.15 ‘X % Y’ means ‘X is the son of Y’;

XV Y’means ‘Xis the wife of Y’;

‘XN Y means ‘Xis the brother of Y’;

‘X UY’means ‘X is the mother of Y’;

‘X#Y’ means ‘Xis the sister of Y’.

Which of the following relations is true based on the relations in the given equation?
‘KULNNVY M%SV T

Ans & 1. Mis the son-in-law of K.
< 2. Lis the brother of M.
5 3. Tis the father of N.

X 4.Kis the wife of T.

Question ID : 65497840506
Status : Answered

Chosen Option : 1

Q.16 In acertain code language, ‘GROUP’ is coded as ‘415202613’, and ‘SOUND’ is coded
as “162026111°. How will ‘FRESH’ be coded in that language?

Ans & 1.31510165
< 2.31051165
< 3.30151651
5 4.35110651

Question ID : 65497840603
Status : Marked For Review

Chosen Option : 1

Q17 Iufgds HTAI NIRRT AW IR ua s Pow srgauw
Tga I N Tel e 31
gifad  ugAsyaiuad :  foaa o2
Ans o 1. TRUS
X 2. 3R
X 3. ufEd
< 4. 31T

Question ID : 65497840700
Status : Answered
Chosen Option : 1




Q.18 Select the option that is related to the third term in the same way as the second term is
related to the first term.

TABLE : ALBTE : : WATCH: ?
Ans X 1.ACHTW

X 2. AHCWT

& 3. ATCHW

« 4. ACTWH

Question ID : 65497840696
Status : Answered

Chosen Option : 4

Q.19 Select the number from among the given options that can replace the question mark
(?) in the following series.

14, 25, 37, 53, 96, 155, ?
Ans & 1.369
K 2.396
o 3.339
< 4.393

Question ID : 65497840713

Not Attempted and

Status : Marked For Review

Chosen Option : -

Q.20 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

P_QU_V_T_URVPTQ R_P_QU_V
Ans X 1.P,T,Q R TV,RU

X 2RT,PQTURV

X 3T,PRQTUVR

« 4 T,RP,QUVTR

Question ID : 65497840504
Status : Answered

Chosen Option : 4

Q.21 In acertain code language, ‘MARGIN’ is written as ‘NDWEEH’, and ‘SERIES’ is written
as ‘THWGAM’. How will ‘LARGER’ be written in that language?

Ans " 1. MDWEAL
#< 2. KDEMLI
/< 3.KDMEIL
X 4. KXMIIX

Question ID : 65497840600
Status : Answered
Chosen Option : 1




Q.22 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

. Services

. Sensational
. Semesters
. Systematic
. Selections
. Synergy

Ans X 1.52,3,6,1,4

OO WN

7252523164
& 3.53,2,1,6,4
& 4.54,1,3,2,6

Question ID : 65497840698
Status : Answered

Chosen Option : 3

Q.23 In acertain code language, ‘REASON’ is coded as ‘69’, and ‘CLAIMS’ is coded as ‘55’.
How will ‘ACTION’ be coded in that language?

Ans X 1.79
X< 2.69
% 3.89
o 4.59

Question ID : 65497840502
Status : Not Answered

Chosen Option : --

Q24 gelect the option in which the given figure is embedded (rotation is NOT allowed).

IJ

X 1.

Ans

| [
@D

ﬂ

Question ID : 65497840514
Status : Answered
Chosen Option : 2




Q.25 select the figure from among the given options that can replace the question mark (?) in the following series.

Ans

X1

Question ID : 65497840716
Status : Answered
Chosen Option : 3

Section : English Language

Q.1 Select the option that expresses the given sentence in reported speech.
The lawyer said to the witness, "Tell the court what you saw on Saturday night."
Ans & 1. The lawyer told the witness to tell the court what you saw on Saturday night.
/5 2. The lawyer asked the witness to tell the court what you have seen on Saturday night.
" 3. The lawyer asked the witness to tell the court what he had seen on Saturday night.

/< 4. The lawyer ordered the witness to tell the court what | had seen on Saturday night.

Question ID : 65497840519
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate ANTONYM of the given word.
Diminish
Ans X 1. Abate
X 2.Recede
5 3. curtail
" 4. Extend

Question ID : 65497840629
Status : Answered
Chosen Option : 4




Q.3 Select the INCORRECTLY spelt word.
Ans & 1. Enthusiasm

X 2. Entity
X 3. Exceptional
" 4. Eminant

Question ID : 65497840734

Not Attempted and
Marked For Review

Status :

Chosen Option : -

Q.4 Select the option that can be used as aone-word substitute for the given group of
words.

The dark shape and outline of something visible against a bright background
Ans X 1. Mirage
" 2. Silhouette
X 3.Image
25 4. Shadow

Question ID : 65497840529

Status Not Attempted and

Marked For Review
Chosen Option : --

Q.5 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. Besides, it is also an occasion to commemorate the signing of the Ramsar
Convention on wetlands in 1971.

B. World Wetland Day is celebrated on 2 February to raise awareness about the critical
importance of wetlands.

C. Unfortunately, these valuable wetlands are disappearing three times faster than the
forest areas.

D. The Convention upholds the wetlands as the world's most economically valuable
ecosystems.

Ans & 1.BADC
X 2.DCAB
< 3.BCDA
/< 4.DABC

Question ID : 65497840627
Status : Answered

Chosen Option : 1

Q.6 Select the option that expresses the given sentence in indirect speech.

| said to her, "What brought you here?"
Ans & 1.1 asked her what had brought her there.

5 2.1 asked her what had brought her here.
#< 3.1 asked her that what brought her here.
& 4.1 asked her what brought her there.

Question ID : 65497840724
Status : Answered
Chosen Option : 1




Q.7 Select the most appropriate option to fill in the blank.

The tribals of India are still a neglected lot.
Ans " 1. byand large

5 2. over and above
X 3. allinall
/5 4. by and by

Question ID : 65497840728
Status : Answered
Chosen Option : 1

Q.8 Select the option that expresses the given sentence in active voice.

A guarantee has been given by the new government to make the long-promised
reforms a reality.
Ans X 1.The new government had given a guarantee to make the long-promised reforms a

reality.

#< 2. The guarantee had given a new government to make the long-promised reforms a
reality.

" 3. The new government has given a guarantee to make the long-promised reforms a
reality.

/< 4. The new government has given the long-promised reforms areality to make a
guarantee.

Question ID : 65497840518
Status : Answered
Chosen Option : 3

Q.9 Select the option that expresses the given sentence in passive voice.
Touts cheat tourists so now they are careful.
Ans & 1. Tourists were cheated by touts so now they are careful.
X 2. Tourists is cheated by touts so now they are careful.
+" 3. Tourists are cheated by touts so now they are careful.

#5 4. Tourists are being cheated by touts so now they are careful.

Question ID : 65497840619
Status : Answered
Chosen Option : 3

Q.10 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select ‘No improvement required'.

If you had listened to me, you will not be in trouble now.
Ans 25 1. will not have been
+" 2. would not be
#< 3. would not being

#< 4.Noimprovement required

Question ID : 65497840725
Status : Answered
Chosen Option : 2




Q.11 Selectthe most appropriate synonym of the given word.
Contemptible

Ans o 1. Abhorrent

5 2. Admirable

X 3. Adamant

25 4. Ambiguous

Question ID : 65497840730
Status : Answered
Chosen Option : 2

Q.12 Thefollowing sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Parents expect / children to / comply by / their wishes.
Ans X 1.their wishes

#< 2. children to

/5 3.Parents expect

¥ 4. comply by

Question ID : 65497840720
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate meaning of the given idiom.

Out of the blue
Ans o 1. Completely unexpected

#5 2. Belonging to nobility
X 3.Emerge victorious

X 4. Carefully planned

Question ID : 65497840630
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

He stepped on to the encrusted snow and began to slither and slide forward, stamping
his foot from time to time to ascertain how it was sturdy.

Ans & 1. how sturdy it was
< 2. what was sturdy
#5 3. No substitution required

< 4. how was it sturdy

Question ID : 65497840522
Status : Answered
Chosen Option : 1




Q.15 Select the most appropriate option to fill in the blank.

The chairman apprised the members the company’s current financial status.
Ans X 1.to
502, off
o 3. of
X 4. with

Question ID : 65497840523
Status : Marked For Review

Chosen Option : 4

Comprehension:
Read the given passage and answer the questions that follow.

In the late spring of 1930, Philip Rider came to the abandoned lighthouse at the mouth of the
river Adder on the Essex coast. He was a painter of birds and of nature. He was afflicted with
a hunched back and a deformed, twisted hand. Rider loved all creatures. His heart was filled
with pity and understanding. He had mastered his handicap, but he could not master the
rejection he suffered because of his appearance. People shunned him as evil. This drove him
into seclusion.

One November afternoon, a child approached his lighthouse studio. In her arms, she carried a
burden. She was no more than twelve, slender, dirty, nervous and timid as a bird, but beneath
the dirt, as beautiful as a fairy. She seemed frightened of the ugly man she had come to see.
But, she had heard somewhere in the swamp-land, that this man who lived in the lighthouse
had magic that could heal injured things.

She had never seen Rider before and was close to fleeing in panic when she saw him. She
stood there staring, but his voice was deep and kind when he spoke to her. “What is it, child?”
She timidly moved forward. The thing she carried in her arms was a large white bird, and it
was quite still. The girl placed it in his arms. “Is it still alive ?” she asked. “Yes. Yes, | think so.
Come in, child, come in.” Rider went inside bearing the bird, which he placed upon a table,
where it moved feebly.

Curiosity overcame fear. The little girl followed and found herself in a room warmed by a coal
fire, with many coloured pictures on the walls. The bird fluttered. With his good right hand
Rider spread one of its imnmense white wings. Rider looked and marvelled, and said, “Child,
where did you find it ?”

“In the marsh, sir. What — what is it, sir ?”

“Itis a snow goose from Canada. But how in heaven did it come here?”

Concerned, she said, “Can you heal it, sir ?”

“Yes, yes,” said Rider. “We will try. Come, you shall help me.”

There were scissors and bandages and splints on a shelf. He was marvellously deft, even
with the crooked hand. He said, “Ah, she has been shot, poor thing. Her leg is broken, and
also the wing tip, but not badly. We will bandage the wing closer to her body, so that she
cannot move it until it has set, and then make a splint for the poor leg.”

“We will call her the 'Lost Princess'. And in a few days, she will be much better. ” He reached
into his pocket and produced a handful of grains. The snow goose opened its round yellow
eyes and nibbled at it. The child laughed with delight.

SubQuestion No : 16
Q.16 Rider was 'marvellously deft'. This means that he was:
Ans o 1. skillful

< 2. awkward
#< 3.inept
5 4. sincere

Question ID : 65497840643
Status : Marked For Review
Chosen Option : 3




Comprehension:
Read the given passage and answer the questions that follow.

In the late spring of 1930, Philip Rider came to the abandoned lighthouse at the mouth of the
river Adder on the Essex coast. He was a painter of birds and of nature. He was afflicted with
a hunched back and a deformed, twisted hand. Rider loved all creatures. His heart was filled
with pity and understanding. He had mastered his handicap, but he could not master the
rejection he suffered because of his appearance. People shunned him as evil. This drove him
into seclusion.

One November afternoon, a child approached his lighthouse studio. In her arms, she carried a
burden. She was no more than twelve, slender, dirty, nervous and timid as a bird, but beneath
the dirt, as beautiful as a fairy. She seemed frightened of the ugly man she had come to see.
But, she had heard somewhere in the swamp-land, that this man who lived in the lighthouse
had magic that could heal injured things.

She had never seen Rider before and was close to fleeing in panic when she saw him. She
stood there staring, but his voice was deep and kind when he spoke to her. “What is it, child?”
She timidly moved forward. The thing she carried in her arms was a large white bird, and it
was quite still. The girl placed itin his arms. “Is it still alive ?” she asked. “Yes. Yes, | think so.
Come in, child, come in.” Rider went inside bearing the bird, which he placed upon a table,
where it moved feebly.

Curiosity overcame fear. The little girl followed and found herself in a room warmed by a coal
fire, with many coloured pictures on the walls. The bird fluttered. With his good right hand
Rider spread one of its immense white wings. Rider looked and marvelled, and said, “Child,
where did you find it ?”

“In the marsh, sir. What — what is it, sir ?”

“Itis a snow goose from Canada. But how in heaven did it come here?”

Concerned, she said, “Can you heal it, sir ?”

“Yes, yes,” said Rider. “We will try. Come, you shall help me.”

There were scissors and bandages and splints on a shelf. He was marvellously deft, even
with the crooked hand. He said, “Ah, she has been shot, poor thing. Her leg is broken, and
also the wing tip, but not badly. We will bandage the wing closer to her body, so that she
cannot move it until it has set, and then make a splint for the poor leg.”

“We will call her the 'Lost Princess'. And in a few days, she will be much better. ” He reached
into his pocket and produced a handful of grains. The snow goose opened its round yellow
eyes and nibbled at it. The child laughed with delight.

SubQuestion No : 17
Q.17 Which of the following words does NOT describe the girl aptly?
Ans X 1. Beautiful

#X 2. Curious
" 3. Unkind

< 4. Nervous

Question ID : 65497840641
Status : Answered
Chosen Option : 3




Comprehension:
Read the given passage and answer the questions that follow.

In the late spring of 1930, Philip Rider came to the abandoned lighthouse at the mouth of the
river Adder on the Essex coast. He was a painter of birds and of nature. He was afflicted with
a hunched back and a deformed, twisted hand. Rider loved all creatures. His heart was filled
with pity and understanding. He had mastered his handicap, but he could not master the
rejection he suffered because of his appearance. People shunned him as evil. This drove him
into seclusion.

One November afternoon, a child approached his lighthouse studio. In her arms, she carried a
burden. She was no more than twelve, slender, dirty, nervous and timid as a bird, but beneath
the dirt, as beautiful as a fairy. She seemed frightened of the ugly man she had come to see.
But, she had heard somewhere in the swamp-land, that this man who lived in the lighthouse
had magic that could heal injured things.

She had never seen Rider before and was close to fleeing in panic when she saw him. She
stood there staring, but his voice was deep and kind when he spoke to her. “What is it, child?”
She timidly moved forward. The thing she carried in her arms was a large white bird, and it
was quite still. The girl placed it in his arms. “Is it still alive ?” she asked. “Yes. Yes, | think so.
Come in, child, come in.” Rider went inside bearing the bird, which he placed upon a table,
where it moved feebly.

Curiosity overcame fear. The little girl followed and found herself in a room warmed by a coal
fire, with many coloured pictures on the walls. The bird fluttered. With his good right hand
Rider spread one of its inmense white wings. Rider looked and marvelled, and said, “Child,
where did you find it ?”

“In the marsh, sir. What — what is it, sir ?”

“Itis a snow goose from Canada. But how in heaven did it come here?”

Concerned, she said, “Can you heal it, sir ?”

“Yes, yes,” said Rider. “We will try. Come, you shall help me.”

There were scissors and bandages and splints on a shelf. He was marvellously deft, even
with the crooked hand. He said, “Ah, she has been shot, poor thing. Her leg is broken, and
also the wing tip, but not badly. We will bandage the wing closer to her body, so that she
cannot move it until it has set, and then make a splint for the poor leg.”

“We will call her the 'Lost Princess'. And in a few days, she will be much better. ” He reached
into his pocket and produced a handful of grains. The snow goose opened its round yellow
eyes and nibbled at it. The child laughed with delight.

SubQuestion No : 18
Q.18 Which of the following is true keeping in mind the character of Philip Rider?
Ans X 1. Alittle learning is a dangerous thing.

¥ 2. Appearances are deceptive.
#< 3. A picture is worth a thousand words.

#< 4. Actions speak louder than words.

Question ID : 65497840644
Status : Answered
Chosen Option : 2




Comprehension:
Read the given passage and answer the questions that follow.

In the late spring of 1930, Philip Rider came to the abandoned lighthouse at the mouth of the
river Adder on the Essex coast. He was a painter of birds and of nature. He was afflicted with
a hunched back and a deformed, twisted hand. Rider loved all creatures. His heart was filled
with pity and understanding. He had mastered his handicap, but he could not master the
rejection he suffered because of his appearance. People shunned him as evil. This drove him
into seclusion.

One November afternoon, a child approached his lighthouse studio. In her arms, she carried a
burden. She was no more than twelve, slender, dirty, nervous and timid as a bird, but beneath
the dirt, as beautiful as a fairy. She seemed frightened of the ugly man she had come to see.
But, she had heard somewhere in the swamp-land, that this man who lived in the lighthouse
had magic that could heal injured things.

She had never seen Rider before and was close to fleeing in panic when she saw him. She
stood there staring, but his voice was deep and kind when he spoke to her. “What is it, child?”
She timidly moved forward. The thing she carried in her arms was a large white bird, and it
was quite still. The girl placed itin his arms. “Is it still alive ?” she asked. “Yes. Yes, | think so.
Come in, child, come in.” Rider went inside bearing the bird, which he placed upon a table,
where it moved feebly.

Curiosity overcame fear. The little girl followed and found herself in a room warmed by a coal
fire, with many coloured pictures on the walls. The bird fluttered. With his good right hand
Rider spread one of its inmense white wings. Rider looked and marvelled, and said, “Child,
where did you find it ?”

“In the marsh, sir. What — what is it, sir ?”

“Itis a snow goose from Canada. But how in heaven did it come here?”

Concerned, she said, “Can you heal it, sir ?”

“Yes, yes,” said Rider. “We will try. Come, you shall help me.”

There were scissors and bandages and splints on a shelf. He was marvellously deft, even
with the crooked hand. He said, “Ah, she has been shot, poor thing. Her leg is broken, and
also the wing tip, but not badly. We will bandage the wing closer to her body, so that she
cannot move it until it has set, and then make a splint for the poor leg.”

“We will call her the 'Lost Princess'. And in a few days, she will be much better. ” He reached
into his pocket and produced a handful of grains. The snow goose opened its round yellow
eyes and nibbled at it. The child laughed with delight.

SubQuestion No : 19
Q.19 Why did the girl bring the injured bird to Rider?
Ans 2K 1. She wanted to find out what bird it was.

#5< 2. She could not carry the heavy burden any more.
#< 3. She wanted Rider to keep the bird as a pet.

«# 4. She believed Rider could heal it with his magic.

Question ID : 65497840642
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage and answer the questions that follow.

In the late spring of 1930, Philip Rider came to the abandoned lighthouse at the mouth of the
river Adder on the Essex coast. He was a painter of birds and of nature. He was afflicted with
a hunched back and a deformed, twisted hand. Rider loved all creatures. His heart was filled
with pity and understanding. He had mastered his handicap, but he could not master the
rejection he suffered because of his appearance. People shunned him as evil. This drove him
into seclusion.

One November afternoon, a child approached his lighthouse studio. In her arms, she carried a
burden. She was no more than twelve, slender, dirty, nervous and timid as a bird, but beneath
the dirt, as beautiful as a fairy. She seemed frightened of the ugly man she had come to see.
But, she had heard somewhere in the swamp-land, that this man who lived in the lighthouse
had magic that could heal injured things.

She had never seen Rider before and was close to fleeing in panic when she saw him. She
stood there staring, but his voice was deep and kind when he spoke to her. “What is it, child?”
She timidly moved forward. The thing she carried in her arms was a large white bird, and it
was quite still. The girl placed it in his arms. “Is it still alive ?” she asked. “Yes. Yes, | think so.
Come in, child, come in.” Rider went inside bearing the bird, which he placed upon a table,
where it moved feebly.

Curiosity overcame fear. The little girl followed and found herself in a room warmed by a coal
fire, with many coloured pictures on the walls. The bird fluttered. With his good right hand
Rider spread one of its immense white wings. Rider looked and marvelled, and said, “Child,
where did you find it ?”

“In the marsh, sir. What — what is it, sir ?”

“Itis a snow goose from Canada. But how in heaven did it come here?”

Concerned, she said, “Can you heal it, sir ?”

“Yes, yes,” said Rider. “We will try. Come, you shall help me.”

There were scissors and bandages and splints on a shelf. He was marvellously deft, even
with the crooked hand. He said, “Ah, she has been shot, poor thing. Her leg is broken, and
also the wing tip, but not badly. We will bandage the wing closer to her body, so that she
cannot move it until it has set, and then make a splint for the poor leg.”

“We will call her the 'Lost Princess'. And in a few days, she will be much better. ” He reached
into his pocket and produced a handful of grains. The snow goose opened its round yellow
eyes and nibbled at it. The child laughed with delight.

SubQuestion No : 20
Q.20 Why did Rider choose to live in the abandoned lighthouse?
Ans  #X 1. He enjoyed the view of the river.

& 2. Human society had rejected him.
#5 3. He hated the sight of people.

#< 4. He wanted to paint in privacy.

Question ID : 65497840640
Status : Answered

Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It should come as no surprise that bees know a lot about honey. They aren't only honey
producers; (1) are also consumers, and pretty sophisticated ones at that. Offer a sick
bee (2) varieties of honey, for example, and it will choose the one that (3)
fights off its infection. Components in honey can help bees live longer, (4) their
tolerance of harsh conditions such as intense cold and increase their (5) to fight off
infections and heal wounds.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in the blank no. 1.

Ans & 1. they
X2t
& 3. them
X 4. we

Question ID : 65497840532
Status : Answered
Chosen Option : 1




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It should come as no surprise that bees know a lot about honey. They aren't only honey
producers; (1) are also consumers, and pretty sophisticated ones at that. Offer a sick
bee (2) varieties of honey, for example, and it will choose the one that (3)
fights off its infection. Components in honey can help bees live longer, (4) their
tolerance of harsh conditions such as intense cold and increase their (5) to fight off
infections and heal wounds.
SubQuestion No : 22

Q.22 Select the most appropriate option to fill in the blank no. 2.

Ans X 1.similar
#< 2.singular
& 3.parallel
o 4. different

Question ID : 65497840533
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It should come as no surprise that bees know a lot about honey. They aren't only honey
producers; (1) are also consumers, and pretty sophisticated ones at that. Offer a sick
bee (2) varieties of honey, for example, and it will choose the one that (3)
fights off its infection. Components in honey can help bees live longer, (4) their
tolerance of harsh conditions such as intense cold and increase their (5) to fight off
infections and heal wounds.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in the blank no. 3.

Ans X 1.more
< 2. most
o 3. best
& 4. better

Question ID : 65497840534
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It should come as no surprise that bees know a lot about honey. They aren't only honey
producers; (1) are also consumers, and pretty sophisticated ones at that. Offer a sick
bee (2) varieties of honey, for example, and it will choose the one that (3)
fights off its infection. Components in honey can help bees live longer, (4) their
tolerance of harsh conditions such as intense cold and increase their (5) to fight off
infections and heal wounds.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in the blank no. 4.

Ans X 1. boosting
< 2. boosts
£ 3.boosted
& 4. boost

Question ID : 65497840535
Status : Answered
Chosen Option : 4




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It should come as no surprise that bees know a lot about honey. They aren't only honey
producers; (1) are also consumers, and pretty sophisticated ones at that. Offer a sick
bee (2) varieties of honey, for example, and it will choose the one that (3)
fights off its infection. Components in honey can help bees live longer, (4) their
tolerance of harsh conditions such as intense cold and increase their (5) to fight off
infections and heal wounds.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in the blank no. 5.

Ans X 1.talent
#< 2. aptitude
¥ 3. ability
X 4. skill

Question ID : 65497840536
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q1 wF FR 3R & a0 v & Rer # a9 W off| gag 7:30 am. W 72 kmh & 909 & 99 @ FX TW
¥ 4.2 km 9% off| gaE 8.15 am. W FX a0 ¥ 15.8 km 3T off| R & 97 3% 7@ & T9 F7

e T E?

Ans .36 : 17
2.21% Al
3.9:4
.9:5

Question ID : 65497840760

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.2 Study the given pie chart that represents the percentage population of six villages A. B, C, D, E and F in 2020, and
answer the question that follows.

Village A Village | Percentage of population
below poverty line
30
45
55
60
58

40

T om g 0 B o»

If the population below poverty line in village D is 42,000, then the total population in all the six villages taken
together is:

Ans 1. 3,00,000
2. 3,50,000
3. 2,95,000
4. 2,80,000

Question ID : 65497840668
Status : Answered
Chosen Option : 2




Q.3

Ans

Ans

By selling an article for 2425.25, there is a loss of 5.5%. If the same article is sold for Z465.75, then what is the profit
per cent?

1 42
2. 14\/§

3. 14\/'6
4. 21

Ans 1. 3.5%

2. 3%

3. 4%

4. 5.5%

Question ID : 65497840754
Status : Marked For Review
Chosen Option : 2
Q.4  What is the radius (in m) of a circular field whose area is equal to six times the area of a triangular field whose sides are
35 m, 53 mand 66 m? (Taken = 2.

Ans

Question ID : 65497840557

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q5 If(x+4)°+ (2x+1)®+ (2x+5)% = (6x+ 3)(x + 4)(2x + 5), then what is the value of x ?

11
2 -2
3. 2

4-—1

Question ID : 65497840662

Status : Answered

Chosen Option : 2

Q.6 Asells an article to B at 20% loss, who further sells it to C at 18% profit. Later on, C sells it to D at 10% profit. If C has

a profit of 7944, then how much is the loss to A?

1. 32,500
2. 32,000
3. %1,750
4. 1,600

Question ID : 65497840551

Not Attempted and

Status : Marked For Review

Chosen Option : --




Q.7 Itis given that AABC~AXYZ and Area AABC : Area AXYZ =81 : 25. IfAB = 18 cm. BC = 10 cm. CA = 15 cm, then
what is the side XZ (in cm)?

Ans
X1 E

3
x2 15
16
2 22
4

x

ve 2
3

Question ID : 65497840664
Status : Answered
Chosen Option : 4

Q.8  Pcan do one-fourth piece of some work in 18 days. She completed 37.5% of that work and left it. Q completed the
remaining work in 40 days. Working together they will complete C—:) part of the same work in:
Ans 1

. 6 days
10 days

N

w

. 12 days
4. 8 days

Question ID : 65497840555

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.9 If the 9-digit number 4x92y6588 is exactly divisible by 99 (x +y < 10), then what is the value of 2(y — x)?

Ans 1. =2
2. —1

v3 2

4.1

Question ID : 65497840646

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.10 1fa 4-digit number 273x is divisible by 12 and a 7-digit number y854z06 is divisible by 11, then what is the value of
(x+y+2)?

Ans 1. 12

2. 6
3. 20
4 18

Question ID : 65497840747
Status : Answered
Chosen Option : 4




Q.11 A trader sold an article for 2440 after giving 12% discount on its marked price. Had he not given the discount. he would
have earned a profit of 25%. What is the cost price (in ) of the article?

ANs 1400
2. 350
3420
4. 380

Question ID : 65497840751
Status : Answered
Chosen Option : 1

Q.12 na class of 50 students, 40% are boys and the remaining are girls. The average score of the girls in a test is 60% more
than that of the boys. If the average score of all the boys and girls in the class is 51. then what is the average score of the

boys?
Ans 1. 39.5
2.:.3%S

3. 35.5

4. 37.5

Question ID : 65497840647
Status : Answered
Chosen Option : 4

Q.13 sulabh saves 25% of his income. If his income increases by 40% and expenditure increases by 45%, then by what per
cent will his savings increase or decrease?

Ans 1. Decreases by 20%
2. Decreases by 5%
3. Increases by 25%

4. Increases by 20%

Question ID : 65497840753
Status : Answered
Chosen Option : 3

Q.14 Atwhat rate percentage per annum will T14,400 amount to T15,876 in one year, if interest is compounded half-yearly?
Ans 1. 10%

2. 12%

3. 15%

4. 8%

Question ID : 65497840656
Status : Answered
Chosen Option : 1




o1 If x is a real quantity, what is the minimum value of (16 cos?x + 9 seczx)?
Ans 1. 24

2. 20

3. 30

4. 40

Question ID : 65497840665
Status : Answered

Chosen Option : 1

Q.16 If3x(3x—8)+y(y+ 1) +4z2—2z+ 16% = 0, then what is the value of (6x + y + 22)?

Ans 1. 2

2.6
3 8
4. 4

Question ID : 65497840558
Status : Answered

Chosen Option : 3

Q.17 The income of a company increases by x % per year. If its income is ¥31,25,000 in the year 2019, and the income in
2017 was 320,00,000, then what is the value of x ?

Ans 1. 18

2. 15

Question ID : 65497840650
Status : Marked For Review

Chosen Option : 1

Q.18 If sec(5a — 15°) = cosec (15°— 2a), then the value of cos3a + sin2a + cota is:

Ans

¢1.£
2

x 2. V3(/3-1)
2

X3 V3
2

X 4. V3(¥3+1)
2

Question ID : 65497840564
Status : Answered
Chosen Option : 1




Q.1

Ans

Ans

Ans

° If x® — 34x* + 1 = 0,x > 0, then what is the value of x® +i6?

1.192
2. 198
3. 188
4. 194

1. 14,775
2. 15477
3. 17,457
4. 17,745

ratio of 1 : 2 to get a solution in which acid and water are in the ratio a : b. What is the value of

w1 15
7
x2 12
7
xa 13
7
xa 11
7

X

Question ID : 65497840763
Status : Answered
Chosen Option : 2

Q.20 A certain sum is divided among A. B, C and D such that the ratio of the sharesof A:B=1:3:B:C=2:5.C:D=2:
3. If the difference between the shares of B and D is T6,435, then the total sum (in ) is:

Question ID : 65497840655
Status : Answered
Chosen Option : 4

Q.21 1 vessels X and Y. the ratios of acid and waterare 3: 7and 1 : 3, respectively. The contents of X and Y are mixed in the

Question ID : 65497840552
Status : Answered
Chosen Option : 4




Q.22 Sstudy the given graph and answer the question that follows.

Breakup (degreewise) of the number of
employees working in departments A, B,
C, D and E of a company

wA
"B
uC
“D
mE

Number of employees in Department B = 432

If the ratio of the male and female employees working in department A is 5 : 11, and 40% of the employees in
department C are females. then what is the ratio of the number of female employees in department A to that of male
employees in department C?

Ans 1. 143:72
2. 100:91
3. 113:75
4. 111:124

Question ID : 65497840567
Status : Not Answered
Chosen Option : --

"
Q.23 study the given table and answer the question that follows.

The table shows the income and expenditure of companies A and B from 2015 to 2019 (in ¥ crore).

Year Company A Company B
Income | Expenditure |Income | Expenditure

2015 | 110 90 160 120

2016 | 150 125 180 125

2017 | 200 140 225 140

2018 | 240 175 320 275

2019 | 300 220 360 300

The difference (in Z crore) between the total income of company B in 2015 and 2017 and the total expenditure of
company A in 2016 and 2018 is x . The value of x lies between:

Ans & 1. 80 and 90
2. 60 and 70
3. 70 and 80
4. 90 and 100

Question ID : 65497840769
Status : Answered
Chosen Option : 1

- ————————
Q.24 The average weight of some children in a group is 43 kg. If 4 children, whose weights are 49.2 kg, 48.8 kg, 51.4 kg and

50.6 kg. join the group, the average weight of all the children now increases by %kg The number of children, initially.
in the group is:

Ans 1. 56
v 2 52

3. 54

4. 50

Question ID : 65497840546
Status : Answered
Chosen Option : 4




Q.25 Tn AABC, O is the incentre and £ZBOC = 129°. The measure of ZBAC is:
Ans x 1. 73°

< 2 70°

« 3. 78°

X 4 51°

Question ID : 65497840765
Status : Answered
Chosen Option : 3

Section : General awareness

Q.1 Who among the following received Padma Bhushan 20227
Ans X 1. Padmaja Reddy

#< 2. Konsam Ibomcha Singh
«” 3. Victor Banerjee

25 4. Lourembam Bino Devi

Question ID : 65497840791
Status : Not Answered
Chosen Option : --

Q.2 'Resolved: Uniting Nations in a Divided World' is a memoir of who among the following
former UN Secretary Generals?

Ans X 1.Boutros Boutros-Ghali
" 2. Ban Ki-Moon
< 3. Kofi Annan

4. Javier Pérez de Cuéllar

Question ID : 65497840586
Status : Answered
Chosen Option : 2

Q.3 The Advocate General of each state of Indiais appointed by:
Ans  #5 1.the Chief Minister of the State

5 2. the Prime Minister of India
X 3.the President of India

" 4. the Governor of the State

Question ID : 65497840795
Status : Answered
Chosen Option : 4

Q.4 The National Programme for Civil Services Capacity Building (‘NPCSCB’) — ‘Mission
Karmayogi’ was launched with the objective of enhancing governance through Civil
Service Capacity Building. Which of the following is NOT one of the six pillars of this
programme?

Ans X 1. Policy framework
" 2. Physical fitness framework
/< 3. Digital learning framework

< 4. Competency framework

Question ID : 65497840572
Status : Not Answered
Chosen Option : --




Q.5 In 1943, some of the younger leaders in which district of Maharashtra set up a parallel
government (Prati Sarkar), with volunteer corps (Seba dals) and village units (Tufan
dals )?

Ans X 1.Kolhapur
¥ 2. Satara
X 3.Sangali
5 4. Solapur

Question ID : 65497840687
Status : Not Answered
Chosen Option : --

Q.6 In which of the following years was the Rashtriya Madhyamik Shiksha Abhiyan (RMSA)
scheme launched by the Government of India?

Ans 4 1.2009
75 2.2006
< 3.2008
X 4.2007

Question ID : 65497840775
Status : Not Answered
Chosen Option : --

Q.7 Different species of Plasmodium (a tiny protozoan) are responsible for different types
of malaria, of these, malignant malaria which is the most serious is caused by

Ans X 1. plasmodium malaria
X 2. plasmodium calciparum
X 3. plasmodium vivax

«” 4. plasmodium falciparum

Question ID : 65497840679
Status : Not Answered
Chosen Option : --

Q.8 As per India Census 2011, which of the 22 languages specified in the Eighth Schedule
of the Constitution of India is spoken by least number of people?

Ans X 1.Nepali
< 2. Manipuri
" 3. Sanskrit
X 4. Sindhi

Question ID : 65497840682
Status : Not Answered
Chosen Option : --

Q.9 What is the term used for anon-living part of an ecosystem that shapes its
environment?

Ans  #5 1. Biotic factor
¥ 2. Abiotic factor
25 3. Cosmic factor

25 4. Amnionic factor

Question ID : 65497840780
Status : Answered
Chosen Option : 2




Q.10 The official name (in English) of Bangladesh is:
Ans X 1.Bangladesh Democratic Republic

X 2. Federal Bangladesh Republic
25 3. Union of Bangladesh

" 4. People's Republic of Bangladesh

Question ID : 65497840785
Status : Answered
Chosen Option : 4

Q.11 Therate of change of of an object is its acceleration.
Ans X 1.position

< 2. displacement
< 3. momentum

" 4. velocity

Question ID : 65497840574
Status : Answered
Chosen Option : 3

Q.12 While adopting the Constitution of Indiain 1949, by which Article of the Constitution of
India, the Indian Independence Act, 1947, and the Government of India Act, 1935,
together with all enactments amending or supplementing the latter Act, EXCEPT the
Abolition of Privy Council Jurisdiction Act, 1949 was repealed?

Ans X 1.394
< 2.393
< 3.392
o 4.395

Question ID : 65497840692
Status : Not Answered
Chosen Option : --

Q.13 In December 2021, which of the following countries announced that it will no longer
censor films released in cinemas, the country's latest effort to boost its brand as a
liberal hub attractive to foreigners?

Ans X 1.Bangladesh
X 2. Pakistan
5 3.Myanmar

¥ 4. United Arab Emirates

Question ID : 65497840675
Status : Answered
Chosen Option : 4

Q.14 In which of the following Indian states were the remains of the ancient Vikramshila
University discovered?

Ans X 1.Rajasthan
" 2. Bihar
< 3.Telangana
X 4. 0disha

Question ID : 65497840786
Status : Answered
Chosen Option : 2




Q.15 Which of the following is NOT a characteristic of Aves (birds) class of animals?
Ans X 1. The skin is dry without glands except the oil gland at the base of the tail.

2% 2. They possess beak.
## 3. The hind limbs are modified into wings.

X 4. The presence of feathers and most of them can fly except flightless birds.

Question ID : 65497840677
Status : Not Answered

Chosen Option : --

Q.16 On 6th February 2022, which of the following countries became the first to play 1000
one-day internationals (ODI) cricket?

Ans X 1.Australia
" 2. India
#< 3.England
X 4. Pakistan

Question ID : 65497840694
Status : Not Answered

Chosen Option : --

Q.17 Who among the following got Padma Vibhushan Award 2022 under the civil service
category?

Ans X 1.Guruprasad Mohapatra
" 2. Bipin Rawat
< 3.Rajiv Mehrishi

& 4. Natrajan Chandrasekaran

Question ID : 65497840690
Status : Answered

Chosen Option : 2

Q.18 In which of the following countries did the former prime minister Lal Bahadur Shastri
die?

Ans X 1.China
X 2. Afghanistan
< 3.Canada
& 4. Uzbekistan

Question ID : 65497840788
Status : Not Answered

Chosen Option : --

Q.19 Ugadi Pachadiis afamous dish that is associated with the Ugadi festival of south
India. How many different types of ingredients does it contain?

Ans o 1.Six
X 2. Four

< 3.Five
< 4.Seven

Question ID : 65497840569
Status : Not Answered
Chosen Option : --




Q.20 Mohiniyattam dance emotes a play through dancing and singing where the song is
customarily in which of the following languages?

Ans X 1.Tamil
¥ 2. Manipravala
X 3. Sanskrit
< 4. Malayalam

Question ID : 65497840670
Status : Answered

Chosen Option : 2

Q.21 Which of the following statements is correct?
Ans o 1. Viticulture is the cultivation of grapes.

25 2. Viticulture is the commercial rearing of silk worms.
< 3. Viticulture is the growing of vegetables, flowers and fruits for commercial use.

< 4. Viticulture is the breeding of fish in specially constructed tanks and ponds.

Question ID : 65497840579
Status : Answered

Chosen Option : 1

Q.22 The feature of joint sitting of two houses of the Parliament in the Constitution of India
has been adopted from the Constitution of

Ans X 1.TheUS
& 2. Germany

" 3. Australia
X 4.USSR

Question ID : 65497840589
Status : Answered
Chosen Option : 1

Q.23 Mahendragiri Hills are located in
Ans & 1. Himachal Pradesh

£< 2. Tamil Nadu
¥ 3. Odisha
< 4. Maharashtra

Question ID : 65497840774
Status : Answered

Chosen Option : 2

Q.24 One of the most important descriptions of the city of Vijayanagara in the fifteenth
century comes from who among the following diplomats who visited India from Herat?

Ans  #X 1. Marco Polo
< 2. Ibn Battuta
< 3. Shaikh Ali Hazin
" 4. Abdur Razzaq Samargandi

Question ID : 65497840583
Status : Not Answered
Chosen Option : --




Q.25 Chenab river of north India originates from the confluence of which of the following
two rivers?

Ans | X 1.Indus and Sutlej

4 2. Chandra and Bhaga
< 3. zaskar and Shyok
25 4.Nubra and Hunza

Question ID : 65497840578
Status : Answered
Chosen Option : 1




